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 �]{ ��,� }D O,V
~

�4" B��%�
�
 �� O@M� b!?�
� �Q OTM�L T�@M� -?%O�,�%
� 2 O�#�

+�M��$
� b!?�
� �Q 3[?$�V� O4{ ,b�M,%
�

+B�% O�,�%
� ����G* B
 �� ����

�5" B��%�
�
 e
! R����@�� b�M,%
� 2��)M� B�� -?%O�,�%
� -!�9�

+D S@��%
� �P],
�

 �'" �Q B�% O�,�%
� B
 D�I�� ,�[!�9%
� C$P
 �QL +-?��
 2�,
� e
!L ,610 2�,
� e
! �����

��� j��[L 25 2�,
� e
! ����� ��"
,«8 2�,
� gO��
~ �%�P 2���* �7G" �QL ,2 × 5

+�[!�9%
� O4{
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	G �� �!��
7 '��M�8�1	
� '� �3� 0̂ 
�'4 	O�& 	6��  1

3  × 3  = 23  H5  × 5  × 5  = 35 27 × 7 × 7 × 7 = 47  {h

7 '��� �)� 	�� '� �3� 0̂ 
�'4 	O�& 	6��  2
34 = 4 × 4 × 4  H59 = 9 × 9 × 9 × 9 × 9 2410 = 10 × 10 × 10 × 10  {h

: 	+ '! 	6H  3
36  = 6  × 6  = 26  H32  = 2  × 2  × 2  × 2  × 2  = 52 2

39 = 9  × 9  × 9  = 9 '� �
 ��	
� �O�� �� �� {h100  000 = 5 10  �

1 000 = 3 10 {*10  000  000   = 710 �

'��1 �6 	� �!	
� �� �� 	� �) 	?�-�6 ,T 1972 �T�� Y� '3�M �� �O�6 	� �6 �10 ���=3��� 'N�t �\	
� ���1 �6 	� �� 	> �c�& 	h� �� �
	� '�   4
430 '� �
 ��	�'
 ���M�8�1	
� �� �3� 0̂ 
�� �i� 	��� �i�) 	�� 'O�& 	6�� 7 '� ��� 08
� %B Y�&����6 430

30 × 30 × 30 × 30 :�M�81
� �3�^
�  4 :i��  30 :i�)��

7�= 	�H > 	�H <� �O ')�� �!	
� '� ��`��	
� �. 	� �3 	k �M  5
YG����  =   610  H2 × 5  <   25  2100  >   8 '� �
 ��	
� �k�4 �� ��  {h

7 �f'
g 	n �M �� ? �r	H ��
� �E �9'B���� 	+ �* 23 = 32 /n'
�W ���9�=  6
23 > 32 � bg$ , 9 > 8 ¡ 9 = 3 × 3 = 23 ¡ 8 = 2 × 2 × 2 = 32 7rH�
� E9B��H I ,`6

7 �E 	D �D �W ?r3�" �� 'E�B �k �� �� rS�
� �]�M �F	
� �� ,64  '��� �)� 	�� '� �3� 0̂ 
� %B 6 × 6 × 6 × 6 r3�" �� �O�& �6   7
46 :�D�D^
� �4�h@� ,i��� i�)�� <�4 r3�"� �
4

7 '� �D�D �̂ 
� '� �4�h 	@� �� �� ��� 0

� '. 	� ��
� �� ��'l�� 	+�� �~  J%
'��g /(�� 	9 ��? 8

:r��8�� 910
� b3����  HYG���� ���s '�  2�<�=`� �� �� �" ��  {h�b-����  �
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�2 �"(;� �M86HU�8(
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
 3O[' ,�
��%
� bK��P �,� ,-?%O�,�%
� A!�� :P �0�;
� U�86

95 045 700 B�2�,
� B�� �[!�9%
� 4H��)
6 278 000 L

 ,��[�V%
�  �%�9
�  �&?
  ;�)  B�2�,
�  �����  4H�
  D�I��
 >e
! - �?V
 95 045 700 2�,
� O-' ;
* 4H5�$�[� �1
�L
 >e
! - �?V
 6 278 000 2�,
� O-' B�& �Q ,R�P!' 8 B

6 278 000 < 95 045 700 O-�Q �
��
��L ,R�P!' 7 B


 �5?,$O�� -' 4H��) ��
� ��?M�
�� B�% O�,�%
� � ��p
:�5L B�2�) B�� �[!�9%�


 �%5�&' R�P!' 2�) -�� -�Q ,2�) OC� R�P!' O�) :1 �"M$
�
 (�&  �Q  � O
'  +�$�M�  2�,
�  ?5  -?V�  �6w�  B
  �$�'
+2 b?M�
� ;
* -?�9���Q ,B�2�,
� ]� R�P!' 2�) nL���
 B�� �[!�9%
� (]6 B
 B�2�,
� B�� �[!�9%
� :2 �"M$
�

 �$�M� 2�,
� -?V�Q ,!���
� B
 �
 Se�
 ( OL' �Q R�P!M�
 �L��� -* BV
L ,�
 Se�%
� >_5 �Q �$�M� 4P�
� D&�J

+3 b?M�
� ;
* -?�9���Q �
 Se�%
� >_5 �Q R�P!M�
 ,-�2�,
� �H�Q ����� �
 Se�
 ( OL' 2���* :3 �"M$
�

 ?5 B�2�,
� B
 OF' �Q�,%
 �H�Q B�%P�
� B�� �[!�9%
�L
 B�� �[!�9%
� � O%� ��� :4H
�@S� ,�
p �,� +�$�M�

26 745 000 L 23 270 000 B�2�,
�
 X��%6 *
�;
�F� ,��L��� 1�2 *+ X�1��
� l��K4 :�F�B^�
 Q2 m��6 2 = 2 �XH �)F� `Q,�O)
� ��.82 *)L� Q,F
 `Q,�O)
� 1�!k �
 Y'(� *�� X�1��
� �\,+ g0;$� �
 Y'(� & ��H
26  745  000 >  23  270  000  � IfV  ,  6 >  3 �XH  �)F

+�)�%G :U�8(
� 3"6
+B�2�) B�� �[!�9%
� :�� SK;�)
� ����\)
�

+��[�V%
� �%�9
� �&?
 :U�8(
� *+ �� S�$;K)
� �1�")
�

 ,B
 �$�'" ��2�1%
�� B�% O�,�%
� � ��p
 �= , > , <" E?
�
��L �FL��� ,B
 �yJ'

+B�2�) B�� �[!�9%
� ��) �
 x����%
�

�i 	3 �

�
4-1

	( �� �� ��
7 'G� 0� P8
�'4 ���*	] �!	
� �
�� ��	
� �O�6 	� ��	
� '; 	3 	�� �O�6 	� �6 ���1�& 	� �=

: �%'4 �� ��	
� '<�I ��	
� �< '� Y� �� �� �? '8'
  T 2015 'T�� %B �%'-� 0� P8
� �N�^ 	� 	@� ���M=� �F	
� 'R 'S* �<���1 ��

2�|!
�

�^�

�=3�)

<!�
�

��1�

�-

��

 26 745 000

 23 270 000
 95 045 700

 11 118 000
 33 680 000

 6 278 000

:��1�
 'G� 0� �) '� �
 ��'4 �� 	̂ '� 'G� 0� �) �� �
 �� 	G '3��
 �R �. 	� �3 95  045  700 �� �
 ��	
� �GH 	y '�I

  , YT�� 	3H '���'-�!�e 	< '� /G �� �� ��
/G �� �� �� �R �. 	� �� �B 6  278  000 �� �
 ��	
� � 0�H

7 YT�� 	3H '� ��	1 �) 	< '�

/���w/>�� �" ��/>�s '�����w
'5�
� 	��

�>�� �" ��'5�
� 	��
�>�s '�

'5�
� 	��
����w

'<�=`!	
�
�>�� �" ��'<�=`!	
�

�� 	̂ '� 'G� 0� �) �� �
 ��00754059
��1�
 'G� 0� �) �� �
 ��0008726

7��1�
 'G� 0� �) '� �
 �� 	< '� ���1 	6H �� 	̂ '� 'G� 0� �) �� �
 ��  � bg$   6  278  000 < 95  045  700 �G���� �B

: '< �!��	
� 'G� 0� �) '� �
 ��'4 �=3�) 'G� 0� �) �� �
 �� 	G '3��

6  000  000 > 3  000  000
20  000  000 = 20  000  000

 	< '� /G �� �� �� �R �. 	� �3 '< 	= �� �
 ��	
� '̀6 �GH 	y '�I
 �^	�H 	< '� '� �- �3�9 �!	
�'4 	H �
 	4'� , YT�� 	3H '���'-�!�e

: �GH 	
 '��� '3�8��	
�

/���w/>�� �" ��/>�s '�����w
'5�
� 	��

�>�� �" ��'5�
� 	��
�>�s '�

'5�
� 	��
����w

'<�=`!	
�
�>�� �" ��'<�=`!	
�

�=3�) 'G� 0� �) �� �
 ��00007232
'< �!��	
� 'G� 0� �) �� �
 ��00054762

7 '< �!��	
� 'G� 0� �) '� �
 �� 	< '� �� �| 	WH �=3�) 'G� 0� �) �� �
 ��  � bg$   26  745  000 > 23  270  000 �G���� �B

'��� �� ��	
� '��
 	� 	�� �� �- �3�9 ��
Comparing Whole Numbers
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�2 �"(;� �M86HU�8(
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
 *\�e .,��4

 ��[�V%
� �%�9
� �&?
 ;�) B�2�,
� -?%O�,�%
� D�V�
+0L�M%
� (���
� B) ���Gs
 �H[?
�����L

 B
 � S)�@L ,B�% O�,�%
� ����G* ;
* g7 S%�@S�
+3���G* t�#�� ;�) �M6'

X �.)4Q�.);
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
�1" B��%�
�

 �H%@� L' �5e
! ;M,%
� 2��)M� B�� -?%O�,�%
� -!�9�
 �[!�9%
� ��?M6 R����@�� e xG?%
� �H%@� L' ( �?M%
�

+�H[?Q�,� ��
�

 2�,
� e
! ����� ;�) �75" �Q B�% O�,�%�
 � ��'
 ;�) 4H��)��%
 ( �?M%
� 3%@� ;M,%
�

 B
 2�) ( OL' O-' ;
* ,�L" �Q � SW' +�[!�9%
�
 ,�
��
��L +B��]%
� B%Q �[�q
� � O
' ,��!���%
�
+2�,
� e
! �?$�V� -' -L2 B
 �[!�9%
� 4H�V%�

�2" B��%�
�
49 952 672 B�2�,
� B�� �'" �Q -?%O�,�%
� -!�9�

 ��" �Q � O
' +(���
� B) ���Gs
 41 680 870 L
648 708 830 L  78 372 910 B�2�,
� B�� -?[!�9�Q

+F��8%
� D�?� ;
* ��PM� D�?V
� �L2 O�#�


 ��PM� D�?V
� O-' ��" �Q B�% O�,�%�
 � ��'
 �yJ' 3�Q��
 F_
� ?5 F��8%
� D�?� ;
*

 �L!���� -' 4H��) F' ,D�?V
� �_5 ;
*
 B�2�,
� B�� �[!�9%
� ��) �yJM� 2�,
�

+��PM� D�?V
� ���#�


�3" B��%�
�
 B
 �yJ' -?V� -' D�� 2�,
� O-' -?%O�,�%
� 0�8�
 �
��
��L ,110 000 000 B
 �$�'L 111 000 000
111 000 000 B
 �yJ' 3O[' �%�L ,11 77� '�$� 2�,
�Q

+2�,
� �_5 �Q B��]%
� 2�&z �
 Se�
 �Q 4P�
� -L2 O�#�

 �9��I B
L B�% O�,�%
� ����G* B
 �� ����
+4H���#�
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? '2 '� 	| �!	
� 'G� 0� �) '� �
 �� �� , ���-�� 'G� 0� �) '� �
 �� �<	� �4 �G '3�9�&'
 ����'-�� �!	
� �� �!�9	
� �T '
 	F�& 	8�� �m	� �6  J% '# �\ �A /��1 	� ��
 

7�= 	�H > 	�H <� 'O ')�� �!	
� '� ��`��	
� �. 	� �3 	k �M  1    	G �� �!��

3  518  000  >   732  106 H3  864  007  105  <   6  000  924  100 2

610  431  000  <   642  151  000 {h1  493  999  >   1  439  999 �

60  000  015  =   60  000  000 + 10 + 5 {*� b\	
H 60 �� � b-���� 89  <   � b\	
H 20 �� � b3���� 30 �

'O'6�� ��	
� �<	� �4 �� �B�8 �!	
�
�O'6�� ��	
�'�&�����	
�'4 �� �B�8 �!	
�

�� �� �* P.
�� /� '3�M ��49  952  672
�; 	3 	��� �� �� �* P.
�41  680  870

�d= 0� '!	
�� r��& 	" �!	
�78  372  910
�+ �� �c �� r��& 	" �!	
�648  708  830

 : '���'
�0&
� '� ��'s 	) 	�� '< �� 	O 'hH �� , '+'4�9 �!	
� '� �� 	
 ��	
�'4 	<'��& 	)'�   2
'TH '� �� �* P.
�� Y� '3�M �� 	%�1 �6 	� �6 �<	� �4 �� �B�8 �!	
� , ���1 	6H �! �# P=H  H

? '; 	3 	��� '� �� �* P.
� '%�1 �6 	� �6 �<	� �4 �� �B�8 �!	
�
41  680  870 < 49  952 672

7�16�� %* ��*.
�� �3�M� %16�6 <�4 �B�8!
�
	TH �+ �� �c �O�6 	� �6 ,r��& 	" �!	
� 'O�6 	� �6 �
$ �2 �� 	�H �! �# P=H  2

 78  372  910 < 648  708  830  ? 'd= 0� '!	
� �O�6 	� �6
7r�&"!
� O6�6 �
$ 2��H d=�!
� O6�6 � bg$

 �f'
 �g %B '<�=`!	
� '���w '��
 '.	� �� %B �( 	� ��
� �!�B ,111  000  000 	< '� �� �| 	WH �� 110  000  000 	< '� ���1 	6H �� /� �
 �� �G�6 �g$   3
7<�=`!
� ���w �
.�� %B �\W G���) E-H u&�&8- ��-��!
� �!�9
� T�
F&)�4   7 �f�& �4�h$ 	� �8�B ?'� �
 ��	
�

7b]�M �q �� �3�1'�	
� '?�-�6 �g$ 2  	+�� �~ �� , b� �D�D �W �� �3�1'�	
� '?�-�6 �g$ H  	+�� �~   4
 825  714  <  1  500  400H2
 5  103  099  <  4  690  003H2
 1  500  000  000  >  � b3���� �� �" �� �� �8 	! �qH2
 òÊÇÑ  ö ó ú ó  < 7  000  000  000 + 1  000  000 + 90  000 + 3H2

�14 '� �D 	\ �̂ 
� �
$ 	��L	-��� ? 'd= 0� '!	
� �O�6 	� �6 	TH '; 	3 	�� �O�6 	� �6 , '� 	! �"
� '< �� �
 ��	4H �! �# P=H   5
7�!"
� <� ;3�� O6�6 <� 
�4H d=�!
� O6�6

33  680  000 %B Ñ Ç Ã 3 (���
 ��-��!
� �!�9
��  10  000  000  %*  11  118  000 %B Ñ Ç Ã 1 (���
 ��-��!
� �!�9
�
11  118  000 < 33  680  000  � bg$  10  000  000 < 30  000  000  ¡  30  000  000  %*

�-�� G��) �
� <� �16H 2�|!
� G��) �
� rH
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� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
 3O[' ,�
��%
� bK��P �,� ,-?%O�,�%
� A!�� :P �0�;
� U�86

 +� ���)��� �HM�#
 D�#� D��?V
� �?$O��� -' 4H��)
?�p�%
 ?b�M,%
� 2��)M� B�� �yJM� 2�,
� �
 :4H
�@S�
 1�2 Q� .W#H n5o p��L�H 1�2 �X� 38 025 :�F�B^�

n6o �,L��
� 1��2�� ��L�H
?�p�%
 ?�yJM� ?5 ��P�$
� 2��)M� OF' :4H
�@� O4{

 .W#H n1o a"
�� ��M� PL� �X� 155 600 :�F�B^�
n3� 4o Q,,L��
� Q�1��
� *+ a"
�� ��M� PL� Q�

 B�2�,
� B�� �yJM� ?5 B�2�,
� OF' :4H
�@S� ,�
p �,�
?�p�%
 ?B��P�$
�

 .W#H n3o a"
�� ��M� PL� �X� ,387 675 :�F�B^�
n4o *6�7
� 1��
� *+ a"
�� ��M� PL� Q�

+����)��� 2��)M� �?$O��� -' 4H�
 D�I�� ,� ���6'
439 264 ,378 675 ,155 600 ,38 025 :�F�B^�

+�)�%G :U�8(
� 3"6
+� ��
E���L � ���)��� 2��)M� D���� :�� SK;�)
� ����\)
�

+(L�G :U�8(
� *+ �� S�$;K)
� �1�")
�

 ���#� 4H[�V
�� 3O[' ;�) B�% O�,�%�
 � ��'
 ;�) 4H��)��%
 �yJM� 2�,
�L �$�M� 2�,
�

 ;
* �yJM� B
 -��' K�?@ 2��)M� D����
 �yJM� ;
* �$�M� B
 R' �� ���)���" �$�M�

+����
E���"

FF�j�
 �Q -L2 O�#� � ��
E��� 2��)M� D����
 3O[' -?%O�,�%
� A!��
 U�8[ �Q 3� �?
�P �
 	V) ;�) �$�M� 2�,
� b?M6 OC�

 �yJM� 2�,
� b O�
 OC� �Q -L2 O�#� �?[�� p* }4 O�,�
�~
+� ���)��� 2��)M� D����


 �]q
� ��?M�
� B�% O�,�%
� 4HQ B
 �� ����
+4H���� �Q �# ��?%
�

 *\�e .,��4
 ,�[!�9%
� ��?M6 B�% O�,�%
� 4HQ ��$,�
� �_5 4O�9�

+B�2�,
� B
 OC� R�P!' O�) �H
 OL'L

 B
 � S)�@L ,B�% O�,�%
� ����G* ;
* g S%�@S�
+3���G* t�#�� ;�) �M6'

�i 	3 �

�
5-1

'��� �� ��	
� '��
 	� 	�� �O�� 	� ��
Ordering Whole Numbers

	( �� �� ��
7 '��� '8 	! �"
� '� ���! 	� �!	
� 'O'6�� �6 'x	��4 �F�D �� %
�0&
� �� �� 	
 ��	
� �<���1 �=

�O'6�� ��	
��G�&1-r��& 	" �!	
��+ �� �c�� �� �* P.
�

'�&�����	
�'4 �F�D �!	
�155  600439  264378  67538  025

7� �= '
 ���^�� �#'M�D �� 'O �8 �D'4 'O'6�� ��	
� 'O�� 	��&'
 '� �� 	
 ��	
�'4 	<'��& 	)'�
7 'O'6�� ��	
� '>�M�D �� �<	� �4 �G '3�9�� 	GH �f	� �� �� �� �4�h 	@� �5 '� 	��&'


:1 �� ��	M �F	
�:2 �� ��	M �F	
�:3 �� ��	M �F	
�
155  600
439  264
378  675

�� �| 	W 	�� 38  025

�� �| 	WH 155  600
439  264
378  675

439  264
�� �| 	WH 378  675

439  264  ,  378  675  ,  155  600  ,  38  025 :� �= '
 ���^�� /��1 �� �� �� ���
 	� 	��  � bg$
7r��& 	" �!	
� , �+ �� �c , �G�&1- , �� �� �* P.
� :� �= '
 ���^�� �#'M�D �� 'O �8 �D'4 /��1 �� �� �� �O'6�� ��	
� ,%
�0&
�'4 ��

713  298  ,  521  004  ,  1  531  708  ,  568  253 :���'
 �c�� �� ����'
�0&
� ���
 	� 	�� 'O�� �3 	F�4 	3��
:1 �� ��	M �F	
�:2 �� ��	M �F	
�:3 �� ��	M �F	
�

568  253
���1 	6 	�� 1  531  708

521  004
713  298

568  253
521  004

���1 	6H 713  298
���1 	6H 568  253

521  004

521  004   ,   568  253   ,   713  298   ,   1  531  708 :���'
 �c�� �� /��1 �� �� �� ���
 	� 	��  � bg$

7 ���1 	6 	�� �� �
 ��	
� �� �* 1  531  708 �� �
 ��	
� �GH �> 	3 �� �� �m	� �6 	n �M ��   J% '# �\ �A /��1 	� ��
7T��3H 6 <� �#�� +6 .�3 G��!B ��
��� %��4 ��H ,T��3H 7 <� G��� 1  531  708 �
�
� .�3
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X �.)4Q�.);
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
�1" B��%�
�

 l�$O��� �$�M� ;
* �yJM� B
 2��)M� -?%O�,�%
� DO���
 b?M6 OC� �Q p* , }4 O�,�
�~ U�8[ �Q �%� ��?M�
�

+�yJM� 2�,
� -L2 O�#�

 �%�9
� �&?
 R����@� B�% O�,�%
� B
 D�I��
+���G|� ;�) 4H��)��%
 ��[�V%
�

�2" B��%�
�
 l�$O��� �yJM� ;
* �$�M� B
 2��)M� -?%O�,�%
� DO���

 b?M6 OC� �Q p* ,}F�!��~ b�9Q �Q �%� ��?M�
�
+�$�M� 2�,
� -L2 O�#�

+B�% O�,�%
� C%) B
 �� ����

�3" B��%�
�
 ��U@M� B) ���Gs
 (L��
� -?%O�,�%
� R�����

 2�,
� �H���9� ��
� �y�
� -?$�V� �'" �Q p* ,�&L�M%
�
 ��" �QL ,�[�q
� 2?%,
� �Q 2��)M� B�� �$�M�

 2�)L ��[�$@|�� ��?�V%
� ��#1�
� 2�) B�� -?[!�9�
+�yJM� -L!����L ��[����
�� ��?�V%
� ��#1�
�

 �$�M� ;
* �yJM� B
 ��y�
� -?$O���Q �7G" �Q � O
'
+�����)���"

 �,�!M� 2��)M� �?$O��� -' B�% O�,�%
� B
 D�I��
 �H�
 OC� �#� �?$�V� -'L ,�P!L ;�) 4H
�
'
+���G|� ;�) 4H��)��%
 �$ S@��%
� �y�
� 4@�

�4" B��%�
�
 �$�'L 27 802 319 B
 �yJ' � �2�) -?%O�,�%
� !����

+27 802 100 B


 F' ,}� ��
E��� �$ ���
~ b!�$) ;�) B�% O�,�%�
 � ��'
+�yJM� ;
* �$�M� B
 �$ ���
 2��)M� O-'
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	G �� �!��
:� �= '
 ���^�� ����'
�0&
� ���
 	� 	�� 'O�� �3  1

1  901  435   ,  2  910  435   ,  1  911  345   H
2  910  435   ¡   1  911  345   ¡  1  901  435

78  000  004  000   ,  78  000  004   ,  78  004  000  000   ,  78  400  000  2
78  004  000  000   ¡  78  000  004  000   ¡  78  400  000   ¡  78  000  004

 
:���'
 �c�� �� ����'
�0&
� ���
 	� 	�� 'O�� �3  2

231  555  400   ,  213  555  387   ,  132  000  800   ,  321  439  999  H
132  000  800   ¡  213  555  387   ¡  231  555  400   ¡  321  439  999

� b\	
H 25 �� Y3���� 400  ,  � b\	
H 60 �� � b-���� 89  , � b\	
H 20 �� � b3���� 30  2
� b\
H 60� �b-���� 89   ,  � b\
H 20� � b3���� 30  , � b\
H 25� 3���� 400

 
7� '?-�&- 	@�� '���'��1 ��	� ��	
� '� ���1 �"
� �� �� />�D �\ �W �#'4 	?�1'& �6 Y>�|�
 4 ���Q 	6H �+'4�9 �!	
� �� �� 	
 ��	
� �n �M �� �=   3

�� �| P�
�'>�D �\ �̂ 
� �� �
 ��
��0��� 0̂ 
�105  736  236

�� 0=.���- 	@�286  642  757
��0�-�4��	
�66  763  838

��0�-�1) 	@�55  887  063

�=.���-@�   ? ���Q 	6H />�D �\ �W �#'4 	?�1'& �6 %&�
� �� �| P�
� ��   H

  ? ��0�-�4��	
� 'TH ��0�-�1) 	@� , P+ ��H />�D �\ �W �#'4 	?�1'& �6 '<	��& �| P�
� �< '� JrH  2
��-�1)@�

 7� �= '
 ���^�� �b1�� 	� �� �#'4 	?�1'& �6 %&�
� '>�D �\ �̂ 
� '� �
 �� 'O �8 �D'4 '>�|P�
� 'O�� �3  {h
�=.���-@� ,����^
� ,��-�4��
� ,��-�1)@�

:��!&D� �4�h$ :���'
 �c�� �� b��1 �� �� �� ����'
�0&
� ���
 	� 	�� �G�� �&'
 YO ')�� �� Y� �
 ��'
 � b. 	� �3 	O�& 	6��   4
27  802  100  ,  27  802  213   ,  27  802  319   ,  34  559  314

:� �= '
 ���^�� ����'
�0&
� ���
 	� 	�� 'O�� �3  J%
'��g /(�� 	9 ��?    5

65  294  178   ,  652  901  000   ,  3  840  117  002  , 652  910  000
3  840  117  002   ¡  652  910  000   ¡  652  901  000   ¡  65  294  178  
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�2 �"(;� �M86HU�8(
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
,;
LM� �
��%
� bK��P B�% O�,�%
� B
 D�I�� :P �0�;
� U�86

 D�I� O4{ ,2��)M� OF6 ;
* �L�\�� -' 4H�
 D�I�L
:��
��
� ��%�
� �?�%V� -' 4H�


 57 000 000  B�2�,
� B�� g9� 57 870 428 2�,
�
58 000 000  L

57 870 428 2�,
� B�� �Q��%
� �?[!�9� -' 4H
�@S� ,�5�,�
+58 000 000 L 57 000 000 B
 OC�L

 57 870 428 Q�1��
� Q,F �+�K)
� :�F�B^�
 Q,F �+�K)
� Q� .W#H 58 000 000�

57 000 000� 57 870 428 Q�1��
�
 ;
* 57 870 428 2�,
� �?� O�9� -' 4H�
 D�I�� ,� ���6'

58 000 000 ≈ 57 870 428 :�F�B^�   -?��
 ��P'
 45� ��pL ,��[�q
� �
��%
� �L'�9� -' 4H�
 D�I�� ,�
p �,�

:�5L D��9�
� ��?M��
+�H�
* D��9�
� 2��%
� �
 Se�%
� �Q 4P�
� ���#� :1 b?M�
�

� 4P�
�� b�W�$
 3��%� ;
* 4P�
� �[!�9
 :2 b?M�
�
 4P�
� ;
* ,�G�#
� �)2 �
 �p* 1 �Q��* :3 b?M�
�

+!�1JM�� 3��%� ;
* R�P!M� (��$�@�L 2 �� �& F_
�
+�)�%G :U�8(
� 3"6

 OF6 R����@�� �� O�� 2��)' D��9� :�� SK;�)
� ����\)
�
+D��9�
� ��?M6 L' 2��)M�

+2��)M� OF6 :U�8(
� *+ �� S�$;K)
� �1�")
�

 �Q 3O[' ;�) ��[�q
� �
��%
� �Q B�% O�,�%�
 � ��'
 4P�
� B�%� ;
* 4P�
� �[!�9
 ��) 2 b?M�
�
 ;9$� 5 B
 �yJ' -�� �p* ,5 4P�
�� 2 ��#%
�
 �$�' L' 5 -�� �p* � O
' ,?5 �%� 2 ��#%
� 4P�
�

+2 ��#%
� 4P�
� ;
* 1 -?1�k�Q

 *\�e .,��4
 �?� O�9� -' 4H��) 3O[' �%� O-' -?%O�,�%
� 0�8�

 -' 4H��) ,B��]
 b�8) ��P' ;
* 55 100 000 2�,
�
5 4P�
�� B��]%
� 2�&z �
 Se�
 �Q 4P�
� �?[!�9�

 B
 � S)�@L ,B�% O�,�%
� ����G* ;
* g S%�@S�
+3���G* t�#�� ;�) �M6'

�i 	3 �

�
6-1

	( �� �� ��
7� b�&����6 57  870  428 '3�
 	9 '!'4 '� 	! �"
� '< �� Y� '3�M �� �O�6 	� �6 �
 ��	1 �=   1

7 YG���� '2 �� 	�H �
$ �� �B�8 �!	
� 'R 'S* 	2 �� ��
:'��
 	� 	�� �F �q �T�
 	F'& 	)� �f��'� 	! �=

57  870  428
57  000  000 57  500  000 58  000  000  

58  000  000  , 57  000  000 '< 	= �� �
 ��	
� �<	� �4 �k �9 �= 57  870  428 �� �
 ��	
�
57  000  000 '� �
 ��	
� �
$ �E	� '� 58  000  000 '� �
 ��	
� �
$ �2 �� 	�H �E��'�
 ��

7 YG���� '2 �� 	�H �
$ � b4 �� �9 �� 58  000  000 = 57  870  428  � bg$

 7 Ym	
H '��s '� '2 �� 	�H �
$ 7  381  054 �� �
 ��	
� '2 �� ��  2
: 'O=�	9�&
� '>���M �q �T�
 	F'& 	)� �f��'� 	! �=

 7  381  054  �#	��
$ �O=�	9�&
� '��� �!	
� '��
 '.	� �!	
� %B �( 	� ��
� '� �
 �� 
 7  381  054  b� �� �A�1 �� 'E'��! �= �
$ �( 	� ��
� '��L	-��
 5 < 8  5 {{'4 �( 	� ��
� �S* 	G '3��
 

 'O=�	9�&
� �>���M �q  	� �6 �S��
7�#	��
$ �O=�	9�&
� '��� �!	
� '��
 '.	� �!	
� %B �( 	� ��
� '� �
 ��  1

7 b� �� �A�1 �� 'E'��! �= �
$ �( 	� ��
� '��L	-��  2
 � 0�H , �� �* �! �6 �� �
 �D �!	
� �( 	� ��
� �9	1 �= 5 	< '� �� �| 	WH �G�6 �g$   3

7'� �
 �D �!	
� '( 	� ��
� �
$ 1 	m 'M]�B ���1 	6H 	�H 5 �G�6 �g$
7'� �
 �D �!	
� '( 	� ��
� '<�!�= �
$ Y( 	� �3 �+ �6 �G�� �� � b� 	\ 'W 	� '
	1�& 	)'�   4   , �E �� 	� �
 �� rS�
� '( 	� ��
� �
$ 1 	m 'MH 

7 '3�\ 	W 	��'4 'E'��! �= �
$ �T�� 	3 	�� '� '
	1�& 	)��
7 Ym	
H '��s '� '2 �� 	�H �
$ � b4 �� �9 �� 7  400  000 = 7  381  054 �G���� �B

?�b-���� 60 	TH � b-���� 50 �
$ �2 �� 	�H 55  100  000 �� �
 ��	
� �G�6 �g$ �� �3 �� �9 �� �m	� �6     J% '# �\ �A /��1 	� ��
 E-3�9-� ��A�1� E��!= �
$ (��
� �
$ �L�- � bg$ ,<�=`!
� >��"� �
.�� %* �#�
$ O=�9&
� ���!
� �
.�!
�

7� b-���� 60 rH  60  000  000 �
$ 2��H 55 100  000  � bg$  ,  5 = 5 ¡ 5 {{4

'��� �� ��	
� '��
 	� 	�� �O=�	9 ��
Rounding Whole Numbers
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c Y!d
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� � O�9�
+-?��
 ��P' ;
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 ��?M6 -?,$O�� B�% O�,�%
� O-' B
 �� ����
+(L��
� (�%�| D��9�
�

X �.)4Q�.);
� C,�(4 �(2 P �0�)0
 � �)\� ��N!O�
�1" B��%�
�

 �U
 ��P' ;
* �,�!M� 2��)M� B
 �]� -?%O�,�%
� � O�9�
5 4P�
�� Y?
M� ���8) 4P! �[!�9%� �
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 ���8) 4P! -�� �p* 3O[�� B�% O�,�%
� � ��p
 ;
* 2�,
� � ��9�� 5 B
 �yJ' 2�,
� Y?
'
 L' B
 �$�' -�� �p* � O
' ,�yJM� �
' �U%
�

+�$�M� �
' �U%
� ;
* � ��9 ��Q 5 FL���

�2" B��%�
�
 ��P' ;
* �,�!M� 2��)M� B
 �]� -?%O�,�%
� � O�9�

 �p�Q ,5 4P�
�� 2�) OC� Y?
' ��U
 4P! �[!�9%� -?��

 ;
* � ��9�� 5 B
 �yJ' 2�,
� Y?
' ��U
 4P! -��

 � ��9�� 5 FL��� L' B
 �$�' -�� �p*L ,�yJM� -?��%
�
+�$�M� -?��%
� ;
*

+B�% O�,�%
� C%) B
 �� ����

�3" B��%�
�
 ��P' ;
* �'" 2?%,
� �Q 2�) OC� -?%O�,�%
� � O�9�

 2?%,
� �Q D��9�
� j��[ B) -?q#$�L ,B��]
 b�8)
+��"

 4P! �?[!�9� -' 4H��) 3O[' ;�) B�% O�,�%�
 � ��'
 3$��9�
 2�) OC� �Q � 4P�
�� B��]%
� 2�&z

+B��]
 b�8) ��P' ;
*
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	y '�I'� �
 ��	
� �. 	� �3Y��s '� '2 �� 	�H �
$ � b4 �� �9 ��YG���� '2 �� 	�H �
$ � b4 �� �9 ��
9  621  9179  621  90010  000  000

78  051  36878  051  40078  000  000

 : �� �� 	
 ��	
� '+ '! 	6H

7 Ym	
H '��s '� '2 �� 	�H �
$ 	2 �� ��  1    	G �� �!��
900  000 ≈ 872  768  H8  200  000 ≈ 8  153  946  2

2  000  000 ≈ 2  035  407  {h44  000  000 ≈ 43  974  017 �

7 YG���� '2 �� 	�H �
$ 	2 �� ��  2
6  000  000 ≈ 6  423  956  H2  000  000 ≈ 1  734  312  2

75  000  000 ≈ 75  199  999  {h30  000  000 ≈ 29  924  185  �

7 �<�=`� '� �� �" �� '2 �� 	�H �
$ 'E'1=� 	9 �� �
 	� �4 �2� '��!��	
� �< '� �E�1 ')�� �= �!'4 �H� '��!��	
� �< '� Y� �
 �� �+ �6 	+ 'W  3
�H� ���!��	
��2� ���!��	
�
27  305  00030  000  000
93  667  2141  000  000  000

999  999  999170  000  000
165  279  053900  000  000

90  000  000

 �� �
 ��	
� �S* 	2 �� �� 7 Y���'�=� 	�H Y>�3I�� 716  392  705 'N�t �\	
� '< �� �% '!	�'�	
� '��� �F	
� 'T`	BH '
 ��H '>����=$ �U�! 	� �� �V��	1 �=   4
: '2 �� 	�H �
$

716  392  710 Y� �� �" ��  H716  390  000 Y5Iw '� �� �" ��  2720  000  000 �<�=` �� '� �� �" ��  {h

7 �f�& �4�h$ 	� �8�B ? �r	H ��
� �E �9'B���� 	+ �* 7 Ym	
H '��s '� '2 �� 	�H �
$ � b4 �� �9 �� 784 000   000 = 783  965  700 �� �
 ��	
� : /� ')�h ����   5
7<�=`!
� ���w 1 {4 5�
�� >�s� 10 ��!8� ����$ k� 3�\W��4 E��!= �
$ T��3�� �
1&8-� 9 �
$ 1 m�t- 5 < 6 G� ,(�-

7 Y3���� '2 �� 	�H �
$ �E 	4 �� �� �(�e , '� 	! �"
� '< �� �i�-�3�H 'O�6 	� �6 '
 	��4 �� �� ��� 0

� '� �
 ��	
� �. 	� �3 	O�& 	6��   6  
(6 >�3���� 3 ≈ (6 2  871  000  000  �14 '� �D 	\ �̂ 
� �
$ 	��L	-���
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≈dhC’G IóMƒdG á©LGôe ¢SQódG

6-1
¢SQódG

7-1

�i 	3 �

�
7-1

�
� 	�� '� �
 	� ��	
� �� �� �h�� ��

: bI ��H
7'� �
 ��	
� �. 	� �3 	O�& 	6��  1

3  600  030  000 � b\	
H �G�e`�e �� YG���� '��s '!P& ') �� Y>�3���� �� �e`�e  H
7  076  289 �G�-�!�e �� /� �� 	8'� �� 'G�&�s '� �� � b\	
H �G��	1 �) �� /��& ') �� �<�=`� �� ��	1 �)  2

89  000  265 80 000 000 + 9 000 000 + 200 + 60 + 5  {h

130  000  400  006 6 �� Ym	
H 400 �� � b3���� 130  �
 

:%��= �� 	+ '! 	6H  2
10  000 = 4 10  H2 10   = 100  2

1  000  000  000   = 910  {h 8 10 = 100  000  000  �

 '� �4�&'6 %B /(�� ���& �� �� �� �B �g$ 7 '� ��� 08
�'4 Y>��&����6 39 �SIS� '�0��=�� 	�� �)�- '��
�6 '�'4 ���F	
� 'N�t �\	
� 'p� 0� �� �� �� 	� �) �V��	1 ��   3
9 × 9 × 9 �G���� �#�-� �B �SIS� �%'l�t �\	
� 'p� 0� �!	
� '� �� 	� �8'
 '��M �8�1 �!	
� '� �3� 0̂ 
�

 

: '���'
�0&
� 'T�� 	3 	�'
 ����'-�� �!	
� �� �!�9	
� 'O�& 	6��  240  786  305  900 '� �
 ��	
� %B  4
6  H

6  000  000
4  2

40  000  000  000
5  {h

5 000
8  �

80  000  000

7  {*
700  000  000

3  �
300  000

2  c
200  000  000  000

9  Z
900

2829

7 JF �q �E�& 	D�� rS�
� '( 	� ��
� '��
 '.	� �� �
$ ����'
�0&
� ���
 	� 	�� '2 �� ��  5
7  630  998  432   H

7  631  000  000
 8  643  231   2
8  600  000

 16  000  058   {h
20  000  000

7�= 	�H > 	�H <� 'O ')�� �!	
� '� ��`��	
� �. 	� �3 	k �M  6
3  303  030  >    3  033  030 H

� b\	
H 50 �� � b-���� 79  <    � b\	
H �G�� 	" '� �� � b3���� �G���4 	3H 2

YG���� '��s '!P& ') �� /3����  >   1  237  678  419 {h

ñ ö Çæ óæ ñä   =   1 + 610 �

4 3  >   34 {*

 
, '>�0�'l�^ 	� 	@� �
 	�$ 'O �8 �D'4 7 '���'4 �� ��	
� '� �� P

� 'x	��1'
 'G� 0� P8
� �� �
 �� �R�- 	�H �� �� 	
 ��	
� �<���1 �=   7

:���'
 �c�� �� �b1�� 	� �� 'G� 0� P8
� '� �
 �� 'O �8 �D'4 �� �� P

� 'O�� �3

���
 	� �

�'G� 0� P8
� �� �
 ��
�2 '� 	| �!	
�33  986  655

�� 	̂ '�97  041  072
���-��11   403  800
��1�
6  653  210

7��1�
 ,�-�� ,2�|!
� ,�^�

https://school-kw.com/


46

≈dhC’G IóMƒdG á©LGôe ¢SQódG

6-1
¢SQódG

7-1

�i 	3 �

�
7-1

�
� 	�� '� �
 	� ��	
� �� �� �h�� ��

: bI ��H
7'� �
 ��	
� �. 	� �3 	O�& 	6��  1

3  600  030  000 � b\	
H �G�e`�e �� YG���� '��s '!P& ') �� Y>�3���� �� �e`�e  H
7  076  289 �G�-�!�e �� /� �� 	8'� �� 'G�&�s '� �� � b\	
H �G��	1 �) �� /��& ') �� �<�=`� �� ��	1 �)  2

89  000  265 80 000 000 + 9 000 000 + 200 + 60 + 5  {h

130  000  400  006 6 �� Ym	
H 400 �� � b3���� 130  �
 

:%��= �� 	+ '! 	6H  2
10  000 = 4 10  H2 10   = 100  2

1  000  000  000   = 910  {h 8 10 = 100  000  000  �

 '� �4�&'6 %B /(�� ���& �� �� �� �B �g$ 7 '� ��� 08
�'4 Y>��&����6 39 �SIS� '�0��=�� 	�� �)�- '��
�6 '�'4 ���F	
� 'N�t �\	
� 'p� 0� �� �� �� 	� �) �V��	1 ��   3
9 × 9 × 9 �G���� �#�-� �B �SIS� �%'l�t �\	
� 'p� 0� �!	
� '� �� 	� �8'
 '��M �8�1 �!	
� '� �3� 0̂ 
�

 

: '���'
�0&
� 'T�� 	3 	�'
 ����'-�� �!	
� �� �!�9	
� 'O�& 	6��  240  786  305  900 '� �
 ��	
� %B  4
6  H

6  000  000
4  2

40  000  000  000
5  {h

5 000
8  �

80  000  000

7  {*
700  000  000

3  �
300  000

2  c
200  000  000  000

9  Z
900

2829

7 JF �q �E�& 	D�� rS�
� '( 	� ��
� '��
 '.	� �� �
$ ����'
�0&
� ���
 	� 	�� '2 �� ��  5
7  630  998  432   H

7  631  000  000
 8  643  231   2
8  600  000

 16  000  058   {h
20  000  000

7�= 	�H > 	�H <� 'O ')�� �!	
� '� ��`��	
� �. 	� �3 	k �M  6
3  303  030  >    3  033  030 H

� b\	
H 50 �� � b-���� 79  <    � b\	
H �G�� 	" '� �� � b3���� �G���4 	3H 2

YG���� '��s '!P& ') �� /3����  >   1  237  678  419 {h

ñ ö Çæ óæ ñä   =   1 + 610 �

4 3  >   34 {*

 
, '>�0�'l�^ 	� 	@� �
 	�$ 'O �8 �D'4 7 '���'4 �� ��	
� '� �� P

� 'x	��1'
 'G� 0� P8
� �� �
 �� �R�- 	�H �� �� 	
 ��	
� �<���1 �=   7

:���'
 �c�� �� �b1�� 	� �� 'G� 0� P8
� '� �
 �� 'O �8 �D'4 �� �� P

� 'O�� �3

���
 	� �

�'G� 0� P8
� �� �
 ��
�2 '� 	| �!	
�33  986  655

�� 	̂ '�97  041  072
���-��11   403  800
��1�
6  653  210

7��1�
 ,�-�� ,2�|!
� ,�^�

https://school-kw.com/


≈dhC’G IóMƒdG á©LGôe

47

30

:�b�'-�e
7b]�M �q �� �3�1'�	
� '?�-�6 �g$ 2  	+�� �~ �� , b� �D�D �W �� �3�1'�	
� '?�-�6 �g$ H  	+�� �~  �3−1� '����1	
� %B

13  000  000  =  � b3���� �� �" �� �� �e`e  1H2
354  370  102  <  354  371  002  2H2

4 × 7  =  47  3H2

7'� �D�D �̂ 
� '� �4�h 	@� �� �� ��� 0

� '. 	� ��
� �� ��'l�� 	+�� �~  �8−4� '����1	
� %B
/
 '��� �� � b\	
H 650 �� � b-���� 75  4

75  650  001  H75  650  010  275  650  100 {h5  657  010  �

�� �* Ym	
H '��s '� '2 �� 	�H �
$ � b4 �� �9 �� 543  924  012 �� �
 ��	
�  5
543  900  000  H543  000  000  2544  000  000  {h500  000  000  �

�� �* 2  386  005  974 '� �
 ��	
� %B '<�=`!	
� '>�s '� '��
 '.	� �� %B �( 	� ��
�  6
2  H 3  28  {h9  �

�% '* 472  352  101 '� �
 ��	
� %B 7 '( 	� ���'
 ����'-�� �!	
� �� �!�9	
�  7
70  H70  000  27  000  000  {h70  000  000  �

�� �* '��M�8�1	
� '� �3� 0̂ 
�'4 25  8
2 × 2 × 2 × 2 × 2  H2 × 5  25 × 5  {h5 + 5  �

https://school-kw.com/


49

IóMƒdG

á«fÉãdG

:IóMƒdG  áe qó≤e

:�� �����	
 ���
�	
 �
�����	
 F����� �
���
• ������� 	
 ��
����� � ��� ��� ������� �����
•  ��! "#$%&
 '(�)�� ���*�� "���+�� ,�'-. �/�
 0 1�2�34$ 	��� 5���6� �� ��7 ��*�� 8. ��� ������� �& 9�I4�

���#�;�� �&
:�����	
 ���
��	
 �� F�!	


• �<�=�-> % ?3

 ,�/�
 '(�)�� ���*$ �/3�� �& 	��� "A��%�� ��B %!C4�
• ?"-� ����� 5�!� "A��� ���B 	

 ?��2�� 5�!� "A��� ���B 	
 '(�)�� ���*$ 9���� �& 1E�

:���"�	
 #���	
 �� F�!	

•  FG��� 0��2���= ,H�)���� I�� "�#��
. �J=���. �$����& �� " ��G K
%� 8. E ����& ��! �& 9�I4� :� $%& '()'
 

 	
 �����L 	��� "A��%�� 	���M�� EG%�� %!C N& �/�
 ����#���� 9�$%$ �� E��O��� , "���+�� �& ,�'-6�=
��/
%�� 8�! ��P

Decimal Numbers  ájô°û©dG OGóYC’G
Race Challenge  … qóëàdG ¥ÉÑ°S :´ƒ°VƒªdG

�� �� �� ���	

����
����	


Race Challenge    � �� ����	
 ���� 
�

�� �� 
� �����	
 ��
� �� ��

Decimal Numbers

! 
� �" 
#�	
 �� ���� 
$�% ���	
 &	' � ("
)
� �* �"�I
, 
� �" 
-�	
 .	�� �/ �0

 �F �2 �3 �45 �6�	
 �7
8 �� �9 �: ���� , �<
)�=�	
 �� �9 �: �9 �� ��> , ?/
@ �" �4 ?A�B �, CD �BE
F ?��G�� �� �4 ?� �H�I �4 
J��
� �K
 &L �� �M,N���� �"�	
 �O�F�I�� ��
! 
���
����	
 �/ 
4 ?P
< �KE
F 
Q 
I
H�G �4 &L �� � (4 C� �#�� �4 
� ���-CG	


! 
N �� RS	
 .H 
� �� �T �� �"�	
 
U�T�� C�	
 .H �A�# C# �� .��	
 
��� 
��� 
#�	
 
V�B �N ��
 
/ �� �W ���F




���
)
� �-�	
 
U�K
 �N ��	
 ���� 
�


� ���� CI	
 ���� 
� 
D�� �X�	
 ���� 
�


� 
N
, �<	
 ���� 
�


� �� �Y�	
 ���� 
�

https://school-kw.com/


50

:*+��	
 ,- �
�.
�!	

• �N)$%& Q��= �%M)�� RS� �,�%G ��� ������� �& 9�I4�

:/0)�	
 1�!��
•  ��T3��
  ,�U�#���  V�#3=  0��M��  "* WA����  �����  Q��MY  ZNW#�$
  ,Q����T&  N=�.  I�>  ��)��  E ?3G

��$�
�O&
 '(�)�� [�%)�� ���*$ \�/= �
�- I�� ](��^��
•  I�� <�C ��= ,V�#3�� ,�/�_ ��G%`��� KS�� FG��� 93*$ 8. "���T& ��! I�� ,��P��� "���U �;Y

 �N=�6� Q����T��� ](��� 9�$%$ ��= Q����T��� 	G�= I�> "#3^��= ��#$%& 9�O� 8. [�%
 ��!


$ 
<�G �"�	
 .H �U��� 
T�� C�	
Maths at Home 
 : �P
 �< 
� ��
 �.
L �9>

 �� �� �N�# �4 , ���[
H�@�� �"�	
 �� �� 
� �����	
 ��
� �� ��
 , ?\�	> �/ 
4 �P
< �K ��
 , ?��[ 
4 �/ 
4 �P
< �K ��
, ?� �� �� �� �/ 
4 �P
< �K ��
 
� �� �� ���	
 
] 
69 .H �:�L ���� �� �̂ �� ��
! ?��[ 
4 �/ 
4 ?P �< �K 
_ �� �B> &	' �, , ?� �� �� �� �/ 
4 ?P �< �K 
_ �� �B> &	' 
� �� 
� �����	
 
�
� �� ��
 �̀ �� �# �a , 
� �� 
� �����	
 
�
� �� ��
 �̀ �a �� �a �,


� �� �� ���	
 �b,� �� �4

$ ������	
 ���� 
�

 ! c���
� �9 �8 c���
	
��4 , ?̂ �#�' �� ���� , c:�L �B , c�
N �,> : �� �F�L�M �"�	
 �U
,�� ��

 : 
D �" ���	
 �U
��M �2

! ?O���H CD �0 
P�e ��> �� �� �� �� C� �� �, , ?$ ���� �a 
��� 
� 
:�f�G��
	 ?� ��
H &	' �D �S �=�	
 
: CI �B  1
! �Q�	�I �, 
��� CI	
 �D �@ �g �� C� ��  2

! ?O
F�I�� �4 CD �0 
A�B �, 
F�� �e
	 (� ���� �V 
� �X�� ��

  3
! ?O���H RD �0 �Q �B �� �h�� ��
 �6�	
 �A�B ���	
 
̀ �I ���
  4

! 
� �� 
=�	
 
U�B �,E
F (5 �, �� �K �:Cf��  5
! ?���
� �9 �8 ?���
	
��"
F �<
)�=�	
 �O�� �=�	
 
i
H�0  6

32

https://school-kw.com/


 

52

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
�KU%
 :U
��	
 1�4

 K%3O�� U���� 
. %3O�� "=��! :�� �����	
 �
I
3�	

�"� W�f��� ,�'-6� I�� ������

�"�$�C ����#� ,Q�O#L :U
��	
 ,- �� �0F���	
 $J
��	


 ,"��3��� �
.%M� 8. ��� ������� �& 9�I4� :� $���	
 U
�4
�"��3�� %&�� E �3G � J,'- E! I�> :E/���� �E7

K
+@7 10 = 2 + 3 + 5 :��
@D

 ����. "O#L E/&�&. ����%� 8. E/^& 9�I4� ,<�C ��=
 KS�� FG��� I�� ���$ 	��� ,�'-6� %oY6�= ��� �����


 %�P6�=
 ,0�M�� �%! "#�� I�� 5 ������ 	
 %&�� R�oG
 5 ������ 	
 R�oG KS�� FG��� I�� ���$ 	��� ,�'-6�
 	
 R�oG KS�� FG��� %)B6�=
 ," ��3�� �%! "#�� I��

��%(�M�� �%O�� "#�� I�� 5 ������
 E ������ U��� 	
 �
�T�� ����O� 8. E/^& 9�I4� ,� J%�Y.

����� ��� 	��� "O#��� 0��2���=
 ,�'-6� ���-%��� Jw �
. 	
 ��! ���. ��� ������� k%L��

 \�� ,�/^� %�#���� ")��2��� V%M��
 �%�� �&
��/^� %�#���� V%I
 "i& �& ,�'-6� �J���7 	
 8��-%�3�
 8. E/����
 ,"i��� "O#L I�> %f^�� E/^& 9�I4� ,<�C ��=

9
100 
  91

100  ��%3O�� �& ��! ���� ���� 0;� ��P%��
 K
+@L
 9

100  � K
!�M	
 K
+@L
 91
100  :��
@D


HK
&I+	


 91�O4� 10 �&�M& %3! ��! �8�= ��� ������� % ?!C
�"�%���� ������ 	
 � Jo�.

:����#3�� I�� ZN 1A
�%�� �& ,�'-.U�Py

1s z
 �� "�%���� "�B�)�� ���� I�> U���� �8�=


 ���3� ��
 ,�%�� �& "� W�f��� ,�'-6� U��
 �K%���� %3O�� 	f)��� E�w� �,�%G I��

 ,5 �� �%�� �& ,�'-6� U�� 8�! �C> , J;+&
��%�� �& ,�'-. "3�Y . 1%M 4�

 "�B�)�� ��3� I�> U�P{� EG� �8�= E�% ?!C
�K%���� %3O�� 	
 %)B � J�(�U �� "�%����

 	f)��� E�w� "=��O� ����= � Jo�. E�% ?!C
 ��!
 ��3� I�> EG%�� 8�O� �&�^� K%�� %3O�
 8. E/��� ,� J%)B K
�3� "�%���� "�B�)��

 �/^��� I�> U���� 	f)��� E�w� Jw �
. ��#�O�
�|"i& �& ,'-} �/�#��

�j �N ��	

1-2

 �: �L �� �a ?� �� �� �� �/ 
4 �P
< �K ��
 : (5 �,>

��� 
T�� C�	
 
_���	 ��
 �/ 
4 ?b
���> 
� �kl�k &L �� �m� 
4 �� �� (� �� 
�
, (� ���� c� 
4�� �_ �N ���� ��

, 
V �� �#�	
 
� �� �0 
��� ���	 &L �� �_ �N ���� �� 
� ��� �I	
 �/ 
4 ?� �� 
,�I�� �4 ?P
< �K> 5 :.	���	�0 ?� �" �I�# �4
!
� ��
)��M	
 
� �� �@�	
 
��� ���	 &L �� �_ �N ���� �� 
� ��� �I	
 �/ 
4 
M�� 
,�I�� �4 
M
P �< �K, , 
� �L �I	
 
� �� �0 
��� ���	 &L �� �_ �N ���� �� 
� ��� �I	
 �/ 
4 ?� �� 
,�I�� �4 ?P
< �K> 3

! ?� �� 
,�I�� �4 ?� �� 
" ��> 10 n
F �� ��� �I	
 �D�� �4 
 (� 
4�� �M> �o 
�5
p?� �� �� �� �/ 
4 ?P �< �K �� 
�
,q �> �� �# �� �, 0r1 
� �� 
� �����	
 
� �N� �S	�
F �Q�� �F��
0 �G �"�L �� �a �, ,  1

10  ��> ,
 (� �� �� �DC� �" �� ?��" �� RD �0
:.L�� �" �0 
] 
< �4 �N 
� �F��
0 .H 
���
��@ �"�	
 
� �"�#�	
 
� �� ���	 �V
� �X
� ��
 �s�M�� �I�a

?� �� �� �� �/ 
4 cP
< �K>c���t
10 r  ! �� �� 
� �����	
 �� �N� �S	
 & �" �I�a u� �2�> ?� �N�% &L �� �̀ �� �@ �� ,10 �Q �4�# �4 ?� �I �0 RD �0

: �$ �, �� �Y�	
 
D 
" �0>
�� �T�� C�	
R�
���
� �� 
5
 �� �I �@�	
R� 
� �����	
 �� �I �@�	
C� 
� �����	
 
� �I �@�L
	 R.
f �= �L	
 �: �� 
5



V �� �#�	
 �� �� �05100r5òÉ ó ó ó  ú ö  òÁÇ ú Ã õ ó ú ó

� �L �I	
 �� �� �03100 3���� /4 P
<K> �klk

�� ��
)��M	
 �� �� �@�	
2100 2���� /4 M
P<K
 ?��[ 
4 �/ 
4 �P
< �K ��
 :�(�
��k

 �DC� �" �� �6�	
 R�
���
� �� 
5
 �� �I �@�	
 
��[ 
"�	
 
� �@�� �g 
$l 
2 �/ 
4
 �6�	
 R�
���
� �� 
5
 �� �I �@�	
 � �4> , 91

100  �P
� �" ���	
 �P
< �K ��

! 9

100  �P�B �N �<	
 �P
< �K ��
 �DC� �" ��
? 
� �� 
� �����	
 
� �N� �S	�
F �-�G 
4 wD �0 �� �F��
0 �x�G
@ �" �� �\�� �0

p ?��[ 
4 �/ 
4 
 (P �< �K �M�� �I
a �, c� 
�
,q �> �� �# �a �, 0r91 �̀ �� �@�a 91
100?��[ 
4 �/ 
4 cP
< �K>?� �� �� �� �/ 
4 cP
< �K>c���t

190
900

r
r

 p ?��[ 
4 �/ 
4 ?P
< �K> �� �� �I
aq �> �� �# �a �, 0r09 �̀ �� �@�a 9
100

 :.L�� �" �0 �" 
9 
< �4 �N 
� �F��
0 .H 
���
��@ �"�	
 
� �"�#�	
 
� �� ���	 �V
� �X
� ��
 �s�M�� �I�a
! �� �� 
� �����	
 �� �N� �S	
 & �" �I�a u� �2�> ?� �N�% &L �� �̀ �� �@ �� ,100 �Q �4�# �4 ?� �I �0 RD �0

�� �� 
� ����	
 ��
� �� ��
, ?��[ 
4 �/ 
4 �P
< �K ��
y?� �� �� �� �/ 
4 �P
< �K ��

Tenths/ Hundredths and Decimal Numbers

33

https://school-kw.com/


 

53

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
 ���B I�� 91�O4� 100 �&�M& %3! ��! �8�= E�% ?!C

 ��#�O� 8. E/^& 9�I�
 ,"�%���� ������ I ��34$ h%Y.
�"�%���� ������ 	
 ��%3O�� �& j;!

0,09 = 9
100  � 0,91 = 91

100  :��
@D

���%3O�� �& j;! �
.%M� 8. E/^& 9�I4� ,� J%�Y.

H�O� P� K
+@7 ���� ,�O� P� 
 QK+@ #����� 0)
� :��
@D

�	���- :U
��	
 1�4

 KU����w� %3O�� "=��!
 �,�%G :�� �����	
 �
I
3�	

 "O#L 	
 "� W�f& ,�'-. I�� ������ K%���� %3O�� 
.

�"i& �& ,�'-. I��
 ����.
 "P�� ,����. "O#L :U
��	
 ,- �� �0F���	
 $J
��	


�Q�i��� "O#L ,����$ 0;G. ,"���O��� "��M��
,3�R !����

 "P��= 8�^���3�
 |E ������} U��� I�> 8��������� U���
 	
 9 EG%�� "���O��� "��M�� "
%��� "���O��� "��M��

�E/$�=�-> ��%3)& 0,09
 0,91 ���%���� ��%3O��

 �& � ����
 ��� ������� Q�=�-> I�> N�����
���=�-> q�*�$ I�� �MY.

F�IS

 "O#L I�� ,�'-. �%�� ��� ���� �8. ��� ������� �& 9�I4�
�8 W����� ,'T�� I�� ������ %3O�� ��#�O� 8. �E7 ,����6�

 ,'- "i& ��� ���� 8. E/^& 9�I� <�S!  10
10   :��
@D


 ,'T�� I�� ������ %3O�� ��#�O� 8.
 ,"i��� "O#L I��
100
100   :��
@D
 �8 W�����

 8 ��O�� R'&� K%3! U�� ��! �8�= ��� ������� % ?!C
 9�!�
 KU����� %3! �^��� I�>
 	��! U�� �&

1 710
	��! U��

K%3! U��

KU����� %3!  :����#3�� I��

 	��! U�� �& 8 ��O�� R'&� K%�� U�� ��! �8�=

 ���� I�> "�%�� ,�'-.
 "�B�)�� ��3� I�>

:����#3�� I�� 9�!�
 ,"�B�)��
1,7	��! U��

K%�� U��
K%�� %3!

   ! �x�� �F�K' �� CI�H ?0r09  ,  0r91 
/�� �� 
� �����	
 
/ �� �� �I �@�	
 l
0 .H 9 
: �B ��L
	 ����
��@ �"�	
 �� �"�#�	
 �4    z. 
- �= �g c��� �� �a

? 
� �� 
� �����	
 
� �N� �S	�
F 2 64
100  , 1 7

10  
/�� �� 
� �I �@�	
 
/ �� �� �� ���	
 �� �F��
0 �x�G
@ �" �� �\�� �0   �F�F �N�

 7
10  �, c*�� �% 1 .G �� �� 1 7

10
0r7 = 7

10  �M> �G �"�L �� �a

p?� �� �� �� �/ 
4 ?P
< �K> �� ���� �� �, c*�� �% c� 
�
,q �> �� �# �� �, � m� 
� �� �� 
 (� �� �� & �" �I�� �, 1r7 = 1 7
10    
 (8'

64
100 �, c*�� �% 2 .G �� �� 2 64

100
 0r64 = 64

100  �M> �G �"�L �� �a

p ?��[ 
4 �/ 
4 
 (P �< �K �M��� 
� �, c� �� �F �N> �, c*�� �% 
M�G �k

q �> �� �# �� �, � m� 
� �� �� 
 (� �� �� & �" �I�� �,   2r64 = 2 64
100   
 (8'

! 
� �L 
%�=�	
 
/�"�� &	' ?� �� 
� �� �� ?P
< �K> �, 
� �L 
%�=�	
 
N�I�� &	' w.CL �0 ?� �� �� �/ 
4 �M �� �@�� �� �] �< �4 �N c� �� �� R� 
� �����	
 �� �� ���	


�o 
�5:.L�� �"�H 
� �� �� �L �"�	
 
P
< �K ��
 &L �� �$
 ��	
 �� 
� �����	
 �� �� ���	
 
,> �� 
� �����	
 �� �I �@�	
 
̀ �� �0�
  1
   nK    _    >

1r62 0r07 0r2

! ���� 
��G �"�	
 �� �� 
� �����	
 �N�I �@�	
 
�
� �� ��
 CF �2 &L �� �D 
" �0>  2
0  0 1  0 2  0 3  0 4  0 5  0 6  0 7  0 8  0 9  1   >

0 40  0 41  0 42  0 43  0 44  0 45  0 46  0 47  0 48  0 49  0 50   _

 .H ����@"	
 Q�"�B �4> ,���� /4 P
<K�
 �	<G4 .H s#� 9 M� 0 90 .9 0 91 .H 9 :B�L	 ����@"	
 �"�#	

!�[4 /4 P
<K�
 �	<G4 .H s#� Q�� 0 09 .-H 0 09

34

https://school-kw.com/


 

54

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
 ,F� ?� 4� �G �����*�� 	
 "O#��� ��! �8. I�> E/��#��� F)���

 1 = 100
100  
  1 = 10

10   : �8~
 	�����=

 ���� KS�� K%3O�� U���� ��#�O� 8. E/^& 9�I4� ,����=

�c5e
 c.e �& ��! 	
 "� W�f��� ,�'-6� I��
2 64

100   >CA , 1 7
10   >7A  :��
@D


 ������ 	
 ��%3O�� ��S� ��#�O� 8. E/^& 9�I4� ,� J%�Y.
2٫64 = 2 64

100   >CA  ,1٫7 = 1 7
10   >7A  �"�%����

T ')U
  ,"M=�3�� Q�%M)�� 	
 R�� ���$ �& c1e 	
 8��������� [�#M�

 	
 "� W����� ,�'-6� I�� ������ K%���� %3O�� 8�#�O�

 ,�'-6� I�� ������ K%���� U����
 c5e
 c.e �& ��!
 "=��! 8��������� ��O�
 ,c2e 	
 � �&. �cd-e 	
 "� W�����

�U���6� �FY I�� "# ���^��� "�%���� ��3O��

 �%(�U ���o� 8. c1e 	
 ��� ������� �& 9�I4�
�E/$�=�-> %�3)$ N& K%���� U���� ��P

 ,�'-6� U�� c.e 	
 ���. ,c2e 	
 E/� k%L��
 c5e 	
 � �&. �1 � �%& ��! 	
 ��'� �%�� �&

�� J�P�
 � �%& ��! 	
 ��'� "i& �& ,�'-6� U��


# $!��P�!��	
 9���� 0�5 � $����	 � $�3� �
;)<�
c1e ��%����

 ������ KU����w� %3O�� c5e
 c.e 	
 8��������� 9�O�
 ,�'-6� U�� F3#�� 	
 8�#�O�
 ,"� W����� ,�'-6� I��

 8�#�O� ����= ,,�'-6� ��! U�� 0�M��� 	

 "� W�����
 cd-e 	
 � �&. �"�%���� �$��B 	
 KU����w� %3O��

 ,"� W����� ,�'-6� I�� ������ K%3O�� U���� 8�#�O�

 �&�! �O�= "� W����� ��OL6� U�� Jw �
. 8�#�O�


 ,�'-6� U�� �M3= K
�3� � J%3! �^��� I�> 8�#�O�

10 K. ,�'-6� ��! U�� �&�M&
 "� W�����

 ��! 	
 Q�O#��� �8. I�� ��� ������� � ?!.
 	�����=
 ,����. Q�O#L 	� cd-e
 c.e �&
 "O#L 	/
 c5e 	
 � �&. ,10 K
�3� 0�M���

100 K
�3� 0�M��� 	�����=
 ,Q�i���

�M �� �"�a
:.L�� �"�H 
� �� �� �L �"�	
 
P
< �K ��
 &L �� R$ �� �� �4 
� �� 
� �����	
 
� �N� �S	
, 
� ���� �� �"�	
 
� �N� �S	
 .H �̀ �� �0�
  1

  >  _  nK

0r6  6
100 42  42

100 2r8  2 8
10

!
�
� �� ��
 CF �2 &L �� 
� �� 
� �����	
 
�
� �� ��
 �J�4 �N �D 
" �0>  2

2  2 1  2 2  2 3  2 4  2 5  2 6  2 7  2 8  2 9  3   >

0 70  0 71  0 72  0 73  0 74  0 75  0 76  0 77  0 78  0 79  0 80
  _

:.L�� � �" 
4 ml �0 
� �� 
� �����	
 
� �N� �S	
 .H �̀ �� �0�
   3
0 3 = 3

10   >0 85 =  85
100   _0 03 = 3

100   nK

9 2 = 9 2
10   �6 53 = 6 53

100   n924 09 = 24 9
100   ,

0 12  ! ?��[ 
4 �/ 
4 
 (P �< �K �� �� �� �G �k

  J 5 4  !?� �� �� �� �/ 
4 ?P
< �K> ���FN> �, c*�� �% c� �I �" �2  |

1 60  ! ?��[ 
4 �/ 
4 
 (P �< �K �M��� 
� �, c*�� �% c� 
�
,  U18 06  ! ?��[ 
4 �/ 
4 ?P
< �K> ���� 
� �, c*�� �% �� �� �� ����
��"�k  �

!/�"L��"	
 U�F�K' \L�Xa  ~32 
� �� �= �S	
 &	' ���f���
� ? ?O���H CD �0 .H �$ �, ��
 �O
F�I�� �"�	
 �Q �B �� �h�� ��
 �6�	
 �A�B ���	
 �4   4  
35

https://school-kw.com/


 

57

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
 I�> �
%f^� 8. ��� ������� �& 9�I4� :� $���	
 U
�4

 "O#��� �8. E/� k%L�
 ,E/=��! 	
 N=�6� Q�O#���
 � �&. ,1 U���� ��+�$ 	/
 	�����=
 J;&�! "� W�f& I�
6�

 �& � J�P�
 � JU��� �^� ��� �G C> 0٫1 ��+��
 "���+�� "O#���
 �^� ��� �G �^��6 0٫01 ��+�$ "+��+�� "O#���
 ����. �%��

 	
 � W�f��� ,'T�� �8. I�� E/� � ?!. �"i& �& � J�P�
 � J��=%&
 � J�P�
 � J,'- �^� W�� �^��6 , 0٫001 ��+�� "�=�%�� "O#���

 KU����w� %3O�� ��#�O� 8. E/^& 9�I�
 ,p�. �&
�	f)��� ����
 0٫001 K%���� %3O��

HX	7 P� 0)
� K+@ , 1
1000   :��
@D


 k%L�� ,E/�/
 �& � �!���� �
�T�� ���!> E/^& 9�I4� ,� J%�Y.
�U���6� �FY I�� K%�� %3! NG�& 8�^��#� p�! E/�

�	���- :U
��	
 1�4
 ���+�$
 K%�� %3! �,�%G
 "=��! :�� �����	
 �
I
3�	


�U���6� �FY I��
�Q�O#L :U
��	
 ,- �� �0F���	
 $J
��	


 1000 �&�M& %3! ��! �8. ��� ������� k%L��
 ���. I�� E/� � ?!. ,"�%�� ���B I�� 91�O4�
 "=��O� "���O��� "��M�� "P�� 0��2��� �O��

 �,�%G I�� E/$���3��
 K%�� %3! '&�
�	f)��� ����

 ��! "���O��� "��M�� "P�� ����#3�� I�� E��4�
:	��

X	7 P� K
+@7�O� P� K
+@7/!�5 P� K
+@7J
)Y
rsss z

 '&� 9�O� 8. ��� ������� �P. �& 9�I�

��/��� K%���� U����

,3�R !����
 Q�i��� "O#L
 ����6� "O#L 8��������� 0�2�3�

������3�� �� "=�-u�

 �& � ����
 ,��� ������� Q�=�-> I�> Nd ������
���=�-> q�*�$ I�� �MY.

F�IS

 "��M�� "P�� 0��2��� E/��O&~= ���. 8��������� ����

 �K%�� U�� 	
 0�G��� "���O��� "��M�� U�T�_ "���O���
 �& ,�'-. "� �'^& 	
 NM� 4٫125 U���� 	
 5 EG%�� , J;+&

0٫005 K. 5
1000  "���O��� ����G 	�����=
 p�.

 	
 "=��B 8
�T� ��S�� ��� ������� � ?!.
 K%�� %3! 	
 EG%� "���O��� "��M�� U�T�>
 	
 �� ��! EG%�� ��#�O� 8. E/��� ���. I��

 �H�^��� 	G�= 	
 0�G�6� 8���#�3�
 ��� �'^&
�"�%���� "�B�)�� 8�O�= ��)�Pw� N& %)�=

�j �N ��	

2-2�� �� 
� ����	
 ��
� �� ��
, ?\�	> �/ 
4 �P
< �K ��


Thousandths and Decimal Numbers

 �: �L �� �a 
� �@�� �g �/ 
4 ?P �< �K RD �0 �, 0r1 
� �� 
� �����	
 
� �N� �S	�
F �̀ �� �@ �� �, 1
10 �DC� �" �� 
N�� �� ��
 
� �@�� �g �/ 
4 ?P �< �K �D �0 �M> �G �"�L �� �a  

 ?P
< �K> 
� �� �� �� &	' ��[ 
"�	
 
� �@�� �g &L �� ?P �< �K �D �0 �G �" �I �B ���	 
8�4   ,  0r01 
� �� 
� �����	
 
� �N� �S	�
F �̀ �� �@ �� �, 1
100  �DC� �" �� 
��[ 
"�	


:.	���	�0 �x
	8 
*�T ����
	 
U�@�� ��	
 �V
� �X
� ��
 �x�G
@ �" ��    ? �� 
�
��	
 �P �< �Y�	
 �Q �LC� �" �� �6�	
 �4 , ?� �#
F�M�� �4

10r1 =  1
100r01 =  1

1000r001 = 1
1 000

 1
1 000  �DC� �" �� ?P �< �K õ óæ ¡ òÁ ú õ  1 000 &L �� �D �S ���� ?� �#
F�M�� �4 ?P
< �K> 
� �� �� �� &	' ��[ 
"�	
 
� �@�� �g &L �� ?P �< �K �D �0 �G �" �I �B ���	

!p ?\�	> �/ 
4 ?P �< �K �� 
�
,q �> �� �# �� �, 0r001 
� �� 
� �����	
 
� �N� �S	�
F �̀ �� �@ �� �,
?\�	> �/ 
4 cP
< �K>?��[ 
4 �/ 
4 cP
< �K>?� �� �� �� �/ 
4 cP
< �K>c���t

1000 r
 
���
��@ �"�	
 
� �"�#�	
 
� �� ���	 �V
� �X
� ��
 �x�G
@ �" ��

:.L�� �" �0 
] 
< �4 �N 
� �F��
0 .H

! �� �� 
� �����	
 �� �N� �S	
 & �" �I�a u� �2�> ?� �N�% &L �� �̀ �� �@ �� ¡1 000 �Q �4�# �4 ?� �I �0 RD �0

R�
���
� �� 
5
 �� �I �@�	
R� 
� �����	
 �� �I �@�	
C� 
� �����	
 
� �I �@�L
	 R.
f �= �L	
 �: �� 
5

 

732
1 0000r732?\�	> �/ 
4 
 (P �< �K �M�kl�k �, 
M�G �k
, �?��[ 
" ���� ��
645

1 0000 645\	> /4 
 (P<K M��FN>, �I"2, �[4 �A�
19

1 0000 019\	> /4 
 (P<K ��� ��Ia
4

1 0000r004\	> /4 P
<K> ��FN>

 : �$ �, �� �Y�	
 
D 
" �0>

:
�
� �� ��
 CF �2 &L �� 0r027  ,  0r015  ,  0r003 ,  0r001 
� �� 
� �����	
 
N�I �@�	
 �s
B �� �4 �/C� �F
0 0 010 0 020 0 030

0 0010r003 0 015 0 027
36

https://school-kw.com/


 

58

# $!��P�!��	
 9���� 0�5 � $����	 � $�3� �
;)<�
c1e ��%����

 "�%���� ������ c5e
 c.e �& ��! 	
 8��������� 9�O�
 cd-e 	
 � �&. �	f)��� ���� IM���� K%���� %3O��

 IM���� K%���� U���� "�%���� ������ 8�#�O�
 ,cUe

�	f)��� ����

 U�-
 I�> % �L.
 ,��� ������� Q�=�-> �& Z� W!�$
 � 1-�$ ���6 "�%���� "�B�)�� ���� I�> 0�G�. 3

�p�. �& ,�'-.

c2e ��%����
 K%���� %3O�� 	f)��� E�w� 8��������� 9�O�

 IM���� K%���� U����
 cUe
 c.e �& ��! 	
 IM����
�cd-e
 c5e �& ��! 	


 "��M�� "P��= "�����w� ��� ������� �& 9�I4�
�"=�-_� I�� E/$���3�� "���O���

c3e ��%����
 �& ��! ���+�$ KS�� K%���� %3O�� 8��������� 9�O�

 ��! ���+�� �& ��P%�� 8. ��= U���6� �FY I�� \
%*��
� �F2�� �S� I�� ,'-

 �FY I�� ,'- ��! �8. I�� ��� ������� � ?!.
 ,p�. �& � J�P�
 � J,'- ��+�� IM���� U���6�

�"M=�M�& ,�'-6� ��! �8.

c4e ��%����

 8 W��& EG� ��! �/�
 NM� 	��� "� �'^��� 8��������� U ��*�
�"���O��� ����G U�T�_ %�P6�=

 ,0�G�6� ��! ���#��� "���O&~= ��� ������� % ?!C
 N& ��)B6�= ,%�P6�= 8 W����� EG%�� �w>

 U�T�_ "�%���� "�B�)�� 8�O�= ��)�Pw�
�8 W����� EG%�� "���O��� "��M��

,�
Z �����  c5e ��%����
 �
��#�3� 8. ��= "*�*��� "=�-_� 8��������� ���2�

�Q�=�-_� 	G�=
 "=�-_� 	
 �
�MY. ��S�� ��� ������� �& 9�I4�

�R
���Y� KS�� U���� 	f)��� E�w� ��M�� 8.
:! �%�F� �����

 j;! "�%���� ������ 	
 ��#�O� 8. ��� ������� �& 9�I4�
3 118

1000   c5e  8
1000   c.e :	�� � ��&

�p�. �& � J,'- 8�7;7
 q�*B "�#�  cd-e

!�[4 /4 P
<K> 10 �,�I� ���� /4 P<Y	
 ? 
��[ 
"�	
 �/ 
4 
P
< �K ���
F ?� �� �� �� �/ 
4 
P
< �K ��
 �� �Bl �� �4  1    z. 
- �= �g c��� �� �a
!\	> /4 P<K 100 �,�I� ���� /4 P<Y	
 ? ?\�	> �/ 
4 
P
< �K ���
F ?� �� �� �� �/ 
4 
P
< �K ��
 �� �Bl �� �4  2

 c*�� �% c� �� �F �N>q �> �� �# �� �,  4 125  C� 
� �����	
 
� �� ���	
 
< �4 �N 
� �F��
0 .H 
���
��@ �"�	
 
� �"�#�	
 
� �� ���	 �V
� �X
� ��
 �s�M�� �I�a   �F�F �N�

:.L�� �" �0 
Q 
4�B �N 
� 
���
��@ �"�	
 
� �"�#�	
 
��Y�' �,  p ?\�	> �/4 
 (P �< �K �M,� �� 
� �, c� �I �" �2 �, c��[ 
4 �,

?\�	> �/ 
4 cP
< �K>?��[ 
4 �/ 
4 cP
< �K>?� �� �� �� �/ 
4 cP
< �K>c���t
5214 r

����
��@ �"�	
 �� �"�#�	
0 0050 020 14

:.L�� � �" 
4 ml �0 
� �� 
� �����	
 
� �N� �S	
 .H �̀ �� �0�
  1   �M �� �"�a
0 887 ! ?\�	> �/ 
4 
 (P �< �K �M���"�k �, c� ���� �� �, ?��[ 
"
��"�k  >0 052 ! ?\�	> �/ 
4 
 (P �< �K �M�I �" �2 �, 
M�G �k

  _

 10 146 ! ?\�	> �/ 
4 
 (P �< �K �M���F �N>, c��� 
� �, c��[ 
4 �, c*�� �% c� �� �� ��   nK9 009 ! ?\�	> �/ 
4 ?P
< �K> �� �� �I
a, c*�� �% c� �� �I
a  �

:.L�� � �" 
4 wD �@
	 �C.
f �= �L	
 �: �� 
5
 
̀ �� �0�
  2
\	> /4 P
<K> ����"k, �["�FN>  0r408  >\	> /4 
 (P<K M��Ia, �klk, *��% �I"2  5r093  _

\	> /4 P
<K> ����, *��% ��� ���  16r007  nK\	> /4 
 (P<K M,���, ����"k, �["��  0r628  �

: 
���
	���	
 
̂ ,� ���	
 �/ 
4 zD �0 �Q �LC� �"�a �6�	
 �� 
� �����	
 �� �I �@�	
 
̀ �� �0�
  3
0 0 010 0 020 

00
01

00
02

> _ �nK

0 03   �  0 013   nK  0 008   _  0 005   > : �DC� �" �� �6�	
 R� 
� �����	
 �� �I �@�	

! 
� �" �� ��
 
M ���L	�
F 
M ���L �"�	
 
: �B ��L
	 ����
��@ �"�	
 �� �"�#�	
 
̀ �� �0�
   4

0r029 2r52 9r716 0r438
0 009 0 5 0 006 0 03

! 
� ���� �S	
 
� �F�K ��
 &L �� C$
 ��	
 
< �4 ��	
 �� ��
)
� �DCL ��  z.

a
8 c:�� �# �a?    5

�� �9 p ?\�	> �/ 
4 ?P
< �K> �� �� �F �N> �, c*�� �% c� �I �" �2q C� 
� �����	
 
� �� ���	
 �< �4 �N
5r004 >5r04 _5r4 nK4000r5 �

37

https://school-kw.com/


60

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
 �E7 ,"��3��� �,�%G ��� ������� �& 9�I4� :� $���	
 U
�4

 ?�%�� �& ,�'-6� "O#L I�� �?� 4� � JU��� E! :E/����
?�W�f��� ,'T�� I�� ������ %3O�� �&

2
10  ,J��5 2 :��
@D


 �& ,�'-6� "O#L I�� �?� 4� � J��=%& E! :E/����� ,����=
?�W�f��� ,'T�� I�� ������ %3O�� �& ?"i&

20
100   ,
 Q�$�!� 20 :��
@D


?�C��� ?8�i
�O�&  20
100   
  2

10  8�%3O�� �� :E/�����
 P� K
+@L
 ���R `�5 \ a�;�	
 K+^	
 #L ,��4 :��
@D


 P� K
+@L
 ���R `�5 \ a�;�	
 K+^	
 ]��4 �� /!�5
H�O�

 	
  20
100  
  2

10   ��%3O�� ��#�O� 8. E/^& 9�I4� ,� J%�Y.
���i
�O�& ���%�� ��%3! ��T�^�3�� "�%���� ��/$��B
 , 20

100  = 2
10   , 0,20 = 20

100   , 0,2 = 2
10  :��
@D


0٫20 = 0٫2 
 QZ�
�	���- :U
��	
 1�4

 "�%���� ��3O�� 0�/)& n�-%���� :�� �����	
 �
I
3�	

�"i
�O����

 "O#L ,Q�i��� "O#L :U
��	
 ,- �� �0F���	
 $J
��	

�����$ 0;G. ,����6�

 	��� "�%���� ��3O�� �8. I�� ��� ������� � ?!.
 "�%�� � J��3! I ��34$ �/3)� "� ��O�� ��+�$

�"i
�O�&

�j �N ��	

3-2���[
H�@�� �"�	
 �� �� 
� �����	
 ��
� �� ��


Equivalent Decimal Numbers

 �: �L �� �a!:0 0r20 �� �H�I �4 
Q �L	
 ���� �� �s�M �B �, :0 0r2 �� �H�I �4 
/" ����	
 ���� �� �s�M �B , 
� �#�� ���	
 .H 
] R<�G��	
 �P�G �k>
? ���� �0> (� �H�I �4 �s�M �B �" �- R�>

: �̂ 
� ����
	 �M 
N�B
! 
���
����	
 
� �@�� ��	
 .H 0r20 �DC� �" �� �4 �M C��	 �, ,&	, ��
 
� �@�� ��	
 .H 0r2 �DC� �" �� �4 �M C��	 ,.	���	�0 ?U�@�� �g �� 
e ��> 

0r20 = 0r2  
 (8' ,�- �I �= �� ���� C" �@�	
 
MlC� �" �� 0r20   ,   0r2 �M> �o 
�5 
!�- �I �= �� �� �H�I �"�	
 
Q �L	
 ���� �� �, 
/" ����	
 ���� �� �s�M �B  
 (8'

! 
/���[
H�@�� �4 
/�� �� 
� �� �� 
/�� �� �I �0 0r20   ,   0r2 & �" �I��
! (��[
H�@ �� �4 (� �� 
� �� �� 
 (N�I�0 & �" �I�a �- �I �= �� ���� C" �@�	
 �DC� �"�a .��	
 �� �� 
� �����	
 �N�I �@�	


? 
M�[
H�@�� �4 
M� �� 
� �� �� 
M
� �� �� 3r40   ,  3r4 �D �9  �F�F �N�

 3r40 = 3r4 �M�@�� �H ,0r40 = 0r4 �M> �:�L �� �� �, , 
/�� �� �� ���	
 l
0 .H 3 �� �9 �.CL �@�	
 �� �� ���	
 �M> �o 
�l��

 ! 
M�[
H�@�� �4 
M� �� 
� �� �� 
M
� �� �� 3r40  ,  3r4  
 (8'
! ?��[
H�@�� �4 
��� �� ?� �� 
� �� �� ?�
� ��> �, ?��[
H�@�� �4 ?� �� 
� �� �� ?�
� �� 
� c� �L
� �4> .L�� �4 .H


M�[
H�@ �� �4 
M� �� 
� �� �� 
M
� �� ��
/���[
H�@ �� �4 ���� �� 
M� �� 
� �� �� 
M
� �� ��
3r600   ,   3r61r009   ,   1r9

 �x�L
a , C� 
� �����	
 
� �I �@�	
 
/�"�� &	' ?N�= �%> 
̂ �6 �� �,> 
� �H�T�
F ?��[
H�@�� �4 ?� �� 
� �� �� ?N�I��0 &L �� �$�S ���	
 /
@ �" ��
!
6 �@9 �, 0r100 = 0r10 = 0r1  (l�� �4 , C� 
� �����	
 
� �I �@�	
 
� �"�B �/ 
4 ��C� �h �a 5 �N�= �% ��


38

https://school-kw.com/


61

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
F�IS


 8�! �C> �& ���*�� ���. 8��������� ���� �%M)�� RS� 	

 U���� "���M�= �
.�#� 8. E/��� ,��i
�O�& 8��%�� 8�U��

 U���� �8. 8�fP;� IM���� �+��� 	
 , J;+& �	��O��
 ��= 8����M� 	�����=
 ,��U���� ;! 	
 �3)� �� 3 	 ��O��

 �8. 8�T�^�3�
 ,��i
�O�& ��/��. ��!���� 0٫40
 0٫4
�8�i
�O�& 8��%�� 8�U�� 3٫40
 3٫4

 I�� ���*�� �O�� ���. ��� ������� k%L��
 ��)B. \SP 
. "
�A~= "i
�O�& "�%�� ��3!

 �8. I�� E/� � ?!.
 ,K%���� %3O�� ���� I�>
�K%���� %3O�� "��G �& %��`$ w ��)B6� <�$

 "�+&6� ��P%�� 8. ��� ������� �& 9�I4�
�R�� ���$ �& I�> U�^��w�= �
�T�� 	
 ��M����

T ')U
 ����. 3 I�
6� "O#��� 	
 8��������� � ��f� ,cre 	

 	

 ,"i& �& � J��=%& 30 "���+�� "O#��� 	

 ,�%�� �&

 ��= 8����M� �E7 ,"i& �& Q���=%& 3 "+��+�� "O#���
 ��%3O�� F��*�� Q�O#��� ��! 	
 "� W����� ,�'-6�

 8��������� 9�O�
 c2e 	
 � �&. ���i
�O���� ���%����
 ��M���� h%Y6� U���6� N& "i
�O�& "�%�� � JU���.
�K%���� %3O�� ���� I�> ��)B. \S*= 
. "
�A~=

 9#3= c2e 	
 ��� ������� Q�=�-> �& Z� W!�$
��/
;�Y�

# $!��P�!��	
 9���� 0�5 � $����	 � $�3� �
;)<�
c1e ��%����

 |E ������} U��� 	
 R�� ���$ �& 8��������� 0�2�3�
 
. ��%3! ��! 8�! �C> �& ���*�� "M=�3�� Q�%M)��


���i
�O�& %�� 0. ��i
�O�& ���%�� ��U��

 �3)� �� 	��O�� U���� �8. I�� ��� ������� � ?!.
 ,cd-e �& ��! 	
 ���%���� ��U���� ;! 	


�cd�e ,cUe

�o 
�5
! 
/���[
H�@�� �"�	
 
/�� �� 
� �����	
 
/ �� �� �I �@�	
 
U C� �� �:�k ,.L�� � �" 
4 wD �@
	 �� 
� �����	
 �� �I �@�	
 �DC� �" �� �4 �DCL ��  1

 

0r03 0r30 0r3

:.L�� � �" 
4 wD �@
	 �P&
H�@ �"�	
 �� 
� �����	
 �� �� ���	
 
̀ �� �0�
  2
0 80 = 0r8  >7 2 = 7r200  _0 010 = 0r01  nK

  �M �� �"�a
:.L�� �"�H 
� �� 
� �����	
 
�
� �� ��
 �/ 
4 ?� �, �J CD �0 
̀ 
��K &	' ~ 
/���[
H�@�� �4 ���� ��� �,> ~ 
M�[
H�@�� �4� �̀ �� �0�
  1

M�[H�@�4 0 90   ¡   0 9  >M�[H�@�4 0 300   ¡   0 30  _/�[H�@�4 ��� 9 08   ¡   9 8  nK

M�[H�@�4 1r50   ,   1r5  �/�[H�@�4 ��� 7r001   ,   7r01  n9M�[H�@�4 0r60   ,   0r600  ,

:.L�� � �" 
4 wD �@
	 �([
H�@ �4 � m� 
� �� �� 
 (� �� �� �̀ �� �0�
  2
0 90  0 9  >0 750  0 75  _5 30  5 3  nK

0 04  0r040  �6 60  6r6  n91 3  1r300  ,

! ���[
H�@�� �"�	
 �� �� 
� �����	
 ��
� �� ��
 
U C� ��  z.

a
8 c:�� �# �a?   3

3r14    >
3r140
3r014

0r500   _
0r005
0r50   

0r012   nK
0r12   
0r120

39

https://school-kw.com/


 

64

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
 �E7 ,"��3��� �
.%M� 8. ��� ������� �& 9�I4� :� $���	
 U
�4

�"i��� Q�O#L �& ��! ���+�$ �& �
U ��*� 8. E/^& 9�I�
 ����	
� 0٫42 J0�	
 \$_�� `	�L
 ����	
 :��
@D


0٫51 J0�	
 \$_�� ��4
_	

 	
 � W�f��� ,'T�� �����M� 8. E/^& 9�I4� ,<�C ��=

 "���+�� "O#��� 	
 � W�f��� ,'T��= I�
6� "O#���
 ���%���� ��U���� ��= 9 ���^��� "G;��� '&� ��T�^�3��

0٫51 > 0٫42 :��
@D
 0٫51
 0٫42
 ��U���� �& ��! NG�& I�> �
%f^� 8. E/^& 9�I4� ,� J%�Y.
 KS�� U���� �8. E/� k%L�
 ,U���6� �FY I�� ���%����

  �8~
 	�����=
 ,%#!6� 8�O� %Y{� U���� ���� I�> NM�
0٫51 > 0٫42

�	���- :U
��	
 1�4
 "�%���� U���6� ��= "���M��� :�� �����	
 �
I
3�	


�U���6� �FY 
. Q�i��� Q�O#L 0��2���=
 �FY ,Q�i��� Q�O#L :U
��	
 ,- �� �0F���	
 $J
��	


�U���6�

 ��)B6� \SP 
. NA
 �8�= ��� ������� % ?!C
 "��G �& %��`� w "�%���� ,�'-6� ���� I�>

 :	�����! J;+& E/ �M�.
 K%���� %3O��
0٫400 = 0٫40 = 0٫4

 |0٫51 > 0٫42} �8. I�� E/� � ?!.
 �/3)� "G;��� �� 8�%�#�$ |0٫42 < 0٫51}


 �& %`B. 0٫42 .%M 4$ I�
6�
 ��U���� ��=
 %&6� <�S! 0٫42 �& %#!. 0٫51 
. 0٫51

�"���+�� I�> "#3^��=
 �� ������ I�> �����=� �� ��! ���. I�� E/� � ?!.

�%#!. U���� q#B. U���6� �FY I�� %)���

F�IS

 ��= "���M��� "�)�! �%M)�� RS� 	
 8��������� % �!S��

 J;+& ,"���O��� "��M�� "P�� 0��2���= ���%�� ��U��
 	
 �3)� �� U�P{� "� �'^& 	
 EG%�� IM���� ��+��� 	


 ,�'-6� "� �'^& 	
 EG%�� %&6� <�S! ,c2e ��U����
 , c6e "i& �& ,�'-6� "� �'^& 	
 EG%��
 c3e �%�� �&

 ,�'-6� "� �'^& 	
 0�G�6� ��= �����M� 8. E/��� 	�����=

K. 4 < 8 �8. ��=
 ���U���� ��= "���M��� p�. �&

2٫364 < 2٫368 �8. 8�T�^�3� 0٫004 < 0٫008

 U���. ��= "���M��� �^� ����= ��� ������� % ?!C
 	
 0�G�6� "���M�= �
.�#� 8. E/��� "�%��

���3��� I�G. I�> "�'^���

�j �N ��	

4-2


� �� 
� �����	
 
�
� �� ��
 �� �� �N�# �4
Comparing Decimal Numbers

 �: �L �� �a, 
� �#�B ��	
 �/ 
4 0r42 .H 
��� CI	
 �� �H�I �4 ���� �� �A���M �B , ?��4 100 
� �H�I �"
	 
� ���� CI	
 
� �# �F�I �4 .H
? 
��� CI	
 
� �H�I �4 
s�M �#
	 �D �B> �(G �4 �J �A�B �� �h�� ��
 �" �-�G 
4 �/ �4 ! 
� �#�B ��	
 �/ 
4 0r51 .H �: �� �� �4 �-�� ���M �B �,

0r51  ,   0r42  �/�� �F �M 
N�#�� , �D �B> ?/ �4 �<
F �� �H�I �"�	
 
A���M �B �/ �4 
� �H 
� �� �"
	
 !
�
� �� ��
 �F �2 �,> 
��[ 
"�	
 �� �@�� �g �V 
� �X�� �I��  , 
/�� �� 
� �� �� 
/�� �� �I �0 �/�� �F 
� �� �N�# �"�L
	


��[ 
"�	
 
� �@�� �g 
V
� �X
� ���
F : (5 �,>
! 
/�� �� 
� �����	
 
/ �� �� �I �@�	
 �/ 
4 zD �0 �D�� �" ��

0r51 0r42
 0r51 > 0r42 �M> �o 
�5

:
�
� �� ��
 CF �2 
V
� �X
� ���
F :�(�
��k

0 40 0 42 0 45 0 50 0 51 0 55

�� �h �% ��
 ���� �0 ��


0r51 > 0r42 �M> � (e��> �o 
�5
! �D �B> ?/ �4 �J .H �� �H�I �"�	
 
A���M �B .��	
 �. 
9 ���� ��  
 (8'

 
� �� �N�# �"�L
	 
���
��@ �"�	
 
� �"�#�	
 
� �� ���	 �V
� �X
� ��
 �x�G
@ �" �� 2r364 , 2r368 
/�� �� 
� �����	
 
/ �� �� �� ���	
 �/�� �F M 
N�B   �F�F �N�

 !�" �-�G�� �F

 

?\�	> �/ 
4 cP
< �K>?��[ 
4 �/ 
4 cP
< �K>?� �� �� �� �/ 
4 cP
< �K>c���t
8632
4632

r

0 3 = 0 3
0 06 = 0 06

0 004 < 0 008

2 = 2
r

2 364 < 2 368  
 (8'  

! 
N�I���	
 &S�B> �/ 
4 
� �� �N�# �"�	�
F �> �� �F

   �� �0 �6�a

40

https://school-kw.com/


 

65

�5 $���� �M�47U
��	
 9���� 0�5 � $����	 � $�3� �
;)<�
T ')U

 �&
 |E ������} U��� �& R�#3�!� �& 8��������� 0�2�3�
 K. ,��M���� "�%���� U���6� ��= "���M��� |F=�4�} �%M


 "��M�� "P�� 
. U���6� �FY 
. "i��� "O#L 0��2���=
�"���O���

 �& � ����
 ,��� ������� Q�=�-> �& Z� W!�$
 U���6�= E�% ?!C���=�-> q�*�$ I�� �MY.

 I�� � ?!.
 c5e 	
 "i
�O���� "�%����
 �& �C> cUe 	
 "���O��� "��M�� "P�� 0��2���

�"=�-_� 	
 �
%�+�$

,3�R !����
 	
 �3)� �� U�P{� "� �'^& 	
 EG%�� �8. 8��������� k%��

 3
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 @�!�� 0�< � %����	 � %�9� �
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,��� ���! 5�*���
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# � ��I Q�R)�� ��T� U* "���1
u 848 ^���� �' 5 642 ^���� ��1,M� 5! U_���

 v�[� ,�0�I^ �A�(# "�# 5�(��3� q U_��! U_� J,$��
�,��0��� "�# 5
�9���

   ?5 642 
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�	
لة ÇلمئاÃ Êكبر من 5 �� ö8 في منز %$E

 :U_���� �Uw �' 5I	> J�'> K	� �� L��� 9 000 ≈ 8 848

��: E$% 6 في GH
  ?6 000 "�# 5 642 ^���� H M, 8I �O���
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لة ÇلمئاÃ Êكبر من 5 �� öمنز

 ��R�K� J,I i)�� �5! U_� J,$�� ,� N,�-! 5I	> J�'> K	�
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 &�9�� ,�4��� k,��0��� i)�P�� e!g 	
 5��������� �9�
 �8 000 ^����A ������0� �Uw ,4 961 + 2 350
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 ,6�a��� �1! 	
 ����4' ��W1 	
 5�4�,� ��[��
 6����� U_�;� ��[�� ��� �9���� ^��A ������0� �Uw

 ��A�(B�

 i)�P�� 5�* �O# ���! "�� ��� ������� � M*!
 v�[
 ,4 000 �' ,4*! &�9�� k,��0���

 S��- 5�04�� ��� �9���� ��A �5! "�� ����
�6�����

eSg ��,����
 �R��- S,A Q�R)�� ��T� � N,�' U* ^�9�% ���! 5��������� |���
 k,��0��� i)�P�� �
�9� 5! U_��� ,� N4�,0) ,�,3��� S,A ��
 "�# 372 
 828 ��^���� �' �Y* 6�,0) ��A 372 - 828 x�
 S,A
 ,�,3��� S,A Q�R)�� ��A j,R�� ,��0�� � �'! ��>' H,I!
 187 - 372 x� k,��0��� i)�P�� �
�9� 5! U_���
 ,�,��0��
��>' H,I! "�# 187
 372  ��^���� �' �Y* 6�,0) ��A

 y��T� U=Az ���4��� �5�A ��� ������� , M*O
�J,M�� "�� 5 �q�� yj,R��z ���=��


:0��� � �) 
� nc �. �P 
) �$�7
	 {= �!= > �!= <} �l�7 �.�
 : �, #� �b  2
8 000  >   4 961 + 2 350  =

15 000  <   18 003  -  39 615  t

351  +  1 749  =   2 100  p*


��"
+���	
 
� ���) �4 �)�	
 
�
� �1= �� �� �� �! � @� #4 �� �� 1 928 U	! ��
 
� ���) �4 �)�	
 
�
� �1= �� �� �� , �R"� #4 �� �)�	
 �R 
� 
2�7 ���) �4 ��   3
? �k
	u �: �B�I
$ �) �� �P �B �1 , ;( #4 �� �� 4 000 
p	 �( �O�� �K�" �� 
l
�c �)�	
 
� ��= 01 ;�
,�3 �� 
,�~ �� 01 
�3 
� �, ,� @� #4 �� �� 1 024

> 
<
S aO	
 
R �� �l 
*= �! �R"� #4 �� �)�	
 #P �. �� �� �� �, #� �b
82910002

+4201+0001
0003

>�
,�3)	
 ,�~� :BI$)� 
 @u^   4 000 > 3 000

 > 
��"
F �� ���	
 
< �! a�	
 
����F 01 
E
��F ��
 
����F 
8���-
A �,
 �< �! �� �4�	
 �R#"�3 ��   4
���	 �! ��	
�E ���3�	
�_�-
A �, 
/

�L�� �� �$�	

��� �6�7	
 �E ���Fã 372

�� �� 
6�7 �)�	
 ���"
F �� ���	
 �8
,�� �G
�� �-"� �D �E ���Fã 828

�� �M 
�
� �� 
����	
 �E ���Fã 187

 : 
��"
	��7	
 
� ��
T �] ��
 
R �� �l 
*= �! �< �! �� �4�	
 
? 
� �h�7 �]


> 
��� �6�7	
 
E ���F �R �� �� �-"� �D 
E ���F �_�-
A �,
 ���X �� 
 @�7� �: �$
F �, #� �b   =

ã 400  = 400 - 800 ≈ 372 - 828

>
� �� 
����	
 
E ���F �! 
��� �6�7	
 
E ���F 
_�-
A �,
 �R�" �F �d �� �-�	
 
, #� �b  t
ã 200  = 200 - 400 ≈ 187 - 372

 

48170027
+291+002

0047

 : �f 
������7	
 �[
A��I	
 
� 
* �!=  o0

A
u �:"" �� �A?    5
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�< %���� �M�;>U
��	
 @�!�� 0�< � %����	 � %�9� �
A*B�
�	���( :U
��	
 1�;

 &�( i)�� ^�9�#
 ^�� Y�2�) :�� �����	
 �
6
9�	

�k,��0��� &�9�� i)�� ^�9�# ,��^��

�^���' ,�RI�- &�( <�I�MA :U
��	
 -. �� �03���	
 %7
��	

 ���! 5�*���
 ,���;��� 5��������� !,0� :� %���	
 U
�;
 54 271 921 + 59 323 368 i)�� ^�9�# U_���

 5�?1a� �Uw ,��'���� 	
 ��,
�;��� ^�� Q��9' ^�9�%
�Q��9��� ^�9�% ����=��� ���0�� �1�� D��E���

 ,�4�) �A��=A Q��9��� ^�9�# U_��='�A ���! U_� J,$��
:������� <��ME�� Q�4�)�
 	�!� Y=�A &�9��

9 = 1 + 8 �P� , ^�1o� &�( :1 /�M3	

8 = 2 + 6 �P� ,<�,���� &�( :2 /�M3	

12 = 9 + 3 �P� ,<�>��� &�( :3 /�M3	


 U_��� 	�����A
 ,9 �' ,4*! 12 i)�P�� �5! 5�?1a�

�p��K� ^�1r 1
 �>' 2 xxA �>' 12 ���;) �^��#

5 = 1 + 3 + 1 �P� ,p��K� ^�1r &�( :4 /�M3	

9 = 7 + 2 �P� ,p��K� <�,�� &�( :5 /�M3	


5 = 2 + 3 �P� ,p��K� <�>' &�( :6 /�M3	

13 = 4 + 9 �P� ,���a��� ^�1r &�( :7 /�M3	


 ���a��� ^�1r 13 ���;) �^��# U_��� ���! 5�?1a�

����a��� <�,�� 1
 ���a��� ^�1r 3 xxA

11 = 5 + 5 + 1 �P� ,���a��� <�,�� &�( :8 /�M3	

 ���a��� <�,�� 11 ���;) �^��# U_��� ���! 5�?1a�


����a��� <�>' 1
 ���a��� <�,�� 1 xxA
1 = 0 + 0 + 1 �P� ,���a��� <�>' &�( :9 /�M3	


�� N,
�;' 113 595 289 ��'���� 	
 ��,
�;��� ^�� 5�=� ,� NO#

 &�9A \�4�� ��
,WA ��� ������� , M*O
 �[=�
 ,<�>��� �Uw ,<�,���� �Uw ,<��1���

�v���
^
 &�( i)�� 5�=� �'�P� ���! "�# U_��4��� tR���

 U_
 ,10 k
�;� 
! ,4*! �' �� �TP' 	
 D�I�!
����;) �^��# "�# �(�3A

�q �, ��	

2-3

�: �� �� �A
�R��
1�O �)�	
 �� �� �� �! ,
 @�
1�O �� 59  323  368  
?
� �� ��
 
� ��= 01 �R��
1�O �)�	
 �� �� �� �2= �0�F �� �,�M �� �R�� ��=

? 
R�" �����	
 01 �R��
1�O �)�	
 �� �� �� �: �$ �1 ,
 @�
1�O �� 54  271  921 �J�	 
�
F� �O	
 
?���	
 01

?  = 54  271  921 + 59  323  368

: 
��"
	��7	
 
8
��M �h�	
 
_�3 #A�
F �( �) �4�A �2= �k�I
$ �) ��

����r�8
� �� ���8�T 
� ����r
��	� ��

 �8
� �� ��
��	� ��


 �8�T 
�
��	� ��

 ����r


R"�c)�	

 �8
� �� ��
R"�c)�	


 �8�T 
�

R"�c)�	
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8    
1 +

6
2

3
9

3
1

2
7

3
2

9
4

5
5

9   82595311
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8
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( �) �*

  2

>
� �$� �! >>> 
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( �) �*
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� �*�6�	
 ���I 
� ���" 
) �O�7	
 
� 
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����F 01 �E�7 �6�A �b   �� �. ���A
 
��" 
) �O�7	
 
� ����^ U	^ 
2�" �� ��


> ;��	 
X�I �� �R 
� ���� �.= 01

 113  595  289 = 54  271  921 + 59  323  368

 : �k
7 �F�*^ 
��"
	�� �� �� �R 
� �� �� �6�7�7
	 �f 
������7	
 �[
A��I	
 
� 
* �!=
8633239500000006

+12917245+00000005 000000011
> ���	�� �� �� �� �F�* �G
 0	��7	�
F �! ,110  000  000 
� �� ���	
 �R 
� �l�� �b 113  595  289 �� �� ���	
 �2= �z 
�/

>
 @�
1�O �� 113  595  289 
R�" �����	
 01 �R��
1�O �)�	
 �� �� ��  
 @u^


��" #� �$�	
 
�
� �� ��
 �( �) �*
Adding Whole Numbers
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�< %���� �M�;>U
��	
 @�!�� 0�< � %����	 � %�9� �
A*B�
 59 323 368 ��^���� �' �a* 5�A �,0� ,� N,�-!

 i)�� ^�9�% ���a' �,�� H,I! "�# 54 271 921 

��A�(%� ����0�' �' � �*���� v�O
 ,k,��0��� ��_��(

�	���( :U
��	
 1�;
 ^�9�# ,��^�� &�( i)�� ^�9�# :�� �����	
 �
6
9�	


�k,��0��� &�9�� i)��
�����=��� ���0�� �1�� :U
��	
 -. �� �03���	
 %7
��	


 .�I��� i)�P�� 5�* �O# ���! "�� ��� ������� � M*!
 i)�P�� �A�(# 5�=) ,k,��0��� i)�P�� �' �N4�,I

����0�' .�I���

$ %���Q����	
 @�!�� 0�< � %����	 � %�9� �
A*B�
eVg ��,����

 	
 	�!,�� Y=���A &�9�� ,�4�) i)�� 5��������� �9�
 	
 �������) 	��� <��ME�� Q�4�)�A e^g ,ex(g ,eHg ,e!g
 i)�� 5��������� �9�
 e
g
 ex�g 	
 � �'! �yU ������z U���

 �' 5��������� . �03�� ,	0
K� Y=���A &�9�� ,�4�)
 i)�P��A �����0'
 k,��0��� i)�P�� ^�9��A �A�(%� ����0�'

�.�I���

 ���;��� �^��# ����='# "�� ��� ������� � M*!
��(�3�� t�^ �' �O# � �,' �' ,2*!

 5�=� ,R~ &' ^�� �k! &�( �P� ����A U�, M*O
��;R� ^���� i)�P��

 ��^�� &�( i)�� ,��0) �P� ����A U�, M*O
 	�
 ,�_;R� �� �TP��� "�# ��_P' �Y* H V,08�

 ,'K� v�[* ���^���� ,}~K �� �TP' ,4*! �^��
�e^g 	
 ��* ^���! �waw &�( i)�� ,��0) �P�

e2g ��,����
 Q��9' ^�9�% ���! 5��������� |��� ,���;��� �\�,I ��A

 5! U_��� ,��'���� 	
 k,�E�� Q
,���� <�� �,4���
 ���0' &' � �
K� D���� 	
 <�� �,4��� ���0' ����9�

�	��2�� D���� 	
 <�� �,4���

��' 6�I�
 ,��� ������� <�A�(# �' {� V*�)
 �O��� ��*���� ,��0��� D��E��� �M-!

 ����0�' ,�� U_)�A�(#

�2 �� �)�A
> �k
7 �F�*^ 
��"
	�� �� �� �R 
� �� �� �6�7�7
	 �f 
������7	
 �[
A��I	
 
� 
* �!= �:�m , �[
A��I	
 
� 
* �!=  1

6215700008
+71091+00002

34149000001
 =294056000007

+127786+000007
31283310000041

  t

40092530000053
+697089+0000001

00890540000054

  p*500284000284
69310001

+563071+000071
667356000356

  �

342 985 = 137  591 + 205  394  p�
493502000012

+195731+000041
000053

1 061 381 = 741  509 + 319  872  !
278913000023

+905147+000047
0000601

 �,
� �� 
� �2�.! ,
� ��"� �-�	
 
< �! a�	
 Q� ��^ 01 jf 
��" �D ;_!� �� �� 
P �) ��
	 
8�� a��3�7	
 
( �) �4
F 
� �� 
��" �h�	
 
8��" 
� �) �4�	
 Q� ��^ �L ���b   2
 >
 @,�I�� 160  512 0+���	
 
? ���"�	
 01 �! ,
 @,�I�� 142  982 
< �! ��
 
? ���"�	
 01 
8�� a��3�7	



 @,�I�� 303  494 = 160  512 + 142  982 :Ê Ç _�)4�  ? 
R�" �� ���"�	
 01 
_!� �� �)�	
 
�B
	 
8�� a��3�7	
 �_�) �4 �� ��

6  309  074   ,   9  008 435  �( �) �*

    o0

A
u �:"" �� �A?     3

15  317  509 = 6  309  074 + 9 008 435
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111 1111
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111 11
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�< %���� �M�;>U
��	
 @�!�� 0�< � %����	 � %�9� �
A*B�
 U_��� ���! 5�*���
 ,U��P�� 5�� ������� !,0� :� %���	
 U
�;
 F�3��� �1�;' �0P) U* �
,��� J,M�� ����� D��E���

 5�?1a� �Uw ,k^�_�� F�3��� �1�;' �� 	;�IK�
�J,M�� i)�� ^�9�% ����=��� ���0�� �1�� D��E���

 Q�4�)�A J,M�� i)�� ^�9�# U_��='�A ���! U_� J,$��
:������� <��ME��

0 = 0 - 0 �P� ,^�1o� J,I :1 /�M3	

0 = 0 - 0 �P� ,<�,���� J,I :2 /�M3	


7 = 0 - 7 �P� ,<�>��� J,I :3 /�M3	

4 = 0 - 4 �P� ,p��K� ^�1r J,I :4 /�M3	


1 = 0 - 1 �P� ,p��K� <�,�� J,I :5 /�M3	

 5�?1a�
 ,5 - 2 �P� ,p��K� <�>' J,I :6 /�M3	


���;) �^��# "�# S��3� 	�����A
 ,5 �' ,}~! 2 �5!
 G�! �>' 5 J,MP
 ,p��K� <�>' 10 xxA ���a��� ^�1r 1

���I�4�� p��K� <�>' ^�� 6�=�
 G�! �>' 12 �'
 5�?1a�
 ,6 - 5 �P� ,���a��� ^�1r J,I :7 /�M3	


 ^�1r 10 xA ���a��� <�,�� 1 ���;) �^��# U_��� ���!
 ^�� 6�=�
 �N����' 15 �' ���a' 6 J,MP
 ,���a���

���I�4�� ���a��� ^�1r
5 = 0 - 5 �P� ,���a��� <�,�� J,I :8 /�M3	


 0 = 1 - 1 �P� ,���a��� <�>' J,I :9 /�M3	

 �1�;' �� 	;�IK� F�3��� �1�;' �0P) ,� NO#

�&�A,' ,�'���* 59 714 700 ���0�A k^�_�� F�3���

 �^��# �P� ���! "�# ��� ������� Z�4��� tR���
 ,p��K� <�>' 10 xxA ���a��� ^�1r 1 ���;)

 10 �P' J
,M��� p��! <�>' UI� ��T�
 �^��# �P�
 ,1 �P��a' ^�1r UI� �0P�


 ^�1r 10 xxA ���a��� <�,�� 1 ���;)
 �P' J
,M��� ���a' ^�1r UI� ��T� ,���a���

�1 �P��a' <�,�� ^�� �0P�
 10
 J,I 
! &�( i)�� ,��0) �P� ����A U�, M*O

 ,�_;R� �� �TP��� "�# ��_P' �Y* H V,08� ��^��
 �=�
 ,��^���� ,}~K �� �TP' ,4*! �^�� 	�


 ���a' �,�� H,I! "�# �PA �,I ,U��P�� �[� 	

 �.�I��� i)�P�� "�# H,I! 5�=�� i)�P�� �5K

 ���) y�0P) U*z ���=�� �5! "�� U_� � M*!
�J,M�� ����� "��

�q �, ��	

3-3


��" #� �$�	
 
�
� �� ��
 �% ���I
Subtracting Whole Numbers

�: �� �� �A
�F"6 �)�	

(�F �� �)�	
 
��7 
���"$�	�
F �� ���O 
)�	

f��B�	
166  214  700
a0 
O�� �I ��
106  500  000
af 
��I 
B�	
73  556  000

a0
F�I �4�	
 �� #) �4�7 �)�	
20  327  000
a0
	�) ��	
 �� #) �4�7 �)�	
14  000  000

 , 
� �, ��
 
l�. �� �. U� �� 
��" �6�	
 
��* �! �q�]= �� �� �H�)�	

>�@3�� �� �A �B 
6�M �] 
_�F �,= �� �mc�m 0�M�w ��


g�M �] U� �� 
8�M"6 �)�	
 ����F �� ���O 
� �P
F�� �)�	
 �< �! �� �4�	
 �g #Y �� ��
  > 
��" 
Y �, ��
 
� �� �$�	


?f��B�	
 
F"6 �)�	
 
� ���O 
� �R �� #0 
O�� �I ��
 
F"6 �)�	
 �� ���O 
� �����I �A �: �.
?  = 106  500  000 − 166  214  700
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��"
	��7	
 
8
��M �h�	
 
_�3 #A�
F �% ���M�A �2= �k�I
$ �) ��
����r�8
� �� ���8�T 
� ����r
��	� ��


 �8
� �� ��
��	� ��

 �8�T 
�
��	� ��
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� �� ��
R"�c)�	

 �8�T 
�
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>
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8�T 
)�	
 
% ���I

  3

� �*�6�	
 ���I 
� ���" 
) �O�7	
 
� 
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 59  714  700 = 106  500  000 − 166  214  700
 
����F 01 �E�7 �6�A �b   �� �. ���A
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) �O�7	
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2�" �� ��

> ;��	 
X�I �� �R 
� ���� �.= 01

 
:0	��7	
 
_�3 #A�
F 
� �F�* �G
 
� �6 
x �R 
� �� a� �6�7	
 �k�I
$ �) ��

00741795
+000005601 007412661
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> ;(�F �� �� ;�7���". 59  714  700 
,
� �� 
)
F f��B�	
 
F"6 �)�	
 
� ���O 
� �R �� #0 
O�� �I ��
 
F"6 �)�	
 �� ���O 
� �����I �A ,0	��7	�
F �!
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 U� �� a< ���A �8�)
� �.  �� �. ���A
, �% ���I

 : 
% ���M	
 
��"
� �) ��

 �: �$
F ,0b�3�	
 
: �. , �d �� �-�	
 ��
> �����I �� �: �$
 F , �� ���� 
̀  �� , ���X ��

 ? #0
F�I �4�	
 
� #) �4�7 �)�	
 
F"6 �)�	
 
� ���O 
� �R �� #f 
��I 
B�	
 
F"6 �)�	
 �� ���O 
� ���X�A �: �$
F �F�F �,�
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3 36 = 3 64 - 7    > 
[
A��I	
 
��"
	�� �� �� �R 
� 
� a� �6�7�
	 �, #� �b �:�m ,7 �R 
� 3�64 
% ���I �[
A�+ �� 
* �!=  2

?�\ ���I 
� �0 
� �F 
��)���	
 �R 
� 
 @�7� �: �. ,
 @�7� 18�7 �B�I 
� �k�� �B�7 �]

 , 
��)���	
 �R 
� 
 @�7� 37�4 ;U��" �D ���I 
�   3

 @�7� 18 7 = 18 7 - 37 4 :0b�3	


 
��T
1 �R 
� ;� �� 
� �� �+ ;d
, �!= 3 �L�� �1 �� 
u^ >
 @,�I�� 27�250 �� ��") �* 
� �,�A�1 �� �)"b �L�+�. 
� �� 
,�4#7	
 
8 �c �6 �)�	
 
� ��= 01   4
,�I�� 2 750 = 27 250 - 30  
 @,�I�� 30 = 10 × 3 :0b�3	
 ? �(
��3�	
 �B�"�	^ ��"� �� 
 @,�I�� �: �$ �1 , ��"+�+ �� 10

> �k�7 �F�*^ �� #O�1 ? �� �6"6 �x �B�7 �F�*^ �) �B a�= , 0�39 − 1�46 �[
A�+ ���� �D �! �� �)"I �� �R 
� oP �. �8 �� �* �!=   5
>9 R� 6 L��I �)"I� 2� ,���D

641
-930

701

���� �D

641
-930

311

�� �)"I ��

{50 
� �6 �- �M	
 U	^ ���V�+�
}  >�B�� �� �k�	 ;P"� �̀  �R 
� �l�� �I
 �:�m , jf 
� �� �� �!= j0#� �. �� �Dr �R 
� jf 
� �� �� ;� �� �� 
% ���I ���	� �O �� �l�7 �.�
   6  
>R")��7)	
 8�F�*^ y�7hA

316

8 134 100 12

1013010991
0000

61

https://school-kw.com/


 

103

�< %���� �M�;>U
��	
 @�!�� 0�< � %����	 � %�9� �
A*B�
 ,�4���� U_P=�� ���! 5��������� |��� :� %���	
 U
�;

 eHg
 e!g �' �Y* 	
 U_A��* 	
 �V�4��� Y�2���� ��
�J,M�� 
! &�9�� D��E���A

 ^���� &' 904 ^���� &�( ,eHg ���;��� 	
 Na2'
 ^�� �' 904 ^���� J,I
 , �Y=�� ^�� k
�;� ��_9���

���_9��� ^���� k
�;� �Y=��
�	���( :U
��	
 1�;

���_9��� ^���� ^�9�# :�� �����	
 �
6
9�	

�����4� :U
��	
 -. �� �03���	
 %7
��	


 J,M��
 &�9�� 	����� �5�A ��� ������� , M*O
���~ <�O 5������ ���

-9!N �����
 �� �Y=�� ^�� 5�=� �'�P� ���! 5��������� |���

 	
 ��_9��� ^���� 5�* �O# � �'! ,&�9��A U_��� ��_9���
 Y�M�;��� 	
 ^���� ��1,M� 5! U_���
 ����M�;��� �1!

���_9��� ^���� ^�9�% �Y=�� ^�� �' ,-o�

 �' � ����
 ,��� ������� <�A�(# "�# &x ������
���A�(# b�3�) "�� �M-!

 F�6M

 	
 ��_9��� ^���� ^�9�# U_��� ���! 5��������� |���

 5�'�E�;� e!g 	R
 �eHg
 e!g �' �Y* 	
 Y�2����
 	

 , �Y=�� ^�� �;R� �� ��_9��� ^���� �5K &�9��

 �1�
 �� ��_9��� ^���� �5K J,M�� 5�'�E�;� eHg
����;I "�# D�;0��� Y�M�;��� Y-�^ ��^���� �'

 ��,���� ^���K� D��E���A ��� ������� , M*O
 ^���! J,I 
! &�( i)�� �
�9�� �>
�=����
 ��~�R�� ���� "�# D�I�K� ^�� �_�
 G��E�

 5��,�� 5�^�� 6٫50 
 6٫5 Na2' ���,����
�5�>
�=�'

�q �, ��	

6-3

�: �� �� �A? 
<�B �4 �)�	
 
� �� ���	
 ���4�^ �k�I
$ �) �� �y�" �. ,0��� � �) 
� ;E �u�)�+ #P �. 01
1 205

904?
  t


�
F� �O	
 
P"� �)�7	
 
R �� ��"3 ���7	
 �k�I
$ �) ��
> 
% ���M	
 
!= 
( �) �4�	
 
?
� �h
7 �]�
F

1205 = ¿ + 904
¿ = 904 - 1205

�% ���M	
 �? 
� �h�7 �O�A ¿ 
� �)"b 
��4� 
G �!
301 = 904 - 1205  �2�$�" �1

301 �� �� �<�B �4 �)�	
 �� �� ��	
 
 @u^

?
53817

  =


�
F� �O	
 
P"� �)�7	
 
R �� ��"3 ���7	
 �k�I
$ �) ��
> 
% ���M	
 
!= 
( �) �4�	
 
?
� �h
7 �]�
F

¿ = 817 + 53
817 = 53 - ¿
 53 = 817 - ¿

 �( �) �4�	
 �? 
� �h�7 �O�A ¿ 
� �)"b 
��4� 
G �!
870 = 817 + 53  �2�$�" �1

870 �� �� �<�B �4 �)�	
 �� �� ��	
 
 @u^

> �k�7 �F�*^ �� #O�1 ? �% ���M	
 �? 
� �h�7 �O�A U7 �� �! ? 
<�B �4 �)�	
 
� �� ���	
 
��4� 
G �( �) �4�	
 �? 
� �h�7 �O�A U7 ��   o0 
B �- �5 ��"3 �� �A
>Q�D�
 8/�6	
 01 %�M	
 ?�h7]=! ,<�B4)	
 ���	
 �� P$	
 ��� 2�. 
u^ ()4	
 ?�h7]=

: �<�B �4 �)�	
 �� �� ���	
 
� 
* �!= ,0��� � �) 
� ;E �u�)�+ #P �. 01   �F�F �,�

6�5

?4 17
  t

�% ���M	
 
? 
� �h�7 �]

 ? 
� �)"b 
��4� 
G
6 50 = 6 5  �� �. ���A  4 17  -  6 5 �2�$�" �1

2 33 = 4 17 - 6 50 =
2 33 �� �� �<�B �4 �)�	
 �� �� ��	
  
 @u^

?
5 92 1

  =

 �( �) �4�	
 
? 
� �h�7 �]

 ? 
� �)"b 
��4� 
G
8 = 2 1 + 5 9 �2�$�" �1

8 �� �� �<�B �4 �)�	
 �� �� ��	
  
 @u^


<�B �4 �)�	
 
� �� ���	
 ���4�^
Finding the Unknown Number

62

https://school-kw.com/


 

104

$ %���Q����	
 @�!�� 0�< � %����	 � %�9� �
A*B�
e1g ��,����

 ^�9�% eHg ,e!g 	
 &�9�� 5��������� D�E�;�
 ^���� ^�9�% e^g ,ex(g 	
 J,M��
 ,��_9��� ^����
 5�'�E�;�
 eJg ,e]g ,e
g ,ex�g 	
 � �'! ���_9���

 ���;=��� �������

���� ������� <�A�(# �' {� V*�)

e2g ��,����
 5�'�E�;� ��^�� ���9A ���;��� �� 5��������� ,�4��

 5
�9� �Uw ,��_9��� ^���� "�� ��q��� �V��' T'� �_�

�^���� �[�

 U_)���;�� Y�2�) U�� ��� ������� �' 6�I8�
��A�(%� "��

e3g ��,����
 ^���� "�# 36 GW� U� � N*��4' �5! 5��������� |���

 ���9�� 6�* � N���P' �5! 5�*��� 	�����A
 ,��_9���
��3�3~ ����A ��^����

���� ������� <�A�(# �' {� V*�)

:� �&�3� �����
:	�� �' 	
 ��_9��� ^���� ^�9�# ��� ������� �' 6�I8�

13٫666٫9
?    (Ã)  

12 125 =  + 3 706 eHg  

�2 �� �)�A
> �<�B �4 �)�	
 �� �� ���	
 
� 
* �!=  1

17 1 = 10 8 + 6 3   ?
6 310 8

  =1 300 = 568 + 732   ?
732568

  t

40
?18 8

  p*

21 2 = 18 8 - 40

930
204?

  �

726 = 204 - 930
380 = 6 197 - 6 577   7916

+
7756

  p�28 92 = 0 54 - 29 46   
+450

6492
  !

20�81 = 3�81 +   `
17 = 3 81 - 20 81

9 617 =  + 1 530  %
8 087 = 1 530 - 9 617

? �� �Y�� #�	
 
J
	
X
7 ��
 �P�3 �b �J �+ �̀ �! �2�. �: �. >:4. 64�1 �gp
3 �M�"
	 :4. 5�9 �J �+ �̀ �! ��
� �̀ 
! , �� �Y�� #�	
 �R"3 
� �c	
 �� ��= �< �X�7 ��

   2
 64 1 =  ¿ + 5 9 

58 2 = 5 9 - 64 1 = ¿

> ;� ��
� �� �� ;� �� �) �* 
� �,�x 01 �80 �[
A��I	
 �2�. 36 
J�"�	^ � @1�~ �� �� �� �� ��� : ���"
	��7	
 �� �,�3
��	
 �� �,�3 �� �! �,�M�I �� �l�7 �.   3
 ��= ,<�B4)	
 ���	
 U	^ 36 ��Y= J+� ,,�MI�    > �k�7 �F�*^ �� #O�1 ? ;� �6"6 �x ;� �,�M
F �� ��
� �� ���	
 �� �� �) �4�	
 �l�7 �. �) �B a�=
><�B4)	
 ���	
 �4"	 36 (� [A�I	
 ()41 �,�3�

�,�M�I ��

80 = 36 + 

�� �,�3 ��

 = 80 + 36

63

https://school-kw.com/


 

106

�< %���� �M�;>U
��	
 @�!�� 0�< � %����	 � %�9� �
A*B�
 ���;��� !,0� �5! ��� ������� �1! �' 6�I8� :� %���	
 U
�;

 	��� <�'������ �' :Y�R�� ���� �Uw ,&R),' <��A
?��
,�' "�# 5�(��3) k[�� �'
 ?�_��
,�)

 -�
��	
 \
@]	
 Q�^� _���	
 Q�^ D��; :��
GH

 �.��� K	� `
�]; 5"a
��	 ��< b
M<> C@	
 c���	
�

5���	 "a
�	
 b %7��d C@	
 c���	

 ^�9�% �4 ���P��� ��A�;3�� ������� �' :U_����� ,����A
5"�Z	
 ����< :��
GH
  ?� N�' \�[3��
 ���0�� ��w

 Z �̂ ,�� k[�� ��4��� ^�9�% �4 ���P��� ��A�;3�� ������� �'
5[�M	
 ����< :��
GH
  ?,��� &/�4��

 6 ���P��� &�9�� ,�4�) �A��* U_P' 6�I8� ,v�O ��A
����;��� �� �A�(B� 6 ���P��� J,M�� ,�4�)


 ¡7٫250 = 4٫750 + 2٫500  :��
GH

2٫750 = 7٫250 - 10

y?,��� &/�4�� Z �̂ ,�� k[�� ��4��� �'z :U_����� ,� N,�-!
56
��7 2٫750 :��
GH


�	���( :U
��	
 1�;
 ����-�� ,Y/�;��� �Y1 Y��^ D��E���� :�� �����	
 �
6
9�	

�<��ME�� �^ ����' Y/�;' �Y1 ,�4 ���P��� ��A�;3�� �������

�Y/�;��� �Y1 Y��^ :U
��	
 -. �� �03���	
 %7
��	


 k[�� Y/�;��� �Y1 Y��^ "�� \�W�� �.�!
 :&A�K� Y1�,��� �' G�����

� {. V03)
 & �(�� − VY 81 − F MM- − U_
��
 D��E��� 64� ��� ������� U_
 �' {� V*�)

�J,M�� �����
 &�9�� �����
 �' � �*���� ����='# "�� ��� ������� � M*!

 \�[3�� ��w
 ���0�� ��w &�9A U_)�A�(#
 O# ,,��� &/�4�� Z �̂ � k[�� ��4���
 	c��,��

�,����^ 10 ��4��� k
�;� 5! 69�

 O (*P
 U_��� ,&A�,�� �,���� ��I �
,��� ���! 5��������� |���

 ��I ^�9�# :1 /�M3	
 :��������� ��)�ME�� Q�4�)�
�&�9�� ����� D��E���A �wa2�� <� �,����

 i)�� 5�1,M�
 ,J,M�� ����� D��E���� :2 /�M3	

�15 �' 1 ��ME��

���� ������� <�A�(# �' {� V*�)

�q �, ��	

7-3

�: �� �� �A
P
��O �)�	
 #P �� �P"	 ��
���� �6�A �! �( 
*
, �P �� �F#M �D �: �B �1



 
H
� 
6�	
 �R �)�m �! , ;,�I�� 2 500 
�")���	
 �R �)�m , 
J 
��� �1 03 
�/ 
� �� 
� j0 
Y�� 
, ;H
� 
� �! ;�")�b �H
� 
5 �� �) �� �t #, �� �)�	
 ���� ��
> ��"+�+ �� 10 
��T
1 �R 
� @� �� 
� �� �+ @� �b �, �! �(
��3�	
 �� �) �� UM ��= > ��"+�+ �� 4 750 #0 
Y�� #�	


? �� �) ��
	 �(
��3�	
 �\ a� ���" �] f��	
 �C���3 �)�	
 ��

�: �B �1

   ? �J �1 
� �� �A f��	
 ��
?
J
7 �1 
� �� �� U	^ �E�7 �6�A f��	
 ��

�F#M �D? �� �) ��
	 �(
��3�	
 �\ �� �, f��	
 �C���3 �)�	
 �� 
*�A �y�" �.
10 �R 
� �[
A��I	
 
% ���I
 �:�m ,� @� �� 
H
� 
6�	
! 
�")���	
 �R �)�m �� 
* �!=

�� �� �6�A �! �( 
*
,? #P �6�	
 
� �6 
x �R 
� �� �� �6�7 �A �y�" �.

�P ����"+�+ �� 7�250 = 4�750 + 2�500 = � @� �� 
H
� 
6�	
! 
�")���	
 �R �)�m :1 �� ���M �h�	

;,�I�� 2�750 = 7�250 − 10 = �� �) ��
	 �(
��3	
 �\ a� ���" �] f��	
 �C���3 �)�	
 :2 �� ���M �h�	


�z 
�/:�B�I 
� ;� �mc�m �<
��I= ;8
 �� �) �� 4 �R 
� �����M	
 
�� �2 �� �$�7 �� �! ,
 @�7� 15 
� ���7 �)�	
 
d ���I 
� ��= �<�I
9 28 = 3 11 + 4 07 + 2 1   ? 
(p
F
 ��	
 #� �) �)�	
 �<�I �� > ;,�7�= 3�11   ,   ;,�7�= 4�07   ,   ;�7� 2�1

? 5 72 = 9 28 - 15


8
��M �h�	
 �� �� #� ���7 �� �P
��O �� : 
P
��O �)�	
 aP ��
Problem Solving: Multiple-Step Problems

64

https://school-kw.com/


 

107

$ %���Q����	
 @�!�� 0�< � %����	 � %�9� �
A*B�
e1g ��,����

 17 + 40 i)�� ^�9�# U_��� ���! 5��������� |���
 �[� 5���9� �Uw ,U�,* �A j ���) k[�� ��4��� �
,���
 ^�9�% ��1,�� �4� �A j ���) k[�� ��4��� &' ��4���

�� N�' 5�Pwq� �A j ���) �' Q��9'

 ������ �����=�� ,*O ��� ������� �' 6�I8�
 ���;��� 	
 &�9�� D��E��� "�# 5�,��)

��A�(%� "�� U_)���;�� �1
,M���

e2g ��,����
 U�0P�� ^�� �
,��� J,M�� ����� 5��������� D�E�;�

 ��4�q �34��� � ��3'
 ^��� �' �Y* �_��# S��3� 	���
 � ��3' U�0�
 81 �' ^��� U�0� 5�1,M�
 ,��T����'

81 �'

 �P' J
,M��� �5! "�# ��� ������� Z�4��� tR���
�J,M�� k,�4�) 	
 �;R� ��

e3g ��,����
 4 - 18 i)�� ^�9�# U_��� ���! e!g 	
 5��������� |���

 �6�E�� �' ���P���� i�,M��� �4�� ��w �
,���
 ��w �
,��� 3 + 18 i)�� ^�9�# U_���
 ,eHg 	
 � �'!

 ,� N�' H��=��
 S���� �' ���P���� i�,M��� �4��
 ��4��� ^�9�% 5�
� &' k[�� ��4��� �' ���1,M� �Uw

��_�' 	 �04����

 J
,M��� ���3) ��� ������� �' 6�I8�
�e!g 	
 �P' J
,M���


�2 �� �)�A
> 
R) �� ��	
 ���3 �� 
J
F �d �� �M�A � �) �� 
 @,�I�� 17 ���X �� ;C���3 �)
F �d �� �M�7 �1 �:�� �. � ��= ,
 @,�I�� 40 
C���3 �)
F 
R) �� ��	
 ���3 �� �d �� �M�A   1


 @,�I�� 97 = 17 + 40 + 40 :,�I��	�F 2�Im/
 JF d�MA �� _�)4�   ? 
,�I� ��	�
F 
2�I �m 
/
 
J
F �d �� �M�A �� �_�) �4 �� ��

 �: �. U	^ , @��M �� �+ 66 U� �� �� �) �6 �� �P �M �� �! , @��M �� �+ 53 U� �� ���) 
� �P �M �� > @��M �� �+ 81 U� �� �P �M �� 
u^ 
 @X#" �)�7 �� �l
� �c	
 ���3 �7 �� ��   2
?
 @X#" �)�7 �� �@3 
�/ �gp
3 �M�"
	 �) �B�I 
� oP �. �E�7 �6�� @��M �� �+

>�M�+ 15 U	^ �)6� E�76� , 15 = 66 - 81 ;�M�+ 28 U	^ ��)� E�76� 28 = 53 - 81

 �B�I �)�m 07�	
! 
E���	
 �R 
� 
� ���I �M �)�	
 
[�+ ���M #�	
 
��3 ���	 
R �)�m �R 
� ��"+�+ �� 4 pp
F aP �b= 
l �� �h�	
 �R 
� 
� ���I �M �)�	
 
[�+ ���M #�	
 
��3 ���	 �R �)�m   3
>
 @,�I�� 18


 @,�I�� 14 = 4 − 18 :l�h	
 R� ���IM)	
 [+�M�	
 �3�	 R)m > 
l �� �h�	
 �R 
� 
� ���I �M �)�	
 
[�+ ���M #�	
 
��3 ���	 �R �)�m �: �.  =
 
\ 
�� 01 �� ���3�7 �)�	
 ���"4"A
�7] �G
 �� #O �- �� ;t�7
. �! 
E���	
 �R 
� 
� ���I �M �)�	
 
[�+ ���M #�	
 
��3 ���	 �H
� 
5 �8��
,= ,
 @,�I�� 22 �2
! �, �( ��   t

? �2
! �, �( �� 0���3�7 �)�	
 �C���3 �)�	
 �� > ��"+�+ �� 3 �J�I �)�m 
��3 �� a�	

,�I�� 1 = 21 - 22 = (3 + 18) - 22 :2
!, (� 0�37)	
 C�3)	


 ��"+�+ �� 9 
C���3 �)
F 
� �� 
��" �h�	
 
8��" 
� �) �4�	
 Q� �� 
G �_ a��3�7	
 
8��
,= �! ,
 @,�I�� 17�500 Q��� �] �8 �� �D��

  o0

A
u �:"" �� �A?    4

? �k
	�
	 �� �����+ 0- �$�A �P �� > ��"+�+ �� 6�250 �J�I �)�m ;t�7
. �H
� 
5 �!

 @,�I�� 15 250 = 6 250 + 9

 17 500 > 15 250
>Q��] ���+ 0-$A 
 @u^

65

https://school-kw.com/


109

áãdÉãdG IóMƒdG á©LGôe ¢SQódG
8-3


���
	���	
 
� �� �� ���	
 �� �� �*
� �� �q �, ��	

8-3

: @/ �!=
:0��� � �) 
� jP �$
	 �f 
������7	
 �[
A��I	
 
� 
* �!=  1

4918100081
+7059+00001

00082

  =057233000003
-942391-000002

000001

  t

 > �[
A��I	
 
� 
* �!=  2
321904

+714215
045129

  =  t

315462
-20637

119091

  p*   �

> �<�B �4 �)�	
 �� �� ���	
 
� 
* �!=  3
2 69 = 4 5 - 7 19   7�19

¿4 5
  =3 377 = 1 623 - 5 000   

+3261
0005

  t

37,89   30�9 + 3�09 + 3�9 �[
A�+ �� 
* �!=   4

 8,82  15 �R 
� 6�18 
% ���I �[
A�+ �� 
* �!=  5

111 9741
+4256

3008
102 0365

-8123
2142

153161

6 11

66

 �l �4 �� �K�" �� 
J
7 �b �, �! U� �� 
t
� ��	
 �����F �l �$ �] �J�I
$	 , #0
	 
X�I �)�	
 
J
3 
*
! #P �� �<c 
D 
% ���M	
 
��"
� �) �� 
H
� �*�
F �� �) �6 �� �?�b   6
> �L�3 
4 �� 07�	
 �?�b �, ��
 
l�7 �.�
 > 
?�b �, ��
 �����F �J�I ��

48,1963
-33,0591

15,1471

162


R" �M	
 
2� �$ �] �� �� �� �2�. 
u^ > ���I 
B�	
 �B"��A �! 
2� �$ aO	
 �� �� �� �K�" �� �R 
� 
:�	���	
 01 ;��	 �! �� ���3 �.= �R" �M	
 �2= �L �)
� �� 
u^   7
> ;� �) �O�+ 1 119 903 000 �@3�� �� �A 
��I 
B�	
 
2� �$ �] �� �� ��! ;� �) �O�+ 1 500 000 000 �@3�� �� �A

? 
��I 
B�	
 
2� �$ �] 
� �� �� �R �� 
R" �M	
 
2� �$ �] �� �� �� ���X �� �: �$
F
�)O+ 380 097 000 = 1 119 903 000 - 1 500 000 000

U� �� �P �M �6�"
	 19�7 
� �� ���	
 U	^ �J �-"~�� �2= �l 
4�� f��	
 �� �� ���	
 �� > 
% ���M	
! 
( �) �4�	
 
P
��O �� U� �� �� �� �] �t �, ���7 ��   8
0,3 = 19,7 - 20   ?20 
� �� ���	


 �� �B �1 �J ���� �x �J �� �1 �� � �) �� ;,�I�� 300 ���X �� � @w ���3 �� �( �1 �� �� �� �1 �� 
5
, �J ���� �x � ��= ,;� ���� �* ;� �,��" �] 
H
� 
�
	 ;,�I�� 12 700 �� �B �1 �( �1 ��   9
? 
R�" �A �,��" �O	
 
H
� 
�
	 �� 
5
, �! �� �B �1 �J �� �1 �� �� �_�) �4 �� �� >;� ���� �* Q� �D�= ;� �,��" �O
	 �@I �)�m
,�I�� 25 700 = 300 + 12 700 + 12 700 :�� �5
,! �B1 J�1� �� _�)4�

1099994

67

https://school-kw.com/


109

áãdÉãdG IóMƒdG á©LGôe ¢SQódG
8-3


���
	���	
 
� �� �� ���	
 �� �� �*
� �� �q �, ��	

8-3

: @/ �!=
:0��� � �) 
� jP �$
	 �f 
������7	
 �[
A��I	
 
� 
* �!=  1

4918100081
+7059+00001

00082

  =057233000003
-942391-000002

000001

  t

 > �[
A��I	
 
� 
* �!=  2
321904

+714215
045129

  =  t

315462
-20637

119091

  p*   �

> �<�B �4 �)�	
 �� �� ���	
 
� 
* �!=  3
2 69 = 4 5 - 7 19   7�19

¿4 5
  =3 377 = 1 623 - 5 000   

+3261
0005

  t

37,89   30�9 + 3�09 + 3�9 �[
A�+ �� 
* �!=   4

 8,82  15 �R 
� 6�18 
% ���I �[
A�+ �� 
* �!=  5

111 9741
+4256

3008
102 0365

-8123
2142

153161

6 11

66

 �l �4 �� �K�" �� 
J
7 �b �, �! U� �� 
t
� ��	
 �����F �l �$ �] �J�I
$	 , #0
	 
X�I �)�	
 
J
3 
*
! #P �� �<c 
D 
% ���M	
 
��"
� �) �� 
H
� �*�
F �� �) �6 �� �?�b   6
> �L�3 
4 �� 07�	
 �?�b �, ��
 
l�7 �.�
 > 
?�b �, ��
 �����F �J�I ��

48,1963
-33,0591

15,1471

162


R" �M	
 
2� �$ �] �� �� �� �2�. 
u^ > ���I 
B�	
 �B"��A �! 
2� �$ aO	
 �� �� �� �K�" �� �R 
� 
:�	���	
 01 ;��	 �! �� ���3 �.= �R" �M	
 �2= �L �)
� �� 
u^   7
> ;� �) �O�+ 1 119 903 000 �@3�� �� �A 
��I 
B�	
 
2� �$ �] �� �� ��! ;� �) �O�+ 1 500 000 000 �@3�� �� �A

? 
��I 
B�	
 
2� �$ �] 
� �� �� �R �� 
R" �M	
 
2� �$ �] �� �� �� ���X �� �: �$
F
�)O+ 380 097 000 = 1 119 903 000 - 1 500 000 000

U� �� �P �M �6�"
	 19�7 
� �� ���	
 U	^ �J �-"~�� �2= �l 
4�� f��	
 �� �� ���	
 �� > 
% ���M	
! 
( �) �4�	
 
P
��O �� U� �� �� �� �] �t �, ���7 ��   8
0,3 = 19,7 - 20   ?20 
� �� ���	


 �� �B �1 �J ���� �x �J �� �1 �� � �) �� ;,�I�� 300 ���X �� � @w ���3 �� �( �1 �� �� �� �1 �� 
5
, �J ���� �x � ��= ,;� ���� �* ;� �,��" �] 
H
� 
�
	 ;,�I�� 12 700 �� �B �1 �( �1 ��   9
? 
R�" �A �,��" �O	
 
H
� 
�
	 �� 
5
, �! �� �B �1 �J �� �1 �� �� �_�) �4 �� �� >;� ���� �* Q� �D�= ;� �,��" �O
	 �@I �)�m
,�I�� 25 700 = 300 + 12 700 + 12 700 :�� �5
,! �B1 J�1� �� _�)4�

1099994

67

https://school-kw.com/


110

áãdÉãdG IóMƒdG á©LGôe

 :�@"
+�m
>@��M �D �� �,�3
��	
 
L�+�. 
u^ t  �P#� �� �! , @� �6"6 �x �� �,�3
��	
 
L�+�. 
u^ =  �P#� �� {5−1} 
��I�3�	
 01

10 4 = 7 4 - 17  1=t
11 8 = 5 + 6 8  2=t

10 000 = 9 002 + 998  3=t
0 = 123 - 321  4=t

10 �� ��  
?

3 256 75   
E �u�)�I	
 01 �<�B �4 �)�	
 �� �� ���	
 5=t

>
� �6"6 �M	
 
� �F�*�G
 U� �� #<
 ��	
 
X �� ��	
 �� ��
�
� �P#� �� {9−6} 
��I�3�	
 01
> @� �$�3 �5 1 357 �!  @� �,��I �x 2 913 ���I �� , 
��" �M	
 
8
 �� �� �� 
P ���I
	 ;��I"- �] 
R�7 �� U� ��   6

?
��I"- �O	
 
R�7 �� U� �� 
� ���* �� �)�	
 
��" �M	
 
8
 �� �� �� �� �� �� ��
1 556  =4 260  t4 270  p*42 610  �

9 000 = ¿ + 8 125  7
875  =1 125  t1 875  p*17 125  �

= 101 + 999  8
898  =1 100  t10 100  p*10 910  �

= 0 32 - 6 7  9
7 02  =9 9  t6 38  p*3 5  �

68

https://school-kw.com/


الوحدة

الرابعة

112

�ضرب الأعداد الكلّية والأعداد الع�شرية
Multiplying Whole Numbers and Decimal Numbers

Numbers and Also Number ا �أعداد� المو�ضوع: �أعداد و�أي�ضً

مقدّمة الوحدة:

إيقاظ وتنشيط المعلومات السابقة المكتسَبة:
اسِأل المتعلّمين عمّا يشاهدونه في الصورة.��

اُطلب من المتعلّمين أن يتحدّثوا عن أهمّية العلم ودوره في تقدّم الأمم.��

الربط مع المفاهيم الرياضية:
هناك سبع مكتبات، لدى كلّ منها 200 كتاب تتناول مواضيع مختلفة ألّفهم ابن سينا. كم عدد الكتب ��

في 7 مكتبات؟
ب العدد 871 إلى أقرب مئة.�� وُلدِ الخوارزمي في العام 871 م، قرِّ
ب العدد 1037 إلى أقرب ألف.�� توفّي ابن سينا في العام 1037م، قرِّ

الربط مع الفنون اللغوية:
احِكِ قصّة: اُطلب من كلّ متعلّم أن يتحدّث عن كيفية استخدامه الرياضيات في حياته اليومية باستخدام ��

الأعداد الكلّية والأعداد العشرية وتعبيرات الضرب.

�� �� �� �����
�� ����� ����

�����������

������ �����

��������

���� ������

� ������ ����� �� �� ���� �� ������ �� �� �� ,�� �����M�� �� �� ��� ��� �� �� �� �� �� ���� ����� �� ������
 �� �� ���� �� �������� ������ �� �� ���� �� �� �� ���� ���� ������ ����� ���� �� �� ���� �� �� ����� �� ���� ����� ����� �� �� ��� ����� ���� ���� ���� �� �� �� ��

� ���� ���� �� �� �� �� ���� ��� ���� �� �� � �� �� ���� �� �� �� ���� �� ���� ������ �� �� �� �� ���� �� ���� ��

� �� �� ����� �� �� ��������� �� �� ���� �� ���� �����

�� ���� ������� ���� �� ���� ���� �� ����� ���� �� ��� �� �� ��
Multiplying Whole Numbers and Decimal Numbers

Numbers and Also Numbers ���� ��� � ����� �� ���� ���
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الرياضيات في المنزل:
اُطلب من المتعلّمين قراءة هذه الفقرة بصوت مرتفع.��

مشروع الوحدة:
تتضمّن �� به  يعمل خطّة خاصّة  وأن  تصنيعها  أُعيد  موادّ  يصنعه من  منتَجًا  يختار  أن  متعلّم  كلّ  اُطلب من 

حة في كتابه،  إجابات عن الأسئلة المذكورة في كتابه، ثمّ أن ينفّذ هذه الخطّة متّبعًا الإرشادات الموضَّ
الذي  المال  اختاره وأن يشرح كيف سيستخدم  الذي  المنتَج  أن يحدّد طريقة تسويق  منه  كذلك اطلب 

سيكسبه.
ا لمنتَجه ويقدّمه إلى زملائه ويشرح ما إذا �� خلال دراسة الوحدة، على كلّ متعلّم أن يصمّم ملصَقًا إعلانيًّ

ا في الحياة اليومية. كان المنتَج الذي اقترحه عمليًّ

Maths at Home �� ���� ����� �� ����� ���� ����
: ��� �� �� ��� ���� ���

 �� ���� �� ����� �� ���� ����� , ���� �� ����� ���� �� ��� �� �� �� , �� �� ���� �������� ������ �� , �� ������ �� �� �� �� ���� �U����� �� �� �� ����� �� ��� �� ���� ������ ��
 �� �� �� , �� �� �� ������� ���� �� ��� �� �� �� ������ ������ �� , �� �� ���� ������ �� �� �� �� �� �� ������� ���� �� ��� �U����� ���� ���� ���� ,�  �� ��� �� �� �� ���

� ������ �� �� �� �� , �� ��� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� , ���� �� �� �� �� �� �� �� �� �� �� �� ��

�� �� �� ����� ���� �� ��
���������� ���� ��

 �� �� �� �� �� �� ���� ���� �� �� �� �� ���� �� �� �� ,�� ���� ���� ������ ���� �� �� �� �� ���� ���� � ������ �� ���� ���� , ���� ������ �� ������� ������ � ���I� �� �� �����
�� ����� ����� ���� �� ���� ������ ������ ���� ����� ��� �� ���� �� ������

������� ���� �� ����� ���� ����� �� ������� , �� �� ���� �� �� �� ���� , ��� ���� �� , ������ �� ������� : �� �����M ����� ������ ���
: ���M �� �� �� ����

● ? ������ ���� �� ���� ������ ����� ���� �� �� ������ �� ���� ?������ ���� �� ����� ������ ����� ��
● ?���� �� ���� �� ����� ���� ����� ���� �� �� ��
● ? ������ �� �� �� ���� ������ �� �� �� ���� ���� �� ����� ���� ����� ���� �� �� ��

: ���M ����� �� �� ��
��� ���� ���� �� ���M�� ���� ����� �������� ������� ���� ���� �� � ������� �� ���� ����  1

? �������� ����� �� �� ������ �� �� �� ���� ���� ������� ���� ���� ����� ���� ����� ���� �� �� �� ��� �� �� ���� ��� ��� ���� ���� ����� ���� ����� ���� �� �� �� �� ��  2
?���� ����� �� �� �� �� �� ���� �� ? �� ������ �� ���� �� �� ���� ���� �� 3

�� ���� �� �� �� ���� ��� ���M�� ���� ���� ���� �� ������ �� �� �� �� 4
: �� �� �� �� ���� �� ��

? �� ������ �� ����� ? �� ������ �� �� �� ���� �� ���� �� 1
?�� ���� �������� �������� �� ���� �� �� �� ���� ���� ��� ������ �� �� �� ? ���� �� ���� �� ����� ��������� �� �� ���� �� ����  2

: ���� �� ����� �� ���
� ����� �� ���� �� �� �� �� �� �� ������ ���� ������ ��� � �� ���� �� �� �� �� 1

?���� �� ������� ���� ����� �� ���� ��� ����� �� �� ������ �� �� �� ���� �� ����� �������� ����� �� �� ��� 2
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نشاط التعلّم: يدرك المتعلّمون أنّه بإمكانهم استخدام 
حقائق الضرب الأساسية ومضاعَفات العدد 10 

لاستكشاف أنماط الضرب وخصائصه، وبالتالي لإيجاد 
ناتج تعبير ضرب، مثًال في )أ( 30 × 4 × 2، يستخدم 

 المتعلّمون حقيقة الضرب الأساسية 4 × 2 = 8 
ليصبح التعبير: 30 × 8، ثمّ يستخدمون حقيقة الضرب 

الأساسية 3 × 8 =24 ويكتبون إلى يمينه عددًا من 
الأصفار يساوي مجموع عدد الأصفار في العاملين 

لإيجاد ناتج 30 × 8
كما يدركون أنّ نواتج الضرب هي نفسها في كلّ 

مجموعة أعداد وأنّه كلّما انتقلنا إلى المجموعة 
التالية، ازِداد ناتج الضرب 10 مرّات عمّا كان عليه في 

المجموعة السابقة.
نوع النشاط: جماعي.

المهارات المكتسَبة: إيجاد نواتج الضرب باستخدام 
حقائق الضرب الأساسية ومضاعَفات العدد 10

الموادّ المستخدَمة في النشاط: آلة حاسبة، سبّورة.

د للمتعلّمين على أنّ ناتج ضرب أيّ عدد  أكِّ
كلّي في العدد 10 هو من مضاعَفات العدد 

10، ثمّ اطلب منهم استخدام الآلة الحاسبة 
للتأكّد من إجاباتهم.

لاحِظ
يستخدم المتعلّمون الأنماط التي استكشفوها في نشاط 

»التعلّم« لإيجاد الأعداد المجهولة.

دْ من إجابات المتعلّمين بسبب اختلافها. تأكَّ

تعبير شفهي
يستعين المتعلّمون بمكتسَبات نشاط »التعلّم« للإجابة 

عن السؤالين المطروحين.

اسِتمِع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

�� �� ����
1-4�� ������ �� �� �� �� ���� �U�����

Patterns and Properties of Multiplication

�� �� �� �� �U����� ���� ���� ��� �� �� �� �� �������� 10 �� �� ����� ���� ���� �� �� ���� ���� ��� �� �� ���� ������ �� ���� ���� ��� ���M�� ����
�10 �� �� �����  ���� ���� �� �� �� �� �� 10 �� �� ����� �� ���� �� �� �� �� ��� �� �� �� ������ ��� � �� ������ �� �� �� �� ����

 :���� � �� �� �� �� �� �� �� ������ �� ������ ���� �� ���� ���� ����� ��� ���� ������� ������ �� �� ���� ����
� �F ���� �� �� �� ������

240   2 × 4 × 30 �
240   2 × 40 × 3
240   20 × 4 × 3

240   10 × 2 × 4 × 3

2 400   20 × 4 × 30 �
2 400   20 × 40 × 3
2 400   2 × 4 × 300

2 400   100 × 2 × 4 × 3

24 000   2 × 400 × 30 ��
24 000   20 × 40 × 30
24 000   200 × 4 × 30

24 000   1 000 × 2 × 4 × 3

�� ��� :���� � �� �� �� �� �� �� ������ ���� �� �� ���� ��� ����� �U���� ��� �� �� ���� ����

360  = 6 × 3 × 20  �
360  = 6 × 30 × 2
360  = 60 × 3 × 2

360  = 10 × 6 × 3 × 2

3 600  = 60 × 3 × 20  �
3 600  = 60 × 30 × 2

3 600 = 6 × 3  × 200
3 600 = 100  × 6 × 3 × 2

36 000  = 6 × 300 × 20  ��
36 000 = 60  × 30 × 20

36 000 = 600 × 3 × 20
36 000 = 1 000  × 6 × 3 × 2

������� � �I����� �� �� ? ���� �� �� ���� �� �� ������ �� ����� �� �� �� �� �� �� �� ���� �������� �� ������ �� ���� ��   1    �� �� �� �� ���� �� ��

 �� �� ����� ��� 100 �� �� ����� ��� 10 �� �� ����� ���� ���� �� �� �� �� ���� ���� ���� �� �� �� ������ ���� ���� �� �� �� �� �� ���� ����   2
 1 000����� ������ �������� ������ ��� ����� ��� ������� ������� ������  

������ ���� �� ������ ��� ��� ������� ������� �� ����� ���� ����� ��� ������� �� ����� ���� ���� ������

����� ���� ������ ,������� �������� ��� ������� ���� ������ ������ �� �� ����� �� ����� ����� ��  
�������� �������� �� ���� ��� ��� ���� 10  
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اُربط
يدرك المتعلمون أنّ خصائص الضرب والأنماط 

ا. مثًال لإيجاد  تساعدهم على إيجاد نواتج الضرب ذهنيًّ
ناتج 50 × )73 × 2( يلاحظون أوًّال استخدام الخاصّية 
الإبدالية، إذا استبدلنا )73 × 2( بـ )2 × 73( بعد ذلك، 

يلاحظون استخدام الخاصّية التجميعيّة إذ تغيّر مكان 
الأقواس من 2 × 73 إلى 50 × 2

ر المتعلّمين بأنّه عند ضرب عدد ما في  ذكِّ
العدد صفر فإنّ الناتج هو صفر، أمّا عند 

ضرب عدد ما في العدد واحد فإنّ الناتج هو 
العدد نفسه.

رهم بأنماط الضرب في مضاعفات  ذكِّ
العدد 10

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يدرك المتعلّمون في )أ( أنّ ترتيب العوامل في تعبير 

الضرب اختلف، فالخاصّية المستخدَمة هي الخاصّية 
الإبدالية. أمّا في )ب(، فالتجميع اختلف، لذلك 

فالخاصّية المستخدَمة هي الخاصّية التجميعية.
أخيرًا، في )جـ( و)د( ينظر المتعلّمون إلى العبارتين 
لملاحظة ما إذا كان أحد العاملين في تعبير الضرب 

يساوي 1 أو صفرًا لتحديد الخاصّية المستخدَمة.

د للمتعلّمين على أنّه عندما يكون أحد  أكِّ
العاملين صفرًا تكون الخاصّية المستخدَمة 

لإيجاد الناتج هي خاصّية الضرب في صفر، 
أمّا إذا كان أحد العاملين يساوي واحدًا 

فتكون الخاصّية المستخدَمة هي خاصّية 
الضرب في واحد.

التمرين )2(
يكمل المتعلّمون كتابة الأعداد المجهولة في كلّ من )أ(، 
)ب(، )جـ( وذلك باستخدام مكتسَباتهم من هذا الدرس.

�F�� ����
�� �� ���� ������ ���� �� ��������� ��
���������� ��� ���� �������� ���� ������ ������ ��� ��� ��� �� �� �� �� �� �� �� ���� ������ ���� ��3 × 7 = 7 × 3

���� ���� ������ ���� �������� ���� ������ ������ ��� ��� ��� �� �� �� �� �� �� �� ���� ������ ���� ���7 × 10� × 3 = 7 × �10 × 3�
�� �� �� �� �� �� ���� ���� ����� �� �� �� ��������� ��� �� , �� �� �� �� �� ����� �� �� �� �� ��� �� �� �� ���� ��0 = 5 × 0 = 0 × 5
�� ���� �� �� �� ���� ���� ����� �� �� �� �� �� �� ����� �� �� ��������� ��� �� , �� ���� �� �� ����� �� �� �� �� ��� �� �� �� ���� ��7 = 7 × 1 = 1 × 7

������ ���� �� �� ���� �������� ������ �� ��  �U���� ���� �� �� ���� ������ �� �� �� ������
(73 × 2) × 50 = (2 × 73) × 50
73 × (2 × 50) =  

73 × 100 =  
7 300 =  

���������� ��� ���� �������
���� ���� ������ ���� �������

� �� �� �� ���� �� ����� ���� ������� �� ��� �� �� ����  1  �� �� ����
�������� �������  6 × 5 = 5 × 6 ���������� �������  9 × (2 × 4) = (9 × 2) × 4 �

��� �� ����� �����  0 = 0 × 4 ������ �� ����� �����  9 = 1 × 9 �

: �� �� ���  2
1 440  = 9 × 8 × 20 �

1 440 = 9  × 80 × 2
1 440 = 90 × 8 × 2

1 440 = 10 × 9 × 8 × 2

 14 400  = 90 × 8 × 20 �
14 400 = 9 × 800  × 2
14 400 = 9 × 8 × 200

14 400 = 100 × 9  × 8 × 2

144 000 = 90 × 80  × 20 ��
144 000  = 90 × 8 × 200

144 000 = 900 × 8 × 20
144 000 = 1 000 × 9 × 8 × 2

� ��������� �� �� ���  3
16 800 = 80 × 30 × 7 �7 200 = 20 × 40 × 9 �72 000 = 4 × 600 × 30 ��

10 500 = 3 × 700 × 5 �90 000 = 30 × 50 × 60 ��81 000 = 30 × 300 × 9 �
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التمرين )3(
يستخدم المتعلّمون حقائق الضرب الأساسية والأنماط 

لإيجاد ناتج تعبيرات الضرب بالشكل الأفقي.

اُطلب من المتعلّمين أن يشرحوا كيف 
يجدون عدد الأصفار في )و(، ثمّ اكتب على 

السّبورة: 

 مجموع الأصفار
في العوامل الثلاث

81 000 = 30 × 300 × 9

ناتج 9 × 3 × 3

التمرين )4(
يجد المتعلّمون ناتج ضرب ثلاثة أعداد باستخدام 

خصائص الضرب والأنماط، مثًال في )أ(، يلاحظون 
أنّ 2 × 5 = 10 ويشرحون أنّه من السهل الضرب في 

مضاعَفات العدد 10، وبالتالي يعيدون التجميع لإيجاد 
الناتج ذهنيًّا.

ر المتعلّمين بأنّ ناتج ضرب 3 أعداد هو  ذكِّ
نفسه مهما اختلف التجميع.

التمرين )5(
يكتب المتعلّمون تعبير الضرب المناسِب ويحلّونه 

لإيجاد عدد السنوات في 60 قرنًا.

ر المتعلّمين بأنّ: 1 قرن = 100 سنة. ذكِّ

التمرين )6(
يجد المتعلّمون سعة الخمس قناني بالملّيلتر باستخدام 

 عملية الضرب، ثمّ يقارنون بين الناتج و2 لتر أي
000 2 ملّيلتر، ليعرفوا ما إذا بإمكانهم تفريغ جميع 

القناني في إناء سعته لتران.

ر المتعلّمين بأنّ 1 لتر = 000 1 مل،  ذكِّ
د لهم على أنّه بإمكانهم تفريغ جميع  أكِّ

القناني في الإناء إذا كانت سعتها أقلّ أو 
تساوي سعة الإناء.

� �U���� ���� �� �� ���� ������ �� � �� �� �� �� ����� ���� ��������� �� �� ���   4
470 = 10 × 47 = (2 × 5) × 47   = 2 × (5 × 47) �

8 800 = 88 × 100 = 88 × (5 × 20)   = 5 × (88 × 20) �

6 900 = 69 × 100 = 69 × (25 × 4)   = (25 × 69) × 4 ��

6 000= 100 × 60   ?��� �� �� 60 �� ���� �� �� ��  5

 ? ������ ���� �� �� ����� �� ���� ����� ���� �� ���� �� �� ������ �� �� �� �� �� ,�� 400 ���� �� �� �� ������� �� �� �� ���� �� ���� �� 5 ���� ���� ���� ���   6
���� 2 = �� 2 000 ,�� 2 000 = 400 × 5  ,���  � ������ �� �� ��

¿ òÑفا úصÃ 4 õجöاتøلنÇ Çهذ õن مَّ óضóت óي óمö2 × 50 × 300 = 000 30. ل  ������ ��� ���� �� �� �����   7
���� ��� ����� ��M�� 10 = 5 × 2 ������� ������� ��

?40 = 8 × 5  ���  4 000 = 100 × 8 × 5  �� ���� �� �� �� �� ���� �� ��� ���� �� �� ������  8
������� �� � ���� ���� � ��

� ���� �� ���� ���� ����� � �� �� ���� �� ��  20 × 762 × 500  ������ �� ���� ���� �� �� �� ��   9
762 000 = 762 × 1 000 = 762 × 20 × 500 = 20 × 762 × 500

� ��������� �� �� ���  ��
���� ���� �� ��?   10

270 = 3 × 30 × 3 �192 000 = 6 × 80 × 400 �9 300 = 4 × 93 × 25 ��
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نشاط التعلّم: يقرأ المتعلّمون المسألة فيدركون أنّه 
يمكنهم إيجاد ناتج 5 × 16 من خلال تجزيء شبكة 

باتّباع الخطوات التالية:
الخطوة 1: اسِتخدام شبكة مربّعات مناسِبة.

الخطوة 2: تجزئة الشبكة إلى قسمين بطريقة مناسِبة.
الخطوة 3: احِتساب عدد المربّعات في كلّ قسم باستخدام 

الضرب، ثمّ جمع ناتجي الضرب مع بعضهما بعضًا.
وبذلك، يستنتج المتعلّمون أنّ 5 × 16 = 80

نوع النشاط: جماعي.
المهارات المكتسَبة: إيجاد ناتج ضرب عدد في آخر 

باستخدام الخاصّية التوزيعية. 
الموادّ المستخدَمة في النشاط: شبكة مربّعات.

الِفت انتباه المتعلّمين إلى أنّ 5 هو عدد 
الصفوف في الشبكة و16 هو عدد الأعمدة.

اشِرح لهم أنّ ناتج 5 × 6 وناتج 5 × 10 هما 
من النواتج الجزئية وأنّ ناتج جمعهما يساوي 

ناتج 5 × 16
أشِر إلى إمكانية تجزئة الشبكة بطرق مختلفة، 

ن رمزه من  أ العدد المكوَّ ل أن يُجزَّ ويُفضَّ
رقمين إلى جزءين يكون أحدهما 10 أو أحد 

مضاعَفاتها.
 40 + 4 = 44   ،   10 + 7 = 17 : مثًال

تعبير شفهي
يشرح المتعلمون أنّ العامل الثاني في تعبير الضرب من 

مضاعَفات العدد 10، وبالتالي يدركون أنّه عليهم أن 
يجزّئوا العدد 72

د للمتعلّمين على أنّ الضرب في عشرة  أكِّ
ن رمزه  كاملة أسهل من الضرب في عدد مكوَّ

من أرقام مختلفة.

اُربط
يدرك المتعلّمون أنّه لإيجاد ناتج 7 × 304 يمكنهم أن 

يعيدوا كتابة 304 على شكل 4 + 300. وبالتالي فإنّ 
جمع الناتجين الجزئيين لـ 7 × 4 و7 × 300 يؤدّي إلى 

إيجاد ناتج 7 × 304، كذلك في )ب( يعيدون كتابة 
531 على شكل 500 + 30 + 1 ، ثمّ يجمعون النواتج 

 الجزئية لـ 500 × 2 و 30 × 2 و1 × 2 لإيجاد ناتج
2 × 531

اشِرح للمتعلّمين أنّه عليهم أن يحاولوا تكوين 
مئات كاملة في )أ( ومئات وعشرات كاملتين 
في )ب(، لأنّ ضربها أسهل من ضرب أعداد 

نة رموزها من أرقام مختلفة. مكوَّ
د للمتعلّمين على استخدام الخاصّية  أكِّ

ل للأعداد  التوزيعية بعد كتابة الاسم المطوَّ
الكبيرة.

�� �� ����
2-4  ���� ���� ������ ���� �������

Distributive Property

�� �� �� ��? �� ���� �� ���� �� �� �� �� �� �� ������ 16 �� �� �� �� �� �� , ���� ��� 5 �� ������ �� �� ���� ��� �� ���� �� �������
?  = 16 × 5

: ��������� ������ �� ������ ���� ���� ���� ��� ������ �� ��
1 �� ���M �����2 �� ���M �����3 �� ���M �����

5
16

16 × 5
5

610

(10 + 6) × 5
5

610

(10 × 5) + (6 × 5)
80 = 50  + 30

�������� 80 �� ���� �� ���� �� �� �� ��  � ���  80 =16 × 5 ������ ��

� ����� �� �� �� ? �� �� �� ���� ��� �� �� ���� �� �� �� �� ����� �� �� ��� , 30 × 72 ������ ����� ��   �� �� �� �� ���� �� ��
72 �� ����� �� ���� 30 �� ����� �� ,70 + 2 = 72

������ �� �� ���  �F�� ����
304 × 7 �

(300 + 4) × 7 =  304 × 7 
(300 × 7) + (4 × 7) =

2 100 + 28 =
2 128 =

2 × 531 �
2 × (1 + 30 + 500) =  2 × 531 

(2 × 1) + (2 × 30) + (2 × 500) =
2 + 60 + 1 000 =

1 062 =

: �� �� ���  1     �� �� ����
( 40  + 3) × 6 =  43 × 6 �

( 40  × 6) + ( 3  × 6) =
 240  + 18 =

 258  =

( 5  + 10  + 700) × 8 =  715 × 8 �
( 5 × 8  ) +( 10  × 8  ) + ( 700  × 8) =

40  + 80 + 5 600  =
 5 720  =
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يكمل المتعلّمون كتابة الأعداد المجهولة لإيجاد ناتج 
تعبيري الضرب باستخدام مكتسَباتهم من هذا الدرس.

في )أ(، اُكتب على السّبورة: 

)40 + 3( × 6 = 43 × 6
)40 × 6( + )3 × 6( =

ثمّ اطلب من المتعلّمين أن يضعوا الأسهم في 
)ب( لمساعدتهم على الإجابة.

التمرين )2(
يستخدم المتعلّمون الخاصّية التوزيعية لإيجاد ناتج 

تعبيرات الضرب بالشكل الأفقي، بعد أن يكتبوا الاسم 
ل لكلّ من 63  ،  503  ،  511  ،  71 المطوَّ

الِفت انتباههم إلى إمكانية استخدام شبكة 
المربّعات لمساعدتهم على الإجابة.

التمرين )3(
يكتب المتعلمون تعبير الضرب المناسِب، ثمّ يجدون 

ناتجه باستخدام الخاصّية التوزيعية.

اُطلب من المتعلّمين استخدام الضرب 
بالشكل الرأسي للتأكّد من إجاباتهم.

التمرين )4(
يجد المتعلّمون ناتج 30 × )8 + 4( باستخدام 

الطريقتين التاليتين:
الطريقة الأولى: إيجاد ناتج التعبير 8 + 4 وضربه 

في العدد 30، وذلك باستخدام خصائص الضرب 
والضرب في مضاعَفات العدد 10 بعد تجزيء 12 إلى 

10 + 2
الطريقة الثانية: اسِتخدام الخاصّية التوزيعية.

� ���� ���� ������ ���� ������� � �� �� ���� �� �� ��������� �� �� ���  2
+ 3 × 4 = (500 + 3) × 4 =  503 × 4 �

2 012 = 2 000 + 12 = 500 × 4
60 × 7 + 3 × 7 = (60 + 3) × 7 =  63 × 7 �

441 = 420 + 21 =

+ 1 × 30 = (70 + 1) × 30 =  71 × 30 �
2 130 = 2 100 + 30 = 70 × 30

 8 × 11 + 8 × 500 = 8 × (11 + 500) =  8 × 511 ��
4 088 = 88 + 4 000 =

 ��� ����� ����� ���� �� �� � �������� �� �� �� � �� ��� ���� �� � �������� 24 �� �� �� ���� �� ���� ���� ���M�� ���� �� , ������ ������ �������� ����� �� �� ����� ����   3
 � ���� ���� ������ ���� ������� �� �� ���� ���� ? ������ 9 �� ���M �� ��

� �������� 216 = 180 + 36 = 20 × 9 + 4 × 9 = (20 + 4) × 9 = 24 × 9

 �� ������ ����� �� �� �� �� � ������� ������ ������ �� 4 �� ���� ���� ������� ������ �� 8 ���� �� �� �� �� ���� ����� �� �� ���� �� �� 30 �� ���� ����� ��   4
� ������ ������ �� �� ������ �����M�� �� �� ?�� �� �� �� ���� �����

���� 360 = 300 + 60 = (10 + 2) 30 = 12 × 30 = (4 + 8) × 30 :������� �� ���
���� 360 = 120 + 240 = (4 × 30) + (8 × 30) = (4 + 8) × 30 :������� �� ���

:�������� ���� ���� ������ ���� ������� � �� �� ���� �� �� �50 + 4� × 3 ������ �� �� �� �� �� ���   5
 � �� �� �� �� �� �� �� �� ���� �� �� �� ����� ���M ����� �� ���� ����  , 62 = 50 + 12 = 50 + 4 × 3 = �50 + 4� × 3

162 = 150 + 12 = (50 × 3) + (4 × 3)= (50 + 4) × 3

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  ��
���� ���� �� ��?     6

������ 204 �� 5 �� �� �� ������
10 020  �2010  �1 020  ��120  �
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة
نوع النشاط: فردي.

المهارات المكتسَبة: تقريب أعداد إلى أقرب عشرة أو 
 إلى أقرب مئة، تذكّر حقائق الضرب الأساسية حتّى

9 × 9 = 81، اسِترجاع الضرب في 10، 100 ومضاعَفاتها.
الموادّ المستخدَمة في النشاط: سبّورة ذاتية، بطاقات 

ضرب خاطفة.

نشاط التعلّم: يقرأ المتعلّمون المسألة، فيدركون أنّه 
لتقدير كم كتابًا هناك في مكتبة عائشة، عليهم أن يجدوا 
الناتج التقديري لـ 4 × 289 باتّباع الخطوتين التاليتين:

الخطوة 1: تقريب العدد 289 إلى أقرب مئة.
ب العدد 289 إلى 300؟  الإجابة: لأنّ  اسِألهم: لماذا قُرِّ

بًا إلى أقرب مئة. 8 < 5 وبالتالي 289 ≈ 300 مقرِّ
ا. الخطوة 2: إيجاد ناتج ضرب 4 × 300 ذهنيًّ

وبذلك، يستنتج المتعلّمون أنّ هناك 200 1 كتاب تقريبًا 
في مكتبة عائشة.

بعدها، يقرأون المسألة الثانية، فيدركون أنّه للتحقّق من 
معقولية ناتج 12 × 176 عليهم استخدام التقدير باتّباع 

الخطوتين التاليتين:
الخطوة 1: تقريب كلّ من العاملين إلى أقرب مئة.

ب العدد 176 إلى 200؟  الإجابة: لأنّ  اسِألهم: لماذا قُرِّ
بًا إلى أقرب مئة، من  7 < 5 وبالتالي 176 ≈ 200 مقرَّ

ب العدد 12 إلى 10؟ الإجابة: لأنّ  ثمّ اسألهم: لماذا قُرِّ
بًا إلى أقرب عشرة. 2 > 5 وبالتالي 12 ≈ 10 مقرَّ
ا،  الخطوة 2: إيجاد ناتج ضرب 10 × 200 ذهنيًّ

ومقارنته مع 112 2 

اشِرح للمتعلّمين أنّه عندما يكون من الصعب 
أو من غير الضروري الحصول على الناتج 

الدقيق، يلجأون إلى التقدير.
د لهم على أنّه عند تقدير ناتج ضرب  أكِّ

ب كلّ عامل إلى أكبر منزِلة إّال إذا  عددين، يُقرَّ
نًا رمزه من رقم واحد فيبقى  كان العامل مكوَّ

كما هو.
ب إلى  الِفت انتباههم إلى أنّ العدد 289 قُرِّ

أقرب مئة لأنّها أكبر منزِلة في هذا العدد.
د لهم على أنّه إذا كان الناتج الدقيق قريبًا  أكِّ

من الناتج التقديري، تكون إجابة الناتج 
الدقيق معقولة.

�� �� ����
3-4�� �� ���� �������� ������ ��

Estimating Products

�� �� �� ��
� ���� �� 4 ���� �� �� �� �� ���� ������ �� �� ���� ����� �� ���� ��� ������� , ���� ����� �� �� �� ���� �� �� �� ���� ������ �� �� �� ������ ���� ����

? �� ������ ������ �� �� �� � ������ �� �� �� �� �� �� ,� ������ �� 289 ��� �� ���� ��� ���
������ �� ���� �� ���������� ��� �� ���� ��

�� ���� ���� ���� �� �� �� ��� ���� ���� �� ��
� ���� ���� ��������� �� �� ���� �����

 : ����������� �����M ����� ����� ���� ,289 × 4 ������ ����������
������ ���� �� �� ���� ������ �� �� ���

289300
×4×4

1 200

� ���� �� �� �� ��� ��� 289 �� �� ����� �� �� ��
289300

×4×4

������ �� �� ������ 1 200 �� ������ ������ �� �� �� ���� ����� �� �� �� � ���  1 200 ≈ 289 × 4 ������ ��
� ��������� �������� �� �� �� �� �� �� �������� �� �� ��  2 112 �� �� 176 × 12 ������

: ����������� �����M ����� ����� ���� ,176 × 12 ������ ����������
������ ���� �� �� ���� ������ �� �� ���

176200
12×10

2 000

� ���� �� ������� ��� �� �� ��
176200

12×10

2 000 ≈ 176 × 12 ������ ��
� ������ �� �� �� ���� ������ ��� �� ,2 000 �� �� ����� �� �� ����� �� 2 112 �� �� ����� �� �� ��

? �� ����� ���� � ���� ���� ��������� �� �� ��� ���� , �� ���������� ��������� �� �� ���  �F�� ����
209 × 31  �

209200
×31×30

6 000
6 000 ≈ 209 × 31

 6 479 = 209 × 31 ���� ���� ���������

68 × 47  �
6870

×47×50
3 500

3 500 ≈ 68 × 47
 3 196 = 68 × 47 ���� ���� ���������

������ , �� �� ��� �� �� �� ��� ���� �� ������� ��� ������ �� ���� ��
� ���� ���� ��������� �� �� �� �� ��� �� ���������� ���������

������ , ���� ��� �� �� �� ��� ���� �� ������� ��� ������ �� ���� ��
� ���� ���� ��������� �� �� ���� ��� �� ���������� ���������
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نوع النشاط: جماعي.
المهارات المكتسَبة: تقدير ناتج ضرب باستخدام 

التقريب إلى أقرب عشرة وإلى أقرب مئة والحساب 
الذهني.

الموادّ المستخدَمة في النشاط: سبّورة.

اُربط
يلاحظ المتعلّمون في )أ( أنّه عند تقريب كلّ من 

العاملين إلى أقرب عشرة لإيجاد الناتج التقديري 
يحصلون على عاملين أكبر، وبالتالي فإنّ الناتج 

التقديري أكبر من الناتج الدقيق. أمّا في )ب( فيلاحظون 
أنّه عند تقريب كلّ من العاملين إلى أقرب مئة يحصلون 
على عاملين أصغر، وبالتالي فإنّ الناتج التقديري أصغر 

من الناتج الدقيق.

اُكتب على السبّورة 68 ≈ 70  و  70 < 68
47 ≈ 50  و  50 < 47

ثمّ اطلب منهم أن يجدوا ناتج 47 × 68 على 
الآلة الحاسبة واكتب 500 3 < 196 3

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يقرّب المتعلّمون في )أ( العامل 834 إلى أقرب مئة، 
ا. في )ب(، يقرّبون كلا  ثمّ يجدون ناتج الضرب ذهنيًّ

العاملين إلى أقرب عشرة، ثمّ يجدون ناتج الضرب 
ا. ذهنيًّ

ر المتعلّمين بأنّه عند التقريب إلى أقرب  ذكِّ
عشرة، عليهم أن يقارنوا رقم آحاد العدد بالرقم 

5، أمّا عند التقريب إلى أقرب مئة، فعليهم أن 
يقارنوا رقم عشرات العدد بالرقم 5

� �� ���������� ��������� �� �� �� �� ������ �� �� ���  1   �� �� ����
4770

×83×40
2 800

 �

2 800  ≈ 74 × 38

438800
×9×9

7 200

 �

7 200  ≈ 834 × 9

� �� ���������� ��������� �� �� ���  2
167008

×5×5
0004

 � 3404
×4×4

061

 �

519009
×23×03

00072

 � 872003
×55×06

00081

 ��

2 000 = 100 × 20 ≈ 126 × 18 � 3 000 = 500 × 6 ≈ 507 × 6 ��

 ��� � �� �� �� �� ����� �� �� �� �� �� �� ������ ������� �� ������ �� �� ������� �� ���� �� ���� ���� �� �� ���� �� �� ���� ���� �� �� �� �� ������ �� �� �� �� �� �� �� ����� ������   3
� ���� ����� �� ���� � ������� �� ���� �� �� ���� ���� ���� �� 110 ���� ��� �� �� �� ������ �� �� �� ,� ���� ���� �� 24 ���� �� �� �� �� ������ 6 ���� �� ����

���� 120 = 20 × 6 ≈ 24 × 6  �� ���� � ,��
� ���� ����� �� ���� ? ���� ���� ��������� �� �� �� �� ��� ��� ���� ��� 48 × 289 ���� �� ���������� ��������� �� ��   4

50 ≈ 48   �   300 ≈ 289 ,���� ��� ��� �������� �� ���� ���� ������ ������ �� ����

:�������� 139 × 18 ���� �� ���������� ��������� �������� ��������� �� �� �� �� �� ����   5
139 × 18140 × 20 ≈2 800 =

139 × 18100 × 20 ≈2 000 =
�� �� �� �����������

� ���� ����� �� ���� � ���� ���� ��������� ��� �� �� ��� ���� ����� ������ �� �� ��� �� �� ��� ���� , ���� ���� ��������� �� �� ���
������� ������ ��� ���� ���� ����� � ��� ; 2 502 ��� ���� 2 800 ¡2 502 = 139 × 18

40 000 = 400 × 100 ≈ 413 × 96 ���� �� ���������� ��������� �� �� ���   ��
���� ���� �� ��?   6
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
لإيجاد كم كيلومترًا أُنجِز في 5 أشهر عليهم أن يجدوا 

ناتج 5 × 372، ويلاحظون اتّباع الخطوات التالية:
الخطوة 1: الضرب في الآحاد وإعادة التسمية إذا ما 

دعت الحاجة )5 × 2 آحاد  = 10 آحاد = 1 عشرات(
الخطوة 2: الضرب في العشرات وجمع العشرات 

 المعاد تسميتها مع ناتج ضرب العشرات وإعادة التسمية
 إذا ما دعت الحاجة

 )5 × 7 عشرات = 35 عشرة، 35 عشرة + 1 عشرات
= 36 عشرة = 6 عشرات + 3 مئات(.

الخطوة 3: الضرب في المئات وجمع المئات المعادة 
تسميتها مع ناتج ضرب المئات وإعادة التسمية إذا ما 

 دعت الحاجة )5 × 3 مئات = 15 مئة،
15 مئة + 3 مئات = 18 مئة = 8 مئات + 1 آلاف(. 
وبذلك، يستنتج المتعلّمون أنّ 5 × 372 = 860 1

أخيرًا، يقرّبون العدد 372 إلى أقرب مئة، ثمّ يجدون 
ناتج 5 × 400 لإيجاد الناتج التقديري، وذلك للتأكّد 

من معقولية الإجابة.
نوع النشاط: جماعي.

ن رمزه  المهارات المكتسَبة: إيجاد ناتج ضرب عدد مكوَّ
ن رمزه من 3 أرقام، إيجاد  من رقم واحد في عدد مكوَّ

ناتج الضرب التقديري.
الموادّ المستخدَمة في النشاط: سبّورة.

ر المتعلّمين بأنّهم يحتاجون إلى استبدال  ذكِّ
الوحدات بعشرات عندما يكون عدد 

الوحدات أكثر من 9، والعشرات بمئات 
عندما يكون عدد العشرات أكثر من 9،

د لهم على أنّه إذا كان الناتج الدقيق  ثمّ أكِّ
قريبًا من الناتج التقديري تكون إجابة الناتج 

الدقيق معقولة.

�� �� ����
4-4

���� �� ����� ���� �� ��� �� �� ��
Multiplying Whole Numbers

�� �� �� ���� �������� 372 � �� �� �� �� �� ���� �� �� �� �� ���� ������ �� , �� ���M�� ������ �� ���� �� �� �� ���� �� ���� �� ��� �� �� �� �������� ����
? �� �� ��� 5 ��� �� �� ���� �� � �������� �� �� ��

?  = 372 × 5
: ��������� ����� �� ����������� �����M ����� ���� ��� ������ �� ��

 ���� �� ������ �� ��� �� �������� �� �� ���� :1 �� ���M �����
� �� ������� ���� ��

 �� �� ���� ���� ��������� �� �� ���� :2 �� ���M �����
 ���� �� ���� �� ������ �� ��� ���� , �� ����� ���� ���� �������

� �� �������

 �� �� ���� ���� ������� �� �� ���� :3 �� ���M �����
 ���� �� ���� �� ������ �� ��� ���� , �� ����� ���� ���� �����

� �� �������
1

273
×5

0

13
273

×5
06

13
273

×5
0681

● � ���� ����� �������� �� �� �� �� �� �� �������� ���������� ���� ���� ��� ���M�� ����
2 000 = 400 × 5 ≈ 372 × 5

� ������ �� �� �� ���� ���� ��������� ,2 000 �� �� ����� �� �� ���� �� 1 860 �� �� �����
1 860 = 372 × 5 ������ ��

� �� �� ��� 5 ��� �� � �������� 1 860 �� �� �� ���� �� ���� ��  � ���

� ��������� �� �� ���  �F�� ����
 92 × 15  �

1 380 = 92 × 15

436 × 251  �

109 436 = 436 × 251

1
31

634
×152

6341436 × 1
00812436 × 50

+00278436 × 200
634901

1
29

×51
06492 × 5

+02992 × 10
0831
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اُربط
يتّبع المتعلّمون الخطوات التالية لإيجاد ناتج الضرب 

في )أ(:
الخطوة 1: إيجاد ناتج ضرب رقم آحاد العامل 15 في 

العامل 92، أي إيجاد ناتج 5 آحاد × 92
الخطوة 2: إيجاد ناتج ضرب رقم عشرات العامل 15 في 
العامل 92، أي إيجاد ناتج 1 عشرات × 92 = 10 × 92

الخطوة 3: جمع الناتجين )ناتج الخطوة 1 + ناتج 
الخطوة 2( لإيجاد ناتج الضرب.

أمّا في )ب( فيتّبعون الخطوات التالية:
الخطوة 1: إيجاد ناتج ضرب رقم آحاد العامل 251 في 

العامل 436، أي إيجاد ناتج 1 آحاد × 436
الخطوة 2: إيجاد ناتج ضرب رقم عشرات العامل 251 

في العامل 436، أي إيجاد ناتج 5 عشرات × 436
الخطوة 3: إيجاد ناتج ضرب رقم مئات العامل 251 في 

العامل 436، أي إيجاد ناتج 2 مئات × 436
الخطوة 4: جمع النواتج الجزئية )ناتج الخطوة 1 + 

ناتج الخطوة 2 + ناتج الخطوة 3( لإيجاد ناتج الضرب.

 اسِتخدِم شبكة مربّعات مناسِبة لتمثيل
15 × 92 في )أ( لمساعدتهم على فهم 

النواتج الجزئية.

�� �� ����
� ���� ����� �������� �� �� �� �� �� �� �������� �� ���������� ��������� �� �� ��� ���� , ��������� �� �� ���  1

93
×54

591
+0651

5571

 ��

2000 = 40 × 50 ≈ 39 × 45

382
×9

7452
 �

2700 = 300 × 9 ≈ 283 × 9

47
×6

444
 �

420 = 70 × 6 ≈ 74 × 6

892
×801

4832
+00892

48123

 �

300 × 100 ≈ 298 × 108
30 000 =

295
×341

6771
08632

+00295
65648

 ��

100 × 600 ≈ 143 × 592
60 000 =

706
×26

4121
+02463

43673

 �

 600 × 60 ≈ 607 × 62
36 000 =

? ������ ������ ���� ����� ���� �� �� �� ���� �� �� �� ���� �� 125 ���� ����� �� �� �� �� ������� �� ���M ����� �� ���� �� �� ���M�� 24 ���� �� ���� �� �� �� ����   2
������ 3 = ��� 3 000 = 125 × 24 :������ ���� ���

����� �� ���� , 210 × 6 ���� ���� �� �� ���� ���� ����� �� �� �� ����   3
1 260 = 210 × 6 ,��������� ������ �����

�7 �� �� ����� �� ���� �� �� ������ �� �� ��� ���� �� �� ����� �� �� �� ?���� �� ���� ��� ��� ���� ���� ����� ���� ����� ���� �� �� ��   4  
���������� ������ �����  �70 �� �� �� ���� ��� ���������

22743

1267 43
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نشاط التعلّم: يقرأ المتعلّمون النشاط، فيدركون أنّه 
عليهم إيجاد مضاعَفات العدد 2، وذلك من خلال العدّ 

ا بالاثنينات بدءًا من العدد 2 على لوحة المئة  تجاوزيًّ
وتظليل الأعداد باللون الأصفر وإيجاد مضاعَفات العدد 

3، وذلك من خلال العدّ التجاوزي بالثلاثات بدءًا من 
العدد 3 على لوحة المئة وتظليل الأعداد باللون الأزرق.

بعدها، اُطلب منهم أن يكتبوا الأعداد التي ظلّلوها 
مرّتين، ثمّ اسألهم: من بين هذه الأعداد، أيّ عدد هو 

العدد الأصغر؟ الإجابة: العدد 6
اشِرح لهم أنّ العدد 6 هو أصغر المضاعَفات المشترَكة 

للعدين 2، 3، لذلك نسمّيه المضاعَف المشترَك الأصغر 
.) .لهما، ويُرمَز إليه بـ )م.م

 اشِرح لهم أنّه بإمكانهم إيجاد مضاعَفات عدد ما
( باتّباع الخطوات التالية: )العدد 5 مثًال

الخطوة 1: ضرب العدد 5 في العدد 1: 5 × 1 = 5 
الخطوة 2: ضرب العدد 5 في العدد 2: 5 × 2 = 10
الخطوة 3: ضرب العدد 5 في العدد 3: 5 × 3 = 15
الخطوة 4: ضرب العدد 5 في العدد 4: 5 × 4 = 20

وهكذا دواليك، فتكون الأعداد 5، 10 ، 15، 20، ... 
هي مضاعَفات العدد 5

نوع النشاط: جماعي.
المهارات المكتسَبة: إيجاد مضاعَفات عدد ما باستخدام 

لوحة المئة أو إيجاد المضاعَف المشترَك الأصغر لعددين.
الموادّ المستخدَمة في النشاط: لوحة المئة، سبّورة.

الِفت انتباه المتعلّمين إلى أنّ الأعداد التي 
لت باللونين  ظلّلوها مرّتين )الأعداد التي ظُلِّ

الأصفر والأزرق( تُسمّى المضاعَفات 
المشترَكة للعددين 2، 3

اشِرح لهم أنّ ناتج العدد المضروب في 
1 يُسمّى المضاعَف الأوّل وهو يكون 

العدد نفسه الذي نجد مضاعَفاته، وناتج 
العدد المضروب في 2 يُسمّى المضاعَف 

الثاني، وناتج العدد المضروب في 3 يُسمّى 
المضاعَف الثالث، وناتج العدد المضروب 

في 4 يُسمّى المضاعَف الرابع، وهكذا 
دواليك.

اُطلب منهم إيجاد المضاعَفات الأربعة 
الأولى للعدد 4 للتأكّد من فهمهم.

�� �� ����
5-4

�� �� �� ��
:�������� �� �� �� �� ���� ���� �� �� �� �� �� ������ �� �� ���� ����� �� �� ���� �� �� ������

● 10 9 8 7 6 5 4 3 2 1
20 19 18 17 16 15 14 13 12 11
30 29 28 27 26 25 24 23 22 21
40 39 38 37 36 35 34 33 32 31
50 49 48 47 46 45 44 43 42 41
60 59 58 57 56 55 54 53 52 51
70 69 68 67 66 65 64 63 62 61
80 79 78 77 76 75 74 73 72 71
90 89 88 87 86 85 84 83 82 81

100 99 98 97 96 95 94 93 92 91

 ���� �� ��� ���� �� �� ���� ����� �� �� ���� �� �� �������� �� ����� � �� �� ������ �� �� 
�2 �� �� ����� ���� ���� �� � �� ���� ���� �� ��� �� ��� � �� �� �� ��� �� ��������

●  ���� �� ��� ���� �� �� ���� ����� �� �� ���� �� �� ����������� � �� �� ������ �� �� 
�3 �� �� ����� ���� ���� �� � �� ���� ���� �� ��� �� ��� � �� �� �� ��� �� ��������

● … , 24 ,18 ,12 , 6 � ���� �� �� �� ���� �� �� �� ����� ���� �� ��� ���� ����
3 , 2 �� �� �� �� ������ �� �� ���� �� ����� ���� ���� ����� � �� ���� ���� �� ��� �� ���

● 6  �� �� ����� �� �� 3  , 2  �� �� �� �� ������ �� �� ���� �� ����� ���� ���� ����� �� �� ���
��  ����� ��� ������� �� �� �� �� �� �� ���� �� �� �� ��� �� �� �� �� ����� �� ���� ����� � �� ���� ��

  ¡ 5 ¡ 4 ¡ 3 ¡2 ¡1   ���� �� ��� �� �� �� ����� ��� �� �� ���� �� �� �� �� ���� ���� �� ������ ������ �� ��
 : ����������� �����M ����� ������� �� 5 �� �� ����� ���� ���� �� ����� �� , ���� �� ��

� �� �� ��� �� ���� ����� � �� ���� �� 5 = 1 × 5
� ��������� �� ���� ����� � �� ���� �� 10 = 2 × 5

� ��������� �� ���� ����� � �� ���� �� 15 = 3 × 5
.�� ��� ��  ������ ���� �� ���� ����� � �� ���� �� 20 = 4 × 5

  , 20 , 15 , 10 , 5 : �� �� 5 �� �� ����� ���� ���� �� ������ ��

?6 , 4 �� �� �� �� ������ �� �� �� ��� �� ���� �� ����� �� ���� ����� ������ ������ �� �� ���� ��     �F�� ����
 : ����������� �����M ����� ������� �� �� �� �� ��� �� ���� �� ����� �� ���� ����� ����� ��

● ��� , 36  , 32 , 28 , 24  , 20 , 16 , 12  , 8 , 4 : �� �� 4 �� �� ����� ���� ���� ��
● ��� , 42 , 36  , 30 , 24  , 18 , 12  , 6 : �� �� 6 �� �� ����� ���� ���� ��
● ��� , 36 , 24 , 12 : �� �� 6 , 4 �� �� �� �� ������ �� �� ���� �� ����� ���� ���� �����
● 12 �� �� 6 , 4 �� �� �� �� ������ �  ����� �� �� �� ��� �� ���� �� ����� �� ���� �����

12 ���� ��� �� ��  ����� �� �� �� ����� �� �� ���� �� ����� ���� ���� ����� �U����� �� ��   �� �� �� �� ���� �� ��

  �  �� ��� �� �� �� ��� �� ���� �� ����� �� ���� �����
The Least Common Multiple (L C M)
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اُربط
يدرك المتعلّمون أنّه لإيجاد المضاعَف المشترَك الأصغر 
للعددين 4، 6 عليهم أن يجدوا مضاعَفاتِ كلّ من 4 و6، 

ثمّ عليهم أن يختاروا أوّل مضاعَف مشترَك للعددين.

الِفت انتباه المتعلّمين إلى أنّ المضاعَفات 
المشترَكة للعددين 4، 6 هي تلك التي تتكرّر 

في الصفّين. )صفّ مضاعَفات العدد 4 
وصفّ مضاعَفات العدد 6(

تعبير شفهي
يقيّم هذا التعبير دقّة ملاحظة المتعلّمين وقدرتهم على 

استنتاج ووصف أنماط.

اسِتمِع إلى حاجات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1( 

يجد المتعلّمون المضاعَفات الخمسة الأولى في كلّ من  
)أ( و)ب( و)جـ( و)د( باتّباع الخطوات التي تعلّموها 

في نشاط »التعلّم«.

د للمتعلّمين على أنّ المضاعَف الأوّل  أكِّ
لعدد ما هو العدد نفسه لأنّه مضروب في 

واحد.

التمرين )2( 
يجد المتعلّمون المضاعَف السابع في كلّ من )أ( و)ب( 

و)جـ( من خلال ضرب كلّ من الأعداد في 7

اُطلب من المتعلّمين إيجاد المضاعَف 
السادس في كلّ من )أ( و)ب(.

التمرين )3( 
يجد المتعلّمون مضاعَفات العددين في )أ( و)ب( 
و)جـ( و)د(، ثمّ يحدّدون المضاعَفات المشترَكة  

للعددين. أخيرًا، يجدون أصغر المضاعَفات المشترَكة 
للعددين الذي يكون المضاعَف المشترَك الأصغر لهما.
كذلك الأمر في )هـ( و)و( ولكن لثلاثة أعداد، فيجدون 

مضاعَفات الأعداد الثلاثة، ثمّ يحدّدون المضاعَفات 
المشترَكة للأعداد الثلاثة ويجدون المضاعَف المشترَك 

الأصغر لها.

الِفت انتباههم إلى إمكانية استخدام لوحة 
المئة لمساعدتهم على الإجابة.

:���� �� �� �� �� �� �� ���� ��� ��� �� �� �� ����� ���� ���� ����� �� �� ���  1     �� �� ����
35 ¡ 28 ¡ 21 ¡ 14 ¡ 7 : 7 � 10 ¡ 8 ¡ 6 ¡ 4 ¡ 2 : 2 �

60 ¡ 48 ¡ 36 ¡ 24 ¡ 12 : 12 � 50 ¡ 40 ¡ 30 ¡ 20 ¡ 10 : 10 ��

: ����������� ���� �� ��� �� �� �� ���� ������ ���� �� ���� ����� �� �� ���  2
56   : 8 �63  : 9 �77  : 11 ��

:���� � �� �� �� ���� �  ����� �� �� �� ��� �� ���� �� ����� �� ���� ����� �� �� ���  3
18  9  , 6 � 15  5  , 3 �

30  15  , 10 � 8   8  , 4 ��

28   7  , 4  , 2 � 6   6  , 3  , 2 ��

 �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �M�� �� ����� �� ������� ������ ����� �� �� �� �� �� �� , �� �� ��� 6 �� �� ������� �� �� �� ��� 8 ���� ���� �� ����   4
  , 4 : ����� ���  , 3 : ������� ��� ? �� �� �� ��� �� ��� �� �� �� �� �� �� ? �� ���� �� ��

24 : ����� ���

5  , 4 �� �� �� �� ������ � �� ���� �� �� � �� ���� �� ���� ���� ����� ���� �� ��� �U �� ��  ��
���� ���� �� ��?    5

15403693025202480

81

https://school-kw.com/


 

137

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

بعدها، اُكتب على السبّورة: 0٫7 واعرض عليهم 
شبكتي أعشار كالتالي:

)ب(   	 )أ(  

اسِألهم أيّ شبكة أعشار الجزء المظلّل منها يبيّن الكسر 
العشري 0٫7؟  الإجابة: الشبكة )ب(

أخيرًا، اُطلب من كلّ منهم أن يلوّن على شبكات 
الأعشار ما يدلّ على العدد العشري 2٫4 

الإجابة: 

نوع النشاط: فردي.
المهارات المكتسَبة: تذكّر حقائق الضرب الأساسية 

حتّى 9 × 9 = 81، إيجاد ناتج الضرب في 10، 100، 
000 1، تمثيل كسر عشري وعدد عشري.

الموادّ المستخدَمة في النشاط: شبكة الأعشار، بطاقات 
ضرب خاطفة.

نشاط التعلّم: اُطلب من أحد المتعلّمين أن يقرأ بصوت 
مرتفع السؤال المطروح،  واشرح لهم كيف تمّ إيجاد 

ناتج 10 × 0٫3 باستخدام الطريقتين التاليتين:
الطريقة الأولى: اسِتخدام شبكات الأعشار باتّباع 

الخطوتين التاليتين:
الخطوة 1: تلوين ما يمثّل الكسر العشري 0٫3 على 

شبكة الأعشار.

نة  ر المتعلّمين بأنّ كلّ شبكة أعشار ملوَّ ذكِّ
بالكامل تمثّل العدد 1

�� �� ����
6-4�� �� ���� ������ �� �� �� �� �� �� ������� ���� �� ��� �U����� ���� ���� ����

Exploring the Patterns of Multiplying Decimal Numbers

�� �� �� ��
? 0٫3 × 10 ������ ������ ������ �� �� ���� ��

 0٫3 × 10 ������ ����� �� �� ���M�� ������ �������
� ������ ���� ���� ���� ����� : �� ���

0٫3 ���� �� �� �� �� ���� :1 �� ���M ������ ��� �� �� 10 ��� �� ���������� �� �� �� :2 �� ���M �����

3 = 0٫3 × 10 � ���
3 = 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 + 0٫3 = 0٫3 × 10 : �� �� ���� ����� �� �� ����� ���� ���� ����� :�������

: ��������� �� ������ ���� ������� ������ �� �� ���� ����

  

1٫56  = 10 × 0٫1562  = 10 × 0٫239٫1  = 3٫91 × 10
15٫6  = 100 × 0٫15620  = 100 × 0٫2391  = 3٫91 × 100
156  = 1 000 × 0٫156200  = 1 000 × 0٫23 910  = 3٫91 × 1 000

  ?������ ��� ����� �U���� ��� ��

�� ���:��� ��� �U���� ��� � �� �� ���� �� �� ��������� �� �� ���
57٫31  = 10 × 5,731  �

573,1  = 100 × 5,731
5 731  = 1 000 × 5,731

23  = 2٫3 × 10  �
230  = 2٫3 × 100

2 300  = 2٫3 × 1 000

1٫9  = 10 × 0٫19  ��
19  = 100 × 0٫19

190  = 1 000 × 0٫19

 � ���� �� ���� ���� ����� ���� ���� ����� �� �� ������� ���� �� �� �� �� ������� ���� �� ��� �� �� �� ������ ����� �� �� ���M�� �� ��� �������   �F�� ����
1 000 �� �� 100 �� �� 10 �� 62,38 �� �� ����

623,8 = 10 × 62,386 238 = 6238,  = 100 × 62,3862 380 = 62380,  = 1 000 × 62,38
�� ���� �� �� �� 10 �� �� ����� ��

�� �� ���� ���� ���� �� �� �� �� ������� �� �� ������� �� �� ��
� ��������� �� ����

���� �� �� 100 �� �� ����� ��
� ��������� �� ���� ������ �� ���� �� �� �� �� ������� �� �� ������� �� �� ��

���� ��� �� ����� 1 000 �� �� في �����
 � ��������� �� ���� �� ���� �� ����� �� �� �� ������� �� �� ������� �� �� ��

� ��������� � ���� ��� ���� ����
� ���� ����� �� �� ����� �� ������ �� ������ ��� �� �� �� ������� �� �� ������� ���� ���� ��� �� ���� �

 ������100 �� ���� ������ ,������ ��� ��� ������� ������� ���� 10 �� ���� �����
�� ������ ����� ������ ��� ���� ��� ������1 000 �� ���� ������ ,������ ��� �����
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الخطوة 2: تكرار التلوين حتّى 10 مرّات بألوان مختلفة 
لأنّ الكسر العشري 0٫3 مضروب في العدد 10

نة  وبذلك، يحصلون على ثلاث شبكات أعشار ملوَّ
بالكامل ويستنتجون أنّ 10 × 0٫3 = 3

الطريقة الثانية: اسِتخدام الجمع المتكرّر من خلال جمع 
الكسر العشري 0٫3 عشر مرّات.

وبذلك، يستنتجون أنّ 10 × 0٫3 = 3 
في القسم الثاني من النشاط، يدرك المتعلّمون بعد إيجاد 

نواتج الضرب باستخدام الآلة الحاسبة، أنّه في كلّ 
مجموعة، عندما يضربون في العدد 10 تتحرّك الفاصلة 

العشرية مرّة واحدة نحو اليمين، وعندما يضربون في 
العدد 100 تتحرّك الفاصلة العشرية مرّتين اثنتين نحو 

اليمين، وعندما يضربون في العدد 000 1 تتحرّك 
الفاصلة العشرية ثلاث مرّات نحو اليمين.

نوع النشاط: جماعي.
المهارات المكتسَبة: إيجاد ناتج ضرب عدد عشري في 

10 باستخدام شبكة الأعشار والجمع المتكرّر، إيجاد 
نواتج ضرب أعداد عشرية في 10، 100، 000 1

الموادّ المستخدَمة في النشاط: شبكة الأعشار، آلة حاسبة.

نة  ر المتعلّمين بأنّ كلّ شبكة أعشار ملوَّ ذكِّ
بالكامل تمثّل العدد 1

اشِرح للمتعلّمين أنّه عند الضرب، الفاصلة 
العشرية تتحرّك إلى اليمين عدد مرّات يساوي 

عدد الأصفار في 10 و100 و000 1 
د لهم على أنّه عندما يريدون تحريك  ثمّ أكِّ

الفاصلة إلى اليمين، ولا يوجَد عدد إلى يمين 
الفاصلة، عليهم إضافة أصفار.

لاحِظ
يستخدم  المتعلّمون الأنماط في نشاط »التعلّم« لإيجاد 

نواتج الضرب في كلّ من )أ( و)ب( و)جـ(.

ر المتعلّمين بأنّ ناتج الضرب هو نفسه مهما  ذكِّ
، في )ب(، ناتج  اختلف ترتيب الأعداد. مثًال

10 × 2٫3 هو نفسه ناتج 2٫3 × 10 

��� ���� ���� ���� �� � ���� ��� ���� ���� � ��������� �� �� �� �� ������� �� �� ������� �� ��  1   �� �� ����
2٫4   24 = 10 × 0٫24  �31٫6    316 = 100 × 0٫316  �

������� ���� �� ���� � ,4 230  423 = 100 × 42,3   ��������� ���� �� ���� �  9 257 = 1 000 × 9٫257  �

: ��������� �� �� ���   2
47  = 10 × 4,7  �327 100  = 1 000 × 327,1  �8  = 100 × 0٫08  ��

9 060  = 1 000 × 9,06  �32,8  = 10 × 3,28  ��25 160  = 100 × 251,6  �

8,5  = 0٫85 × 10  �607,1  = 6٫071 × 100  �7 814  = 7٫814 × 1 000  U

��� ��������� �� ��� 8�65 ���� �� �� �� �� �� �� �� , �� �� ������ �� �� ���� ���� �� ����� ���I�� �� �� �� �� ���� 100 ���� ������ �� �� ���M�� ���� �� ����   3
��� 865 = 100 × 8٫65   ? ���� ������ ���� �� �� �� ��������� �� �� � ��������� �� ��

?�� ������ �� ������ �� 10 �� �� �� ������� �� �� � ���� �� �� �� , ������� �� �� ���� 1�25 ��� �� ���� �� �� �� ������� �� ��������� ������ ���   4
� ���� 12٫5 = 10 × 1٫25 :������ 10 ���

 �� �� ���� �� �� ������ �� 100 �� �� ������ ���� ��� ���� �� ,�� �� ������ ���� �� �� �� ���� ���� �� �� ������ �� �� �� ������ �� �� ������ �� ������ ��    5
� ���� ����� �� ���� ? ���� �� �� �� �� �� ��� ��� �� ������ ���� �� �� ���� �� �� � ��������� �� �� �� ���� 6�8 ���� �� �� �� ��

������ ��
680 = 6٫8 × 100

������ ��
68٫0 = 6٫8 × 100

������ ��� ������� ���� ����� ��� ������� ��� � ���� ����� ������ ��� ����� ������� ������� ��� ��� ,�����

?100 × 63�81 ������ �� �� �� �� ������ ���� �� �� ���� �� �� ����� �� ���� ��� �� �� �� ���M�� ���� �� ���� �10 �� 63�81 �� �� ����   6
638�1 = 10 × 63�81

100 × 63�81  ���� ��� ����� 10 �� 10 × 63�81 ���� ���� �� ����� � ��� , 6 381 = 100 × 63�81

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  ��
���� ���� �� ��?    7

?�� �� �� �� �� ������ �� �� �� �� �� �� 100 ���� ������ ���� ���� � ���� �� �� ��� � �� �� �� �� ���� ������ ������ ����� �� �� �� �� �� ���� 1�5 �� ���� �� �� �� ���� ����
� ���� 150  �  ���� 1�50  ����� 0�15  ��� ���� 15  �
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نشاط التعلّم: يقرأ المتعلّمون المسألة، فيدركون أنّه 
لمعرفة عدد الكلمات التي يقرأها حسن في الدقيقة 
الواحدة، عليهم إيجاد ناتج 6٠ × 1٫2٥ التقديري 

فيقرّبون العدد العشري 1٫2٥ إلى أقرب عدد كلّي. 
ب العدد العشري 1٫2٥ إلى 1؟ اسِألهم: لماذا قُرِّ

بًا إلى أقرب  الإجابة: لأنّ 2 > ٥ وبالتالي 1٫2٥ ≈ 1 مقرِّ
 عدد كلّي. ثمّ اطلب منهم أن يجدوا ناتج 1 × 6٠

الإجابة: 60
فيستنتجون أنّ حسنًا يقرأ 60 كلمة تقريبًا في الدقيقة 

الواحدة. بعدها، يدركون أنّه لمعرفة عدد الكلمات التي 
 يقرأها طارق خلال ٣٫2 دقائق، عليهم إيجاد ناتج

٣٫2 × 97 التقديري، فيقرّبون العدد الكلّي ٩٧ إلى 
ب العدد ٩٧ إلى 1٠٠؟  أقرب مئة، اسِألهم: لماذا قُرِّ

بًا إلى أقرب  الإجابة: لأنّ 7 < ٥ وبالتالي ٩٧ ≈ 1٠٠ مقرِّ
مئة. ثمّ يقرّبون العدد العشري ٣٫2 إلى أقرب عدد كلّي، 
ب العدد العشري ٣٫2 إلى ٣؟ الإجابة:  اسِألهم: لماذا قُرِّ
بًا إلى أقرب عدد كلّي.  لأنّ 2 > ٥ وبالتالي ٣٫2 ≈ ٣ مقرِّ

ا. وبذلك، يستنتجون  أخيرًا، يجدون ناتج ٣ × 1٠٠ ذهنيًّ
أنّ طارقًا يقرأ 3٠٠ كلمة تقريبًا في ٣٫2 دقائق.

نوع النشاط: جماعي.
المهارات المكتسَبة: تقدير ناتج ضرب أعداد كلّية في 

أعداد عشرية بتقريب الأعداد الكلّية إلى أقرب مئة 
والأعداد العشرية إلى أقرب عدد كلّي.
الموادّ المستخدَمة في النشاط: سبّورة.

ر المتعلّمين بأنّ 1 دقيقة = 6٠ ثانية.  ذكِّ
عند تقريب عدد عشري إلى عدد كلّي، 

ا تحت المنزِلة  اُطلب منهم أن يضعوا خطًّ
التي يقرّبون إليها ودائرة حول الرقم الذي 

سيقارنونه بـ٥ لمساعدتهم على الإجابة.

�� �� ����
7-4

�� �� �� ������� ���� �� ��� �� �� �� ������ ������ ��
Estimating Products of Decimal Numbers

�� �� �� ��
 � ����������� ���� ���� �� ����� ���� ����� �� ���� ���� ��� ���� �� �� ������ �� �� ���I �� �� �� ��

������ �� �� �� �� ������� ����������� �� �� ���� �� 1٫25 �� �� �� �� �� �� ��
,����� �� �� �� �� ������� �� ���� ���� �� �� ���� �� 97 �� �� ���� �� �� ���I � ���

?�� �� ������� �� ���� ���� �� �� �� �� ���� �� �� �� �� ���� �� �� �� �� �� ��
 ? ��� ���� �� 3٫2 ��� �� �� ���I ���� �� �� �� �� ���� �� �� �� ��

� �� �� ���� �������� ���������� ���� �� ��� ������ �� ���� ���� ��� ������ �� ��
��� �� ������� �� ���� ���� �� �� �� �� ���� �� �� �� ����� ������ ����� �� �� �� ����������

¿  ≈ 1�25 × 60 ������ �� �� ��
52,11

×06×06
06

60 ≈ 1٫25 × 60   Ç ðÐÅ
��� �� ������� �� ���� ���� �� �� ���� �� 60 ����� �� �� �� �� �� �� �� �� �� ��������� ��

� ��� ���� �� 3٫2 ��� �� �� ���I ���� �� �� �� ����� ������ ����� �� �� �� ����������
¿   = 97 × 3٫2 ������ �� �� ��

79
 

001
×2,3×3

003
300 ≈ 97 × 3,2   Ç ðÐÅ

� �� ���� �� 3�2 �� �� ���� �� 300 ����� �� �� �� ���I �� �� �� �� ��������� ��

� ���� ����� �� ���� ? �� ���I ��� �� �� �� , ���� ��� �� �� �� ���� �� �� �� �� �� �� ��� 1   �� �� �� �� ���� �� ��

������� ������ ��� ����� � �����  ? ���������� ��� �� ���� �� �� ��  2
 �� ���� 97 ���� � ����I �� ,���I  

(60 < 97) �������� �� ���� 60 ����� ��� ��� ,�������
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تعبير شفهي 
يدرك المتعلّمون أنّه لمعرفة الولد الذي يقرأ بسرعة 

أكبر، عليهم أن يقارنوا عدد الكلمات التي يقرأها حسن 
في الدقيقة الواحدة بعدد الكلمات التي يقرأها طارق 

في الدقيقة الواحدة.

اسِتمِع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

اشِرح لهم أنّه عندما يكون من الصعب أو من 
غير الضروري الحصول على الناتج الدقيق، 

يلجأون إلى التقدير.

لاحِظ
يقدّر المتعلّمون ناتج الضرب في )أ( و)ب( و)جـ( و)د( 

باتّباع ما تعلّموه في نشاط »التعلّم«.

دْ من إجابات المتعلّمين بسبب اختلافها. تأكَّ
، في )أ( قد يقوم بعض المتعلّمين بتقدير  مثًال

 الناتج كالتالي: ٤٫٣ × ٨ ≈ ٤ × 1٠ = ٤٠
 وقد يقوم بعضهم الآخر بتقدير الناتج كالتالي:

٤٫٣ × ٨ ≈ ٤٫٣ × 1٠ = ٤٣ وقد يقوم 
 آخرون بتقدير الناتج كالتالي:

د لهم على أنّ  ٤٫٣ × ٨ = ٤ × ٨ = ٣2 أكِّ
كلّ هذه الإجابات صحيحة.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يقرّب المتعلّمون الأعداد العشرية في كلّ من )أ( و)ب( 

و)جـ( و)د( و)هـ( و)و( إلى أقرب عدد كلّي، ويقرّبون 
 العدد الكلّي في )هـ( و)د( إلى أقرب مضاعَف 

للعدد 1٠.

ر المتعلّمين بأنّه لتقريب عدد عشري إلى  ذكِّ
أقرب عدد كلّي، عليهم أن يحدّدوا الرقم في 
، ثمّ أن يقارنوا  المنزِلة التي يقرّبون إليها أوًّال

الرقم الذي يقع إلى يمينه مباشرة بـ٥، فإذا كان 
د كما  الرقم أصغر من ٥، يبقى الرقم المحدَّ
هو. أمّا إذا كان الرقم أكبر من أو يساوي ٥، 

د. أخيرًا، يستبدلون  فيُضاف 1 إلى الرقم المحدَّ
د. صفرًا مكان كلّ رقم إلى يمين الرقم المحدَّ

�� ���:������ ������ : ��������� �� �� ��
�32 = 8 × 4 ≈ 8  ×  4٫3�2 000 = 4 × 500 ≈ 3٫75  ×  498

��60 = 6 × 10 ≈ 6٫47  ×  9٫68�179 = 179 × 1 ≈ 179,2  ×  1٫2

: ��������� �� �� ��  1    �� �� ����
27 = 3 × 9 ≈ 3  ×  8٫7  �200 = 10 × 20 ≈ 10  ×  18٫4  �

50 = 10 × 5 ≈ 12٫65  ×  5  ��340 = 17 × 20 ≈ 16٫85  ×  19  �

630 = 90 × 7 ≈ 91  ×  6,6  ��350 = 5 × 70 ≈ 4٫9  ×  72,3  �

 9�87 �� 51�07 �� �� �� ������ �� �� ��   2
78٫901

×70٫15×05
005

 :������ �����

 , ���� 3�750 �� �� ������� �� ���� ������ �� ���� ���� ��� � ��������� �� �� ����� �� �� ���� �� �� ���� �� ��� �� �� �� �� �� �� �� ��   3
.ß.Ï 20 = 4 × 5 ≈ 3٫750 × 5 :������� ���� ���  � ���������� ���� �� �� ���� �� �� �� ��

? ������ �� 7 �� �� �� ������� ���� ���� �� �� � ��������� �� �� �� �� �� � �� �� ������� ���� ���� �� �� ��� 6٫3 ���� ������ ��   4
42 = 6 × 7 ≈ 6�3 × 7  

������� ��� 42 = ������ 7 �� ������������ ���

� �� �� ���� �������� ������ �� ���� ������ �� ����� ����������� �U �� ��  ��
���� ���� �� ��?    5

6٫3  ×  69٫7  ×  417٫9  ×  2٫23  ×  11٫5
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نشاط التعلّم: يقرأ المتعلّمون المسألة، فيدركون أنّه 
مات من النفايات، عليهم إيجاد  لمعرفة وزن 5 مجسَّ

ناتج 5 × 19٫5 باتّباع الخطوتين التاليتين:
الخطوة 1: يضربون كما لو كانوا يضربون أعدادًا كلّية: 

195 × 5 
الخطوة 2: يعدّون الأرقام إلى يمين الفاصلة العشرية 
في كلا العددين، فيدركون أنّ عدد الأرقام إلى يمين 

الفاصلة العشرية في العدد 19٫5 هو 1 وعدد الأرقام 
إلى يمين الفاصلة العشرية في العدد 5 هو صفر، فيكون 

مجموع عددي الأرقام إلى يمين الفاصلة العشرية في 
كلّ من 19٫5 و5 هو عدد الأرقام إلى يمين الفاصلة 
العشرية في ناتج الضرب، إذًا عدد الأرقام إلى يمين 

الفاصلة العشرية في الناتج هو 1، بعدها، يقرّبون العدد 
19٫5 إلى أقرب عدد كلّي ويجدون الناتج التقديري. 

مات من النفايات 97٫5 كجم. وبذلك يكون وزن 5 مجسَّ
نوع النشاط: جماعي.

المهارات المكتسَبة: ضرب عدد عشري في عدد كلّي، 
إيجاد ناتج الضرب التقديري للتأكّد من معقولية الناتج.

الموادّ المستخدَمة في النشاط: سبّورة، آلة حاسبة.

ر المتعلّمين بخطوات تقريب عدد عشري  ذكِّ
إلى عدد كلّي، وبأنّه إذا كان الناتج الدقيق 

قريبًا من الناتج التقديري، تكون إجابة الناتج 
الدقيق معقولة.

اُطلب منهم التحقّق من صحّة الناتج 
باستخدام الآلة الحاسبة.

اُربط
يدرك المتعلّمون في هذه الفقرة أنّه عليهم إيجاد ناتج 
0٫93 × 17 باتّباع الخطوات التي تعلّموها في نشاط 

»التعلّم«، إذ يجدون ناتج ضرب 93 × 17 بالشكل 
الرأسي، ثمّ يضعون الفاصلة العشرية في الناتج على أن 

يساوي عدد الأرقام يمين الفاصلة العشرية مجموع عدد 
الأرقام إلى يمين الفاصلة العشرية في 0٫93 و17

ب إلى 1  د للمتعلّمين على أنّ 0٫93 يُقرَّ أكِّ
لأنّ 9 < 5

�� �� ����
8-4���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

Multiplying a Decimal Number by a Whole Number

�� �� �� ��
,��� 19�5 �� �� �� �� �� �� , ���������� �� �� ���� ������ �� �� �� ����� ��� ���� ��

?�� �� �� �� �� ������ �� �� ���� �� �� �� 5 �� �� �� ����
?  = 19٫5 × 5

: ����������� �����M ����� ���� ����� ��������� ������ ���������
:1 �� ���M �����:2 �� ���M �����

� ���� �� �� � ���� ��� �� �� ��� ���� �� ���� �� �� �� �� ����
591

×5
579

 � ���� �� �� ����� ��� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� ��
� �� �� ���� ������ �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� �� �� �� ���� �� �����

1 �� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� ��   19٫5
0 �� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   5

1 �� �� ��������� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   97,5

� ���� ����� �������� �� �� �� �� �� �� �������� �� �� ��
100 = 20 × 5 ≈ 19٫5 × 5

� ������ �� �� �� ���� ���� ��������� ,100 �� �� ����� �� �� ���� �� 97�5 �� �� �����

��� 97٫5 ���� �� �� �� 5 �� �� �� ��������� ��  97٫5 = 19٫5 × 5  � ���
 : ���� ������� ������ ���� ���� ����� ��������� �� �� �� �� �� �� �� ������ ������ �� ��

� ���� ����� �������� �� �� �� �� �� �� �������� �� �� �� ���� 17 × 0�93 ������ �� �� ���   �F�� ����
:1 �� ���M �����:2 �� ���M �����

� ���� �� �� � ���� ��� �� �� ��� ���� �� ���� �� �� �� �� ����
71

×39
15

+0351
1851

0 �� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� ��   17
2 �� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   0,93

2 �� �� ��������� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   15,81
: ���� ����� �������� �� �� �� �� �� �� �������� �� �� ��
17 = 17 × 1 ≈ 17 × 0٫93

� ������ �� �� �� ���� ���� ��������� ,17 �� �� ����� �� �� ���� �� 15�81 �� �� �����

15�81 = 17 × 0�93  � ���  
86
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يشرح المتعلّمون أنّ الكسر العشري يكون دائمًا أصغر 

من 1، وبالتالي يستنتجون الإجابة الصحيحة. 

اسِتمِع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

أعِد طرح السؤال باستبدال عبارة »كسر 
عشري« بــ »عدد عشري«

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يجد المتعلّمون ناتج ضرب كسر عشري في كسر 

عشري آخر في )أ( وناتج ضرب كسر عشري في عدد 
كلّي في )د(، )و( وناتج ضرب عدد عشري في عدد 

كلّي في كلّ من )ب(، )جـ(، )هـ( باتّباع الخطوات التي 
تعلّموها في نشاط »التعلّم«، ثمّ يجدون الناتج التقديري 

للتحقّق من معقولية إجاباتهم.

د للمتعلّمين على وضع الفاصلة العشرية  أكِّ
في المكان المناسِب.

رهم بأنّه لا حاجة إلى أن يكتبوا الفاصلة  ذكِّ
العشرية إذا جاءت في نهاية العدد الكلّي جهة 

اليمين.

التمرين )2(
يجد المتعلّمون ناتج 3 × 13٫82 لمعرفة عدد 

الكيلومترات التي يقطعها وليد ذهابًا وإيابًا إلى الجامعة 
في 3 أيّام.

ر المتعلّمين بأنّ عدد الأرقام إلى يمين  ذكِّ
الفاصلة العشرية في ناتج الضرب هو مجموع 

عدد الأرقام إلى يمين الفاصلة العشرية في 
كلّ من 13٫82 و3

التمرين )3(
يكتب المتعلّمون تعبير الضرب المناسِب، ثمّ يجدون 

ناتجه.

اُطلب من المتعلّمين أن يجدوا ناتج الضرب 
التقديري للتحقّق من معقولية الإجابة.

� ���� �����  �� ����  ? �� �� ���  ���  ���� �����  �� �� �����  �� ��  ���� ���  ���� ��  �� �� ��  ��  �� �� �� ��  �� �� ��  �� �� ��  ������  �� ��    �� �� �� �� ���� �� ��
1 �� ���� ��� �� ���� ���� ,����

� ���� ����� �������� �� �� �� �� �� �� �������� �� �� �� ���� , ��������� �� �� ���  1  �� �� ����
0٫72  = 0٫9  ×  0٫8  �22٫155  = 7  ×  3٫165  �42٫56  = 19  ×  2٫24  ��

61٫64  = 0٫92  ×  67  �204  = 85  ×  2٫4  ��25٫327  = 31  ×  0٫817  �

?��� ��� 3 �� ���M �� �� � �������� �� �� � �� �� ������� ��� � ����� �� � ���� ��  �� 13�82 �� ���� �� ��� �� �� �� ���� �� ���M �� ��   2
�� 41٫46 = 13٫82 × 3

  ? ����� ��� �� ���� �� �� �� �� � ������ �� �� �� , �� �� �� �� �� ������ �� �� � ���� �� 14 ������ ���� ��� ��� � ������ 2�175 �� �� ���� �� ������� ���� ����� ���� ��   3
� ������ 30٫45 = 2٫175 × 14 :����� ���

� ���� ����� �� ���� ? �� ���� �� ���� ����� ������ �� �� ��� ,  21�73  × 18 ������ �� ���� �� �� ���� �� �� �� �� �� �� ���  4
�� ����

3911�4 = 21�73  × 18
�� ����

391�14 = 21�73  × 18

���� �� �� �� ���� ��� �� �� ��� ������ �� �� �� �� ������  �� �� �� � �� �� �� ���� ���� 3 ,2 ,1 ���� �� ��� �� �� ���� ������ �� �� ���� �� �� �� ���� ����  5
2٫24 = 7 × 0٫32  � �� �� ���� ������ �� �� ��� ���� ,  7   ×   0�    

221٫2    31٫6 × 7 : ������ �� �� ���  ��
���� ���� �� ��?    6

1 = 1 × 1 :�������21 = 7 × 3 :�������40 = 20 × 2 :�������

67 = 1 × 67 :�������180 = 90 × 2 :�������30 = 30 × 1 :�������

400 = 20 × 20 = �������� ������ �� ,���� :������ �����
�������� ������� ���� ������ �� ���
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�� �� ����
9-4

  �� ��� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
Multiplying a Decimal Number by Another
Decimal Number

�� �� �� ��
��� 2�45 �� ������ ���� �� ��������� ���� ���� �� ���� �� ���� �� �� ������

? �� ���� �� 1�5 �� ���� ������ �� ���� �� ����� �� ��������� �� �� �� �� � �� ���� ���� �� �� ��������� �� ��
 ?  = 2٫45 × 1٫5

: ����������� �����M ����� ���� ����� ��������� ������ ���������
:1 �� ���M �����:2 �� ���M �����

� ���� �� �� � ���� ��� �� �� ��� ���� �� ���� �� �� �� �� ����
542

×51
5221

+0542
5763

� ���� �� �� ����� ��� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� ��
� �� �� ���� ������ �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� �� �� �� ���� �� �����

2 �� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� ��   2�45
1 �� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   1�5

3 �� �� ��������� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   3�675
� ���� ����� �������� �� �� �� �� �� �� �������� �� �� ��

4 = 2 × 2 ≈ 2٫45 × 1٫5
� ������ �� �� �� ���� ���� ��������� ,4 �� �� ����� �� �� ���� �� 3٫675 �� �� �����

���� 3�675 �� �� �� ���� �� 1�5 �� ���� ������ �� ���� ����� �� ��������� �� �� �� ��������� ��  3�675 = 2�45 × 1�5   � ���

. öجöاتøلنÇ öيَّةöقول úع óم úن öم óق قَّ óحóتóتöل úÑ دِّ óمَّ قõ12٫7 × 20٫6  ث : ������ �� �� ���  �F�� ����
� ���� �� �� � ���� ��� �� �� ��� ���� �� ���� �� �� �� �� ���� :1 �� ���M �����

602
×721

2441
0214

+00602
26162

:2 �� ���M �����
1 �� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� ��   20٫6
1 �� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   12,7

2 �� �� ��������� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   261,62
: ���� ����� �������� �� �� �� �� �� �� �������� �� �� ��

 

6,0202
×7,21×31

062
� ������ �� �� �� ���� ���� ��������� ,260 �� �� ����� �� �� ���� �� 261�62 �� �� �����

261�62 = 20�6 × 12�7   � ��� 88

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يقرأ المتعلّمون المسألة، فيدركون أنّه لمعرفة 
وزن القمامة التي تتمّ معالجتها في 1٫5 دقيقة، عليهم 

 إيجاد ناتج 1٫5 × 2٫45 باتّباع الخطوتين التاليتين:
الخطوة 1: يضربون كما لو كانوا يضربون أعدادًا كلّية 

245 × 15 
الخطوة 2: يعدّون الأرقام إلى يمين الفاصلة العشرية 
في كلا العددين، فيدركون أنّ عدد الأرقام إلى يمين 

الفاصلة العشرية في العدد العشري 2٫45 هو 2 وعدد 
الأرقام إلى يمين الفاصلة العشرية في العدد العشري 
1٫5 هو 1، فيكون مجموع عددي الأرقام إلى يمين 
الفاصلة العشرية في كلّ من 2٫45 و1٫5 هو عدد 

الأرقام إلى يمين الفاصلة العشرية في ناتج الضرب، إذًا 
عدد الأرقام إلى يمين الفاصلة العشرية في الناتج هو 3

أخيرًا، يقرّبون كًّال من 1٫5 و2٫45 إلى أقرب عدد 
كلّي )2( ويجدون الناتج التقديري ويقارنونه بالناتج 

الدقيق للتحقّق من معقولية الإجابة. وبذلك، يستنتجون 
أنّ وزن القمامة التي تمّت معالجتها في 1٫5 دقيقة هو 

3٫675 كجم.
نوع النشاط: جماعي.

المهارات المكتسَبة: ضرب عدد عشري في عدد عشري 
آخر.

الموادّ المستخدَمة في النشاط: سبّورة.

الِفت انتباههم إلى أنّ خطوات إيجاد ناتج 
ضرب عدد عشري في عدد عشري آخر 

هي نفسها خطوات إيجاد ناتج ضرب عدد 
عشري في عدد كلّي.

رهم بخطوات تقريب عدد عشري إلى عدد  ذكِّ
كلّي.

د لهم على أنّه عندما يكون الناتج الدقيق  أكِّ
قريبًا من الناتج التقديري، تكون إجابة الناتج 

الدقيق معقولة.

اُربط
يدرك المتعلّمون في هذه الفقرة أنّه عليهم إيجاد ناتج 

12٫7 × 20٫6 باتّباع الخطوات التي تعلّموها في 
نشاط »التعلّم«.

د للمتعلّمين على استخدام التقدير للتحقّق  أكِّ
من معقولية الناتج الدقيق الذي وجدوه.
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 �� ������� ������� ���� ��� ������ ���  � �� �� ���� ������ �� �� �� �� ������� �� �� ������� ���� ������ �� �� ���� �F ���    �� �� �� �� ���� �� ��
������ ����� �� ������� ������� ���� ��� ������ ��� ����� ����� ������

�� ���� ���� ���� ������ �� �� �� �� �� �� ������� �� �� ������� �� ��
5٫04  6�21

×4�0
405

  � 1٫521  70�5
×3�0

1251

  �862٫5  5�43
×52

5268

  ��

� ���� ���� ������ �� �� �� �� �� �� ������� �� �� ������� �� ��  1   �� �� ����
9٫252  24�51

×6�0
2529

  �349٫98  4�11
×7�03

89943

  �5522,4  2064
×2�1

42255

  ��

: ��������� �� �� ���  2
4�0

×8�0
23٫0

  �90�6
×4�5

688٫23

  �5�3
×5�3

52٫21
  ��7�53

×92�1
350٫64

  �

31٫668 = 8٫12 × 3٫9   8�12 �� 3�9 �� �� �� ������ �� �� ���  3

244٫62  ?6�04 × 40�5 ������ �� �� ���� ,244 620 �� �� 604 × 405 ������ ���� ���   4

�� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  ��
���� ���� �� ��?    5

?�� �� �� ������� �� �� ������� ������ ���� ��� �� ����� �� �� �� ������ ���� ���� ����������� ������ ������ �� �� ���
321  × 15�4  � 45�1  × 1�1  �1�39  × 1832�1  �� 27�6  ×  345�8  �

89

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين قاعدة تحديد مكان 

الفاصلة العشرية في ناتج الضرب التي تعلّموها في نشاط 
»التعلّم«.

اسِتمِع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

بعدها، اُطلب منهم أن يضعوا الفاصلة 
 العشرية لما يلي في المكان المناسِب:

1 984 = 6٫4 × 3٫1

لاحِظ
يجد المتعلّمون مجموع عددي الأرقام إلى يمين الفاصلة 

العشرية في كلا العددين، إذ يساوي عدد الأرقام إلى 
يمين الفاصلة العشرية في ناتج الضرب، وبالتالي يضعون 

الفاصلة في موقعها المناسِب.

دْ من إجابات المتعلّمين. تأكَّ

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يضع المتعلّمون الفاصلة العشرية في )أ( على أن يكون 

3 أرقام إلى يمين الفاصلة العشرية في الناتج، وفي )ب( 
على أن يكون رقمان إلى يمين الفاصلة العشرية في 

الناتج، وفي )جـ( على أن يكون رقم واحد إلى يمين 
الفاصلة العشرية في الناتج.

اشِرح للمتعلّمين أنّه في العدد 19٫20 هناك 
فقط رقم واحد بعد الفاصلة العشرية لأنّ 

19٫2 = 19٫20

التمرين )2(
يجد المتعلّمون ناتج ضرب عدد عشري في عدد عشري 

آخر باتّباع الخطوات التي تعلّموها في نشاط »التعلّم«.

دْ من أنّ المتعلّمين يضعون الفاصلة  تأكَّ
العشرية في المكان المناسِب في الناتج.
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�� �� �� ��
� �������� ����� �� �� �� �� ����� ����������� �������� ����� ���I ���� ���� �� �� �� ����� ����� �� �� ����� �� �� ���� ����� ��������� �� ���� ��

  ��������� 0٫2 �� �� �� �� ������M�� ������M�� ������� �� �� �� ���� ����� �� �� ����� �� ��� ��
?�� �� �� �� �� �� ���� �� � ��������� �� �� ���� �� �� �� �����M�� �� �� ���� �� �� �� �� 0٫4 ��� ���� �����

 ?  = 0٫2 × 0٫4

 : ����������� �����M ����� ���� ����� ��������� ����� �� ������ ���� ���� ���� ��� ������ �� ��
:1 �� ���M �����:2 �� ���M �����:3 �� ���M �����

� ���� ����� �� ���� �� �� �� �� �� �� ��� 4 ���� ��� �� ���� ���� �� ���� �� �� ���� �� �� ���� ��� �� �� ���� ������ ������ �� ���� �� �� �� ���������� ���� ����� �� ���M�� �����

 0٫08 = 0٫2 × 0٫4  Ç ðÐÅ
� ��������� 0٫08 �� �� �� �� �� ������M�� ������M�� �� ���� �� ���������

� �� �� �� ������� �� �� ������� ���� ��� ���� , �� �� �� ������� �� �� ������� ������ ���� �� ��� �� �� �� �� ���� �� �� ����� ������� �� �� �� �� �������� �� �� ���� ������ ������ ��� � ���� ��� ���� ����

 : ��� ���� �� �� ��������� 10 = ��������� 1

1�3 × 0�05 ������ �� �� ���  �F�� ����
:1 �� ���M �����:2 �� ���M �����

� ���� �� �� � ���� ��� �� �� ��� ���� �� ���� �� �� �� �� ����
31

×5
56

 � ���� �� �� ����� ��� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� ��
� �� �� ���� ������ �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� �� �� �� ���� �� �����

1 �� �� �� �� �� ������� �� �� ������� ������ ��� ���� �� ��� �� �� ��   1�3
2 �� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   0�05

3 �� �� ��������� �� �� �� �� ������� � �� ������� ������ ��� ���� �� ��� �� �� ��   0�065

0٫065 = 1٫3 × 0٫05   � ���

���� �� ���� �� �� �� ������� ���� �� ���
Decimal Numbers and Zeros

90

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة
نشاط التعلّم: يقرأ المتعلّمون المسألة، فيدركون أنّه 

لمعرفة وزن الطعام الذي يأكله الطائر كلّ يوم، عليهم 
إيجاد ناتج ٠٫٤ × ٠٫2 ثمّ يلاحظون استخدام شبكة 

المئة لإيجاده باتّباع الخطوات التالية:
الخطوة 1: تمثيل العدد العشري ٠٫٤ على شبكة المئة، 

وذلك من خلال تظليل ٤ أعمدة.
الخطوة 2: تمثيل العدد العشري ٠٫2 على شبكة المئة 

نفسها، وذلك من خلال تظليل صفّين بلون مختلف.
الخطوة 3: إيجاد ناتج الضرب من خلال عدّ أجزاء 

المنطقة التي تمّ تظليلها مرّتين)8 أجزاء من مئة(
نوع النشاط: جماعي.

المهارات المكتسَبة: ضرب عددين عشريين باستخدام 
شبكة المئة.

الموادّ المستخدَمة في النشاط: شبكة المئة.

د للمتعلّمين على أن يكتبوا أصفارًا إلى  أكِّ
يسار ناتج الضرب ليتمكّنوا من إظهار العدد 
اللازم من الأرقام يمين الفاصلة العشرية، ثمّ 

أن يكتبوا الفاصلة العشرية.
الِفت انتباه المتعلّمين إلى أنّ:

 1 ديكّاجرام = 1٠ جرامات، واطلب منهم 
أن يحوّلوا ناتج الضرب من الديكّاجرام إلى 

الجرام.

اُربط
يدرك المتعلّمون في هذه الفقرة أنّه عليهم إيجاد ناتج 

٠٫٠٥ × 1٫٣ باتّباع الخطوتين التاليتين:
الخطوة 1: يضربون كما لو كانوا يضربون أعدادًا كلّية 

٥ × 1٣
الخطوة 2: يعدّون الأرقام إلى يمين الفاصلة العشرية في 
كلا العددين، فيدركون أنّ عدد الأرقام إلى يمين الفاصلة 

العشرية في العدد 1٫٣ هو 1 وعدد الأرقام إلى يمين 
الفاصلة العشرية في العدد ٠٫٠٥ هو 2، فيكون مجموع 

عددي الأرقام إلى يمين الفاصلة العشرية في كلّ من 1٫٣ 
و٠٫٠٥ هو عدد الأرقام إلى يمين الفاصلة العشرية في 

ناتج الضرب، إذًا عدد الأرقام إلى يمين الفاصلة العشرية 
في الناتج هو ٣، وبذلك يستنتجون ناتج ٠٫٠٥ × 1٫٣

اُكتب على السبّورة:
٠٫٠6٥
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?1�3 × 0�05 ������ �� ����� �� �� 0�2 × 0�4 ������ �� ���� ��� �� ������ ��� �� ���� ��� ������    �� �� �� �� ���� �� ��
,����� ��� ����� � ��� ,2 �� 0٫2 × 0٫4  ���� �� ������� ������� ���� ��� ������ ���� 8 = 2 × 4
������ ��� ����� � ��� ,3 �� 1٫3 × 0٫05 ���� �� ������� ������� ���� ��� ������ ���� 65 = 13 × 5 ����

�� ���:�� ������� ���� �� � ���� ��� ���� ���� � �� ���� ����� ���� ����� �� �� �� �� ������� �� �� ������� �� ��
0٫14 = 0�2 × 0�7  �0٫0020 = 0�004 × 0�5  �0٫009 = 0�3 × 0�03  ��

�� �� ����
 : ����������� �� ���� ���� �������� �� ����� �� �� ���� �� ���� �� ���� ����   1

0٫18 = 0٫6 × 0٫3

� �� ������ ����� ���� �� ��� ���� ���� � ��������� �� �� ���  2
0٫024  = 0�3  ×  0�08  �0٫049  = 0�07  ×  0�7  �0٫64  = 0�4  ×  1�6 ��

0٫625  = 0٫5  ×  1�25  �0٫036  = 0�09  ×  0�4  ��3٫03  = 0�06  ×  50�5  �

0٫096  = 0٫08  ×  1�2  �2٫85  = 1�5  ×  1�9  �1٫645  = 0�07  ×  23�5  U

3٫68 = 0٫4 × 9٫2   0�4 �� 9�2 �� �� �� ������ �� �� ���  3

 ���� ��� ������� ���� 64 = 8 × 8 �� ,��� � ���� ����� �� ���� ?0�8  ×  0�8  ������ �� �� �� �� �� ��  8  ×  0�08  ������ �� ��   4
����� �� 0٫8 × 0٫8  æ   8 × 0٫8 ���� �� ������� �������

 ��� �� ��� ���  1٫5  ����� �� ���� ������ � ����� �� �� �� ?1�5  �� �� ����� �� �� �� �� ��� ��� ���� ��� 1�5 × 0�06 ������ �� ��   5
1 �� ���� ��� �� �� ����

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  ��
���� ���� �� ��?    6

 = 10�4  ×  5�05 ��� �� ,52 520 = 104  ×  505 ���� ���
52 520  �   525�2  �52�52  �� 5�252  �
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين نشاط »التعلّم«، إذ عليهم 

أن يجدوا ناتج الحقيقة الأساسية أوًّال أي يضربون 
الأعداد كما لو كانوا يضربون أعدادًا كلّية، ثمّ يجدون 

مجموع عدد الأرقام بعد الفاصلة العشرية في العاملين 
ويقارنونه بعدد أرقام ناتج ضرب الأعداد الكلّية ليشرحوا 

لماذا يحتاجون إلى إضافة أصفار.

اسِتمِع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

لاحِظ
يكتب المتعلّمون أصفارًا إلى يسار ناتج الضرب ليتمكّنوا 
من إظهار العدد اللازم من الأرقام يمين الفاصلة العشرية، 

ثمّ يضعون الفاصلة العشرية في المكان المناسِب.

الِفت انتباه المتعلّمين إلى أنّ عدد الأرقام 
إلى يمين الفاصلة العشرية في ناتج )أ( هو 2 

و)ب( هو 4 و)جـ( هو 3.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
لة باللون الأصفر على  يعدّ المتعلّمون الأعمدة المظلَّ
شبكة المئة لمعرفة العدد العشري الأوّل، ثمّ يعدّون 

لة باللون الأخضر لمعرفة العدد العشري  الصفوف المظلَّ
الثاني، ومن ثمّ يجدون ناتج ضرب العددين من خلال 

عدّ أجزاء المنطقة التي تمّ تظليلها مرّتين. أخيرًا، يكتبون 
عبارة الضرب المناسِبة.

دْ من إجابات المتعلّمين. تأكَّ
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: اُطلب من أحد المتعلّمين أن يقرأ المسألة 
بصوت مرتفع، ثمّ اسأل الفصل: ما المعلومات التي 
تعرفونها؟ وما الذي تحتاجون إلى معرفته؟ الإجابة: 
نعرف أنّ المنزل يتكوّن من طابق واحد وله ٣ غرف 

في الطول وغرفتان في العرض. نحتاج إلى معرفة عدد 
النوافذ كلّها في المنزل.

بعدها، اُطلب منهم أن يستخدموا المكعّبات ليمثّلوا بها 
المسألة، واسألهم: كيف تجدون عدد غرف المنزل؟ 
الإجابة: من خلال عدّ المكعّبات. هل جميع الغرف 
لها حيطان خارجية؟ نعم إذًا، هل جميع الغرف لها 

نوافذ؟ نعم بعد ذلك، اُطلب منهم أن يشيروا إلى 
الغرف التي لها حائطان خارجيان وإلى الغرف التي لها 
حائط خارجي واحد فقط، ومن ثمّ أن يحدّدوا عدد كلّ 
منها، وذلك للإجابة عن المسألة. الإجابة: الغرف التي 

لها حائطان خارجيان هي تلك التي على زوايا الشكل 
وعددها ٤. أمّا الغرف التي لها حائط خارجي واحد، 
فهي تلك التي في الوسط وعددها 2 أخيرًا، اسِألهم: 

ما عدد الغرف التي تضمّ نافذة واحدة؟ الإجابة: 2 وما 
عدد تلك التي تضمّ نافذتين؟ الإجابة: ٤ إذًا، ما عدد 

 النوافذ كلّها في المنزل؟
الإجابة: ٤ × 2 + 2 × 1 = ٨ + 2 = 1٠ نوافذ.

نوع النشاط: جماعي.
المهارات المكتسَبة: اسِتخدام دليل حلّ المسائل، 

اسِتخدام مكعّبات لحلّ مسألة.
الموادّ المستخدَمة في النشاط: مكعّبات، دليل حلّ المسائل.

ألقِ الضوء على دليل حلّ المسائل الذي 
ط -  يتألّف من المراحل الأربع: افِهم - خطِّ

ق. حُلَّ -راجِع وتحقَّ
الِفت انتباههم إلى أنّ كلّ مكعّب يمثّل غرفة 

واحدة، وأنّ كلّ حائط خارجي يضمّ نافذة 
واحدة، وأنّ عدد النوافذ في الغرف التي 

لها حائطان خارجيان وفي الغرف التي لها 
حائط واحد خارجي هو عدد النوافذ كلّها في 

المنزل.

�� �� ����
11-4

�� �� �� �������� ����� �� �� ���� ��
���� ���� �� �� ���� �� �� �F�M �� �� �� ����

 �� ���� �� �� ��� ����M�� �� �� �� �� 3 ������ ���� ���� , �� ���� �����I �� �� �� �� ���� �� ���� �� �� ���� �� �� �� �� �� �� �� ���� �� �� �� ���� ��� ������
� �� ���� ����� ����� � �� ������ ���� ������ ���� �� �� ����� �� �� ���� ���� � �� ���� ���

6   ? �� ���� ����� �� �� �� �� �� �� ��  �
���   ? �������� �� �� ����� ���� ���� ������ �� �� �� , ���� ������ � ��� ���� ��� ���� ��  �

 �� �� �� �� , �� �� ���� �� ������ �� ���� �� �� �� �� �� �� �� �� �� �� ���� �F���� �� �� , ���� �� �� ���� �� �� �� �� �� �� ���� �� �� �� ����� �� ���� ����� ��   ��
? ���� �� ������ �� ���� ����� �� �� ����� �� �� �� �� �� ? �� �� ���� �� ������ �� ���� ����� �� �� �����

  ? �� ���� ����� �� ���� �� ���������� �� �� �� ��  �

�� �� ����   ? �� �� �� �� �� ����� ��
?���� �� �� �� �� ��� ���� ���� ����� ��

�F�M ��? ������ ��� �� ��� ���� ��
● � �� ���� ����� ���� ������ ���� �� �� �� �� �� ���� ����
●  � �� �� ����� �� �� �� �� ������ ���� �� �� ����� �� ��
● � �������� �� �� ����� ���� ���� ���� ��� ������� ���� ������ ��� �������� 
●  �� ���� �� �� ���� ���� �� �� �� ����� �� �� ������ �� �� �� �� �� ���� ��� �� ���� ��M���� �� �� �� �� ������ ���� ������ ��� �������� 

�� �� �� ���� �� ���� �F���� ���� �F �� ����� �� ����� �� �� ������ , ����� �� ���� ���M���� ���� ��

�� �� ���� �� �� ����? ���� ����� �������� �� �� �� �� �� �� ���� �� ���� ��

�� ��● � �� �� �� 6 = 2 × 3 �� ���� ����� �� �� �� �� �� ��
● � �������� ���� �� �� ����� ���� ��
● � ���� �� �� �� �� �� ���� �� ���� �F���� ���� ����� �� �� ����� �� �� �� �� , �� �� �� 4 ����� �� ���� ���M���� ���� ����� �� �� ����� �� �� �� 
●  �� �� ����� ��� ����� �� ���� ���M���� ���� ����� �� �� ����� �� ���������� �� �� �� �� �� �� ���� ����� �� ���� �� ���������� �� �� �� 

� �������� 10 = 2 + 8 = 1 × 2 + 2 × 4  � �� �� ���� �� ���� �F���� ���� �����
� �������� 10 �� ���� ����� �� ���� �� ���������� �� �� �� ���������

  ����� �� ����� ���� ���� ���� ���� ��� �� �� ���� ���� : ������ ����� �� ��
Problem Solving: Use Objects/ Act it Out
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

لاحِظ
يدرك المتعلّمون في السؤال الأوّل من »لاحِظ« أنّه 

لمعرفة كم لترًا من الطلاء يلزمهم لتغطية المنزل بالدهان 
رًا إيّاهم بأنّ  من الداخل، عليهم إيجاد ناتج 6 × 1٥ مذكِّ
6 هو عدد غرف المنزل. كما يدركون في السؤال الثاني 
من »لاحِظ« أنّه لمعرفة ثمن طلاء المنزل، عليهم إيجاد 

ناتج  ٩٠ × ٠٫٨٠٠

الِفت انتباههم إلى أنّ مجموع عددي الأرقام 
إلى يمين الفاصلة العشرية في كلّ من ٩٠ 

و٠٫800 هو ٣ وعدد الأرقام إلى يمين 
الفاصلة العشرية في ناتج الضرب ليس ٣، 

وذلك لأنّ الأرقام إلى يمين الفاصلة في ناتج 
الضرب هي أصفار.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
بعد قراءة المسألة، يدرك المتعلّمون أنّ الطبقة السفلية 

تحتوي على ٩ علب والطبقة الثانية على ٩ - 2 أي 
٧ والطبقة الثالثة على ٧ - 2 أي ٥ وهكذا دواليك، 

وبالتالي يجدون كم علبة سيضمّ هرم العرض.

اسِتخدم مكعّبات لتمثِّل المسألة كما يلي:
علبة

الطبقة السفلية

اشِرح لهم المسألة من خلال هذا التمثيل.

التمرين )2(
مًا حتّى 2٤، واختر بعض  اسِتخدِم شريطًا طويًال مرقَّ

التلاميذ، ثمّ اطلب من كلّ منهم أن يقف على الشريط 
بعيدًا عن الآخر ٣ أمتار، وذلك لمساعدتهم على 

الإجابة.

يُمكن أن يكتب المتعلّمون تعبير القسمة 
المناسِب ويجدون ناتجه لحلّ المسألة. 

ر المتعلّمين بحقائق القسمة ذات الصلة  ذكِّ
بحقائق الضرب الأساسية حتّى ٩ × ٩ = ٨1

�� ���:����������� �� ���� �� ��� �� �� �� ��� �� ���� �� �� �������� ������ ����
� ����M�� �� �� � ���� 15 �� �� �� �� �� �� �� �� �� �� �� ��� �� , �� ��� ���� �� �� ���� ������ �� ���� ����� ����I ������ ����� ������ ��� �� ��   1

� ���� 90 = 15 × 6  ? ���� ������ �� ���� ����� ���M���� �� �� �� �� �� �� �� ����M�� �� �� � ���� �� ��

? �� ���� ����� ����I ���� ���� �� �� �� �� , ������ 0�800 �� �� ���� ���� �� �� �� ������� ��� ���� �� ���� ���� ���   2
� ������ 72 = 0٫800 × 90

  �� �� ����

 �� �� �� ���� �� , ������ �� ���� �� �����M�� �� ���� �� 9 ���� �� �� ��� � ������ �I 5 �� �� �� �� �� �� �� �� �� �� �� �������� ���� ����� ������ ���� �� �� ���� ��   1
? �� ������� �� �� �� �� ���� �� ���� �� �� �� �� �� ,���� �� ����� ���� �� �����M�� �� ���� ����� �� �� �� �� �� �� ���� �I �� �� �� �������� �� �� �� �� �� ���� �����

���� 25 = 1 + 3 + 5 + 7 + 9

 �� ������ �� ��� ��� �� ���� , ������ 3 �� �� ����� ���� �� ��� �� ���� 24 ������ �� ������ ������� ���� �� �� �� �� �� �� ���� ����� ���I   2
����� 8 = 3 ÷ 24 :������� ���  ? ���� �� �����

 ��� �� �� �� ���������� �� �� �� ������ �� �� , ��������� �� �� ���� ���� ����� �� ���I �� ��� �����M�� ������ �� �� �� �� ������� ���� ���� ���� ��� ������ �� ��   3
 �� �� �� ,���� ���� �� �� ��� 4�75 �� �� �� �� �� ������ �� ���� ��� � �� �� ������� ���� ���� ���� �� �� � ���� �� �� ���� �� ���� ���� ��� ���� ���� �� �����

��� 47٫5 = 10 × 4٫75  ? ��� ��� 10 �� ������ ��
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مراجعة الوحدة الرابعة

�� ����� ���� �� �� �� ����� �� �� ���� �� �� �� ����
12-4

: �� ���
: ��������� �� �� ���  1

180 000 = 60 × 3 000  �23٫8 = 10 × 2٫38  �190 = 5 × 19 × 2  ��

960 = 1 000 × 0٫96  �8 300 = 25 × 83 × 4  ��2 340 = 23٫4 × 100  �

: ��������� �� �� ��   2
24 000 = 30 × 800 ≈ 29 × 816  �210 = 7 × 30 ≈ 7 × 30٫2  �

: ������ �� �� ���  3
861

×8
4431

  �54
×93

5571

  �105
×286

286143

  ��

52
×30٫0

57٫0
  �2,71

×5٫6
8٫111

  ��40,1
×3٫12

251٫22

  �

312  = 12  ×  26  �0٫027  = 0�01  ×  2�7  �40٫48  = 18�4  ×  2�2  U

94

0٫0054 = 0٫06 × 0٫09  0�06 �� 0�09 �� �� �� ������ �� �� ���   4

� ���� ���� ������ ���� ������� � �� �� ���� �� �� ��������� �� �� ���  5
= 3 × (100 + 9)  =   3  ×  109 �

327 = 300 + 27 = 3 × 100 + 3 × 9
50 × 7 + 2 × 7 = (50 + 2) × 7  =  52  ×  7 �

364 = 350 + 14 =

:�  �� ��� �� �� �� ��� �� ���� �� ����� �� ���� ����� �� �� ���  6
9   9  , 3  �12    6  , 4  �40    4  , 5  , 8  ��

? 3�7 �� 4�95 �� �� �� ������ �� �� �� �� �� �� ���� ���� �� �� �� , �� �� ���� ������ �� �� ���� ��� ��� �� ������� �� ��� �� ��   7
2 �� 4٫95 �� ������� ������� ���� ��� ������ ��� � ���� ����� �� ����

1 �� 3٫7 �� ������� ������� ���� ��� ������ ���
3 = 2 + 1 �� ������ ���� �� ������� ������� ���� ��� ������ ��� � ���

 �� ������� ��� ���� �� ���� ���� ��� � ������ 8 ���� �� �� ���� ���� �� �� ���� ���� ���� ��� ������� , ���� ���� �� �� ���� �� ���� ����I �� �� �� ���� ��   8
������ 6٫6 = 0٫825 × 8 :������� ���  ? ���� ������� �� ���� �� �� �� �� �� ���� �� �� �� �� , ������ 0�825
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مراجعة الوحدة الرابعة

�� ����� ���� �� �� �� ����� �� �� ���� �� �� �� ����
12-4

: �� ���
: ��������� �� �� ���  1

180 000 = 60 × 3 000  �23٫8 = 10 × 2٫38  �190 = 5 × 19 × 2  ��

960 = 1 000 × 0٫96  �8 300 = 25 × 83 × 4  ��2 340 = 23٫4 × 100  �

: ��������� �� �� ��   2
24 000 = 30 × 800 ≈ 29 × 816  �210 = 7 × 30 ≈ 7 × 30٫2  �

: ������ �� �� ���  3
861

×8
4431

  �54
×93

5571

  �105
×286

286143

  ��

52
×30٫0

57٫0
  �2,71

×5٫6
8٫111

  ��40,1
×3٫12

251٫22

  �

312  = 12  ×  26  �0٫027  = 0�01  ×  2�7  �40٫48  = 18�4  ×  2�2  U

94

0٫0054 = 0٫06 × 0٫09  0�06 �� 0�09 �� �� �� ������ �� �� ���   4

� ���� ���� ������ ���� ������� � �� �� ���� �� �� ��������� �� �� ���  5
= 3 × (100 + 9)  =   3  ×  109 �

327 = 300 + 27 = 3 × 100 + 3 × 9
50 × 7 + 2 × 7 = (50 + 2) × 7  =  52  ×  7 �

364 = 350 + 14 =

:�  �� ��� �� �� �� ��� �� ���� �� ����� �� ���� ����� �� �� ���  6
9   9  , 3  �12    6  , 4  �40    4  , 5  , 8  ��

? 3�7 �� 4�95 �� �� �� ������ �� �� �� �� �� �� ���� ���� �� �� �� , �� �� ���� ������ �� �� ���� ��� ��� �� ������� �� ��� �� ��   7
2 �� 4٫95 �� ������� ������� ���� ��� ������ ��� � ���� ����� �� ����

1 �� 3٫7 �� ������� ������� ���� ��� ������ ���
3 = 2 + 1 �� ������ ���� �� ������� ������� ���� ��� ������ ��� � ���

 �� ������� ��� ���� �� ���� ���� ��� � ������ 8 ���� �� �� ���� ���� �� �� ���� ���� ���� ��� ������� , ���� ���� �� �� ���� �� ���� ����I �� �� �� ���� ��   8
������ 6٫6 = 0٫825 × 8 :������� ���  ? ���� ������� �� ���� �� �� �� �� �� ���� �� �� �� �� , ������ 0�825
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مراجعة الوحدة الرابعة

 :�������
����M �� �� ��������� ������ ��� �  ���� �� �� , �� ���� �� �� ��������� ������ ��� �  ���� ��  �3−1� ��������� ��

0٫21 = 0٫3 × 0٫07  1�  �
28 �� �� 4 �� �� ������ ������ ���� �� ���� �����  2�  �

50 = 1 000 × 0٫05  3�  �

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  �8−4� ��������� ��
= 0٫2 × 0٫2  4

4  �  0�4  �0�04  ��0�004  �

�� �� 12  , 8 �� �� �� �� ������  �  �� ��� �� �� �� ��� �� ���� �� ����� �� ���� �����  5
24  �  12  �4  ��2  �

������  �� ���� ��� �� ,22�19 =  × 10 ���� ���  6
2 219  �  221�9  �22�19  ��2�219  �

 = 0�23 × 100  7
0�23  �  2�3  �23  ��2 300  �

 = 2�15 × 88  ��� ��  ,  18 920 = 215 × 88  ���� ���  8
18 920  �  189�2  �18�92  ��1�892  �
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الوحدة

الخام�سة

الوحدة: مقدّمة 

إيقاظ وتنشيط المعلومات السابقة المكتسَبة:
اسِأل المتعلّمين عمّا يشاهدونه في الصورة.��
اُطلب من المتعلّمين أن يتحدّثوا عن أهمّية المحافظة على البيئة بخاصّة القيام بحملات تنظيف للشواطئ.��

الربط مع المفاهيم الرياضية:
إذا وزّعنا 64 زجاجة على 4 أكياس، فكم زجاجة في كلّ كيس؟��
إذا قسّمنا 153 متعلّمًا على 9 مناطق للقيام بأعمال التنظيف، فكم متعلّمًا في كلّ منطقة؟��
إذا أردنا توزيع  47٫5 كجم من السّماد على 5 أكياس بالتساوي. فكم كيلوجرامًا من السماد في كلّ كيس؟��

الربط مع الفنون اللغوية:
احِكِ قصّة: اُطلب من كلّ متعلّم أن يتحدّث عن طريقة قد تساعد في الحدّ من التلوّث في المنطقة التي ��

يعيش فيها مستخدِمًا عبارات القسمة إذا أمكن، كذلك أن يتحدّث عن أهمّية استخدام المياه بحكمة لأنّها 
نعمة من الله.

ق�سمة الأعداد الكلّية والأعداد الع�شرية
Dividing Whole and Decimal Numbers

Industry and Commerce المو�ضوع: المحافظة على البيئة	

 �� �� �� �����
�� �� �������

 �� �� �� ������� ���� �� ���� ���� �� ����� ���� �� ��� �� �� ����
Dividing Whole and Decimal Numbers

Protect the Environment  ��������� �� �� ���� ���� �����

� �� �� �� ���� �� �� �� ���� ���� �� �� , �� �� ���� �������

 �� �� ��������� �� ���� ���� �� ���� , ���� �� ����� �� �� �� ���M���� �� �� ����� �� �� �� �� �� ���� �� ���� ���� ��������� �� �� �� ��� ���� ��� �� ���� ����
 ���� ���� �� �� �� �� �� �� ���� �� ����� �� ��������� �� ���� �� ���� �� �� �� ���� �� ���M ����� ���� �� , ����������� ����� ��� �� �� ���� ������� ���� ���� �� �����

?���� ������ ����� �� ���M�� ����� �� �� �������� �� �� �� ������ �� �� �� �� ����� ���M�� ���� ����� �� ����� ����� ���� ���� ���
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الرياضيات في المنزل:
اُطلب من المتعلّمين قراءة هذه الفقرة بصوت مرتفع.��

مشروع الوحدة:
ح في �� م الفصل إلى مجموعات من 3 إلى 4 متعلّمين، واطلب من كلّ منهم أن يصنع الجدول الموضَّ قسِّ

دة. كتابهم باستخدام الأدوات المحدَّ

حة في �� اللعبة الموضَّ خلال دراسة الوحدة، على كلّ مجموعة أن تستخدم الجدول الذي صنعته لتلعب 

الكتاب، وتحدّد في نهاية اللعبة الفائز في كلّ مجموعة، ثمّ الفائز على جميع المجموعات.

�� ���� ����� �� ����� ���� ����Maths at Home 
 : ��� �� �� ��� ���� ���

 �� �� �� �� �� ����� , �� ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �� �� �� �� �� ����� ������ ������ �� , �� �� �� ����� �U����� �� �� �� ����� �� ��� �� ���� ���� �� �� �� ��
 ������ �� , ������ �� ��� ���� �� �� ������ �� ��� ���� �� ��� , �� ���� ������ �� �� �� ����� ���������� , �� �� �� ����� ������� �� � ���� ��� , �� ���� �� �� �� �� �� ��� �� �� �� �� �� �� �� �� �� ��

 �� �� �� �� �� ���� , ���� ��� ���� ��� �� �� ���� , ���� �� ��� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ����� , ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �� �� �� �� ���� ������
� �� ���� ����� ���� ������ ���� ���� ���� , ������� �� ����� ���� �� �� , �� �� �� ����� ������ �� �� �� �� �� �� ������� ���� �� ��� �U����� ���� ���� ���� , ���� �� �� �� �� �� �� �� �� �� ��

�� �� �� ����� ���� �� ��

���� ����� ���� ����
� �� �� ����� �� �� �� �� ,8 ��� 3 �� �� ���� �� ����� �� �� �� �� ���� �� �� , ������ �� �� �������� , ������ : �� �����M ����� ������ ���

532174923350561295
407596624473895718
577936255303744499
210348729652131800

 : �� �� ����� �� �����I
� ������ ���� �� 4 ��� 3 �� �� ������ �� �� ��� ������ ���� ����� �� ���� ��  1

�� �� �� ������ ,���� ������� �� �� �� ����� ���� ���� �� ���� �� �� �� �� ������   2
� �� ���� ����� �� �� ���� ��

, �� �� �� ���� �� �� �� �� ����� �� �� � �� �� �� �� ���� �� ����� �� ����� �� �� ���� ����   3
� ������ �� ����� �� ����������� ����M �� �� ����

� ���� �� ������ �� ���� ����� �� �� ����� �� �� �� ������� �� �� ����� �� �� ���� �� ���� �� ����� ���� ���� �� �� ��   4
� ���� �� ������ �� ���� ����� �� �� ����� �� �� �� ������� �� �� ����� �� �� �� ���� ��� ����� �� �� ����� �� ���� ��   5

� ���� �� �� �� �� �U���� �� �� �� �� ���� �� �� �� ����� �� �� �������   6
� �� �� �� ����� �� �� �� �� �� �� ����� ���� �� ��� ���� �� ��M���� ��� �� � ���� �� �� �� �� �� �� �� �� �� �� �������� �� �� �� ��   7

 ���� ����� ,���� �� �� �� �� �� ����� �U������ �� �� ���� ����� �� �� ������ , �� �� �� ����� �� �� ���� �� ��� ���� �� �����M ���� �� �� ������ �� ��� �� ����
� ���� ��� �U���� �� �� �� ������� �� �� ���������

� ������ �� ����� ���� �� �� �� ��������� �� �� ���� ���� , �� ���� �� �� �� �� �� ��������� �� �� ���� , ����� �� ����
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة
نوع النشاط: جماعي.

المهارات المكتسَبة: تذكّر حقائق القسمة ذات الصلة 
بحقائق الضرب الأساسية حتّى 9 × 9 = 81 

الموادّ المستخدَمة في النشاط: سبّورة، بطاقات قسمة 
خاطفة.

م الفصل إلى 5 مجموعات، وأرفِق كلّ  نشاط التعلّم: قسِّ
منها بآلة حاسبة، ثمّ اطلب منهم أن يجدوا ناتج كلّ من 

تعابير القسمة المعطاة.
بعد ذلك، الِفت انتباههم في القسم الأوّل من النشاط، 

أي في )أ(، )ب(، )جـ(، إلى أنّه إذا احتوى المقسوم 
فقط على أصفار، يكون عدد الأصفار في الناتج هو عدد 

الأصفار نفسه في المقسوم.
كذلك، الِفت انتباههم في القسم الثاني من النشاط، أي 
في )د(، )هـ(، )و(، إلى أنّه إذا احتوى كلّ من المقسوم 

والمقسوم عليه على عدد مختلف من الأصفار، فإن 
عدد الأصفار في الناتج يساوي الفرق بين عدد أصفار 

المقسوم والمقسوم عليه.
نوع النشاط: جماعي.

المهارات المكتسَبة: إيجاد ناتج القسمة على مضاعَفات 
العدد 10.

الموادّ المستخدَمة في النشاط: سبّورة.

اشِرح لهم في )جـ(، أنّ المقسوم في حقيقة 
القسمة 40 ÷ 8 = 5، يحتوي أساسًا على 
صفر، وبالتالي عند عدّ الأصفار في تعابير 

 القسمة يجب أّال يُعَدّ صفر العدد 40،
كذلك الأمر في )و(، إنّ المقسوم في حقيقة 

القسمة 20 ÷ 5 = 4 يحتوي على صفر.

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين نشاط »التعلّم«، إذ يشرح 
كلّ متعلّم بطريقته الخاصّة كيف يستخدم حقائق القسمة 

والأنماط لإيجاد ناتج تعبير القسمة المعطى.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

�� �� ����
1-5

�� �� �� ����� �U�����
Division Patterns

�� �� �� ��
�� �� �� �� �������� �U���� ���� �� �� �� ����� ������ �� ���� ���� ��� ���M�� ����

� �� �� �� ����� ������ ������
 

: �� �� �������� ���� ������� ������ �� �� ���� ����
� �F ���� �� �� �� ������

6 = 4 ÷ 24  �
60 = 4 ÷ 240

600 = 4 ÷ 2 400
 6 000 = 4 ÷ 24 000

60 000 = 4 ÷ 240 000

7 = 2 ÷ 14 �
70 = 2 ÷ 140

700 = 2 ÷ 1 400
7 000 = 2 ÷ 14 000

70 000 = 2 ÷ 140 000

5 = 8 ÷ 40 ��
50 = 8 ÷ 400

500 = 8 ÷ 4 0005 000 = 8 ÷ 40 000
50 000 = 8 ÷ 400 000

���������� ������ �����   ?���� �� �� �� ����� �U���� ��� ��

80 000 = 9 ÷ 720 000 �
8 000 = 90 ÷ 720 000
800 = 900 ÷ 720 00080 = 9 000 ÷ 720 0008  =  90  000  ÷  720  000

50 000 = 3 ÷ 150 000 ��
5 000 = 30 ÷ 150 000
500 = 300 ÷ 150 00050 = 3 000 ÷ 150 0005 = 30 000 ÷ 150 000

40 000 = 5 ÷ 200 000 �
4 000 = 50 ÷ 200 000
400 = 500 ÷ 200 00040 = 5 000 ÷ 200 0004 = 50 000 ÷ 200 000

���������� ������ �����    ?���� �� �� �� ����� �U���� ��� ��

?6 ÷ 4 800 ������ �� �� �� �� �� �� �� �U���� ���� �� �� �� ����� ������ �� �� �� ������ ���� ��   �� �� �� �� ���� �� ��
 800 = 6 ÷ 4 800 � ��� , 8 = 6 ÷ 48
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يستخدم المتعلّمون حقائق القسمة ويجدون الفرق بين 
أصفار كلّ من المقسوم والمقسوم عليه ليحدّدوا عدد 

الأصفار في الناتج.

اُطلب من المتعلّمين أن يحذفوا العدد نفسه 
من الأصفار من المقسوم والمقسوم عليه 

ويحلّوا تعبير القسمة الجديد.

التمرين )2(
يجد المتعلّمون في )أ(، ناتج 200 1 ÷ 20 ليجدوا 

العدد المجهول، وفي )ب( ناتج 000 24 ÷ 30، وفي 
)جـ( ناتج 70 × 70، وفي )د( ناتج 50 × 400

ر المتعلّمين بأنّ الضرب والقسمة عمليتان  ذكِّ
ذات صلة.

التمرين )3(
يستخدم المتعلّمون حقيقة القسمة 18 ÷ 6 للإجابة عن 

السؤال المطروح.

قد يكتب بعض المتعلّمين 18 عشرة في صورة 
180، فيجدون 180 ÷ 6 باستخدام حقيقة 

القسمة 18 ÷ 6 وأنماط القيمة المكانية.

التمرين )4(
يدرك المتعلّمون أنّه عليهم أن يقسموا العدد 350 على 
عدد أيّام الأسبوع ليجدوا عدد الأشخاص الذين زاروا 

المركز في اليوم الواحد في الأسبوع، فيكتبون تعبير 
القسمة المناسِب ويجدون الناتج باستخدام حقائق 

القسمة والأنماط.

ر المتعلّمين بأنّ في الأسبوع 7 أيّام. ذكِّ
د لهم على أنّ عبارة »عدد الزائرين نفسه«  أكِّ

تشير إلى استخدام القسمة.

التمرين )5(
يكتب المتعلّمون تعبير القسمة الذي يعبّر عن المسألة 

المطروحة، ويستخدمون حقيقة القسمة المناسِبة 
والأنماط لإيجاد ناتج هذا التعبير.

د للمتعلّمين على أنّ البقرة تأكل الكمّية  أكِّ
نفسها من العشب في كلّ يوم، وبالتالي عليهم 

أن يستخدموا القسمة.

�� �� ����
������ ���� �� �������� �� �� �� ����� ������ �� �� �U���� ��� �� �� ���� ����  1

6 = 6 ÷ 36 �7 = 7 ÷ 49 �

5 = 80 ÷ 400 ��80 = 40 ÷ 3 200 �

4 = 900 ÷ 3 600 ��70 = 200 ÷ 14 000 �

: �� �� ���  2
20 = 60  ÷ 1 200 �30 = 800  ÷ 24 000 �

70 = 70 ÷ 4 900  ��400 = 50 ÷ 20 000  �

30 = ����� 3 = 6 ÷ ���� 18 � ��� , 3 = 6 ÷ 18 ?6 �� �� �� �� �� �� 18 �� �� ���� ������ ��  3

 �� ������� �� �� �� �� ����� ����� ������� ���� �� ��� �� �� �� �� �� � ���� ���� �� � �� �� �� 350 ���������� �� �� �� ��� �� ���� ���� ���� �� �� �� �� ����   4
?�� �� �� �� �� �� �� �� �� �� ������� ���� �� �� �� ���� ��� �� �������

� ���� 50 = 7 ÷ 350 :������ ���

 �� �� �� ������� �� ���� �� �� ������� �� �� � ��������� �� �� �� �� �� �� 30 �� ����� �� �� �� ������� �� �� ��� 600 �� ���� �� �� �� �� �� ������ �� �� �� �� �� ��   5
��� 20 = 30 ÷ 600 :������� ������ ���� ?����� �� �� �� ������� �� �������

 �� ���� �� �� �� �� �� �� ���� �� �������� ������ 400 ����� �� �� �� , �� ������ ������ �� �� ���� ������ 1 000 ����� �� �� , �� �� �� �� �� � �� �� �� 20 �� ���� ����   6
 ? �� ���� �� �� �� �� �� �� �� �� �� ����������� ������ ����� ��� ���� ���� ,�� �� ���� �� �� �� �� �� �� ��

� ������ 70 = 20 ÷ 1 400  ¡ 1 400 = 400 + 1 000 :���� �� ����
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )6(

 يجد المتعلّمون أوًّال المبلغ الإجمالي الذي على
20 شخصًا أن يدفعوه أجرة للاستراحة وللوازم الرحلة، 

ثمّ يوزّعوه بالتساوي عليهم، فيكتبون تعبير القسمة 
المناسِب ويجدون ناتجه.

 قد يقوم بعض المتعلّمين بكتابة
 )20 ÷ 400( + )20 ÷ 1 000(

70 =  20    +    50  =

التمرين )7(
يحكي كلّ متعلّم مسألة تتضمّن توزيع 160 عنصرًا على 
20 مجموعة أو توزيع 160 عنصرًا على مجموعات في 

كلّ منها 20 عنصرًا، ثمّ يجدون ناتج تعبير القسمة.

دْ من إجابات المتعلّمين بسبب اختلافها.  تأكَّ

التمرين )8(
يجد المتعلّمون الفرق بين أصفار المقسوم وأصفار 
المقسوم عليه بعد أن يحدّدوا حقيقة القسمة ليجدوا 

عدد الأصفار في الناتج، وبالتالي يختارون ما إذا كان 
عبد الرحمن أو طلال على صواب.

د للمتعلّمين على أنّ المقسوم في حقيقة  أكِّ
القسمة لا يحتوي على صفر.

التمرين )9(
يحدّد المتعلّمون حقيقة القسمة المناسِبة في كلّ من )أ( 

و)ب(، ويجدون الفرق بين أصفار المقسوم وأصفار 
المقسوم عليه في كلّ زوج من الأعداد.

إذا كان الفرق هو نفسه، يكون الناتج هو نفسه في 
التعبيرين.

دْ من إجابات المتعلّمين. تأكَّ

8 = 20 ÷ 160 , ��������� ������ ����� ����� �� ���� , 20 ÷ 160 ���� ���� �� �� ���� ���� ����� �� �� �����   7

����M ����� �� ���� ����    8
� ���� ����� �� ���� ? ���� �� �� �� �� �� ��� ����� �� �� 90 ÷ 5 400 ������ ��� �� ���� ���� �� �� ����I �� �� ���

60 = 90 ÷ 5 400
����I��� �� ���� ���� ��

6 = 90 ÷ 5 400

��������� ����M��� U������ 6 = 9 ÷ 54 ������ ����� ������ ��� ,��I

� ���� ����� �� ������ ������ �� �� ��� �� �� �� �� �� �� ����������� ���� �� ��� ���� ��� �� �� �� �� ������ ���� ��� �� ���� ����  9
70 ÷ 56 000  ,  70 ÷ 5 600  �

 ������� ��� ������ ��� �� ,����� ������ ����
������ ���� ��������

30 ÷ 300  ,  300 ÷ 3 000  �
 ������� ��� ������ ��� �� ,���� �� ������ ����

����� �� ���� ��������

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��  ��
���� ���� �� ��?    10

● = 80 ÷ ���� �� 40

5  �50  �500  ��5 000  �
 

● = 700 ÷ 4 200

6 000  �600  �60  ��6  �
 

● 50 =   ÷ 20 000

4  �40  �400  ��4 000  �
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
لإيجاد كم صفحة ستقرأ كلّ من نادية ومنال تقريبًا في 

 اليوم الواحد، عليهم أن يجدوا الناتج التقديري 
لــ 285 ÷ 3 .

اشِرح لهم أنّه لإيجاد الناتج التقديري لتعبير القسمة 
عليهم أن يستبدلوا المقسوم بعدد مناسِب آخر يسهّل 

عملية الحساب الذهني، ثمّ اسألهم أن يشرحوا كلّ من 
طريقة منال ونادية.

د للمتعلّمين أنّ كلا التقديرين معقولان. أخيرًا، أكِّ
نوع النشاط: جماعي.

المهارات المكتسَبة: تقدير ناتج قسمة عدد على آخر 
ن رمزه من رقم واحد. مكوَّ

الموادّ المستخدَمة في النشاط: سبّورة.

د للمتعلّمين على أنّ كلمة »تقريبًا« تدلّ  أكِّ
على استخدام التقدير إذ لا يحتاجون إلى 

إجابة دقيقة.
د لهم على أنّه عند استخدام التقدير، عليهم  أكِّ

أن يختاروا أعدادًا مناسِبة، أي أعدادًا يسهل 
ا. الحساب معها ذهنيًّ

تعبير شفهي
يشرح المتعلّمون أنّ منال قرّبت العدد 285 إلى أقرب 

مئة، أمّا نادية فاختارت أن تقربه إلى 270 لتستخدم 
حقيقة القسمة 27 ÷ 3 = 9

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته. 

لاحِظ
يقدّر المتعلّمون ناتج كلّ من التعابير الثلاثة في )1( 

باستبدال المقسوم في كلّ تعبير بعدد مناسِب آخر 
يسهّل عملية الحساب الذهني. أمّا في )2( فيقارنون 
بين المقسوم في تعبير القسمة والمقسوم في كلّ من 

التقديرين لاختيار التقدير الأقرب.

دْ من إجابات المتعلّمين. تأكَّ

�� �� ����
2-5 �� ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �� �� �� �� ���� ������ ������ ��

Estimating Quotients with 1-Digit Divisors 

�� �� �� �������� �� �� �� �� �� , ��������� �� �� ���� ���� ����� �� �� ������ �� ������ �� �������� ��� ��� 3 ��� ���� �� �� �� ������ �� �� �� �� ���� ����
? �� ������� �� ������� �� ����� �� �� �� ���� �� �� �� �� �� ���� �� �� �� �� �� �� ���� , �� �� �� �� 285

 3 ÷ 285 ������ �� �� ��
� ���� �� ���� ���� ����� ������ �� �� ���� ������ �� ��� �� ���� �� �� �� ���� ������ ����� �������� ��� �� �� �� �� ����� ������ ������ �� �� ���I �� ��� ���� ���� ��

 � �� ���� �� �� �� ���� 285 �� �� ����� ���� �� �� �� ������ �� �� �� �� ���� ������ ����
������ ���� �� �� �� ���� ����� �� �� ���� ���� ��� �� ���� �� �� �� �� ���� ���� ����� ���� �� ���  

 285 �� �� ����� ���� ������ ����
270 ����

 90 = 3 ÷ 270
 �� �� �� �� �� �� �� ��� �� � ���
������ �� �� �� �� �� �� 90

�� ������ ���� �� 285 �� �� ����� ���� ������ ����
300 ����

100 = 3 ÷ 300
�� �� �� �� �� �� �� ��� �� � ���

������ �� �� �� �� �� �� 100

� ������ �� �� �� ���������� ���

5 < 8� ��� ���� ��� 285 ���� ���� ?300 �� �� ����� �� �� ���� �� 285 �� �� ����� ��� ���� �� ���� �� ������  �   �� �� �� �� ���� �� ��
3 ÷ 27 ������ ����� ������ �� ����� ���� ?3 ÷ 270 �� ������ �� ���� ��� ���� �

�� ���: ��������� �� �� ��  1
30 = 6 ÷ 180 ≈ 6 ÷ 181 �100 = 7 ÷ 700 ≈ 7 ÷ 713 �550 = 3 ÷ 1 650 ≈ 3 ÷ 1 640 ��

?6 ÷ 240  ���  6 ÷ 180 ���� ���� ��������� ��� �� �� �� ��� �� �� ���� ���������� ��� �� ,6 ÷ 239 ������ ������ �� ���� ��� ���   2
180 �� 239 ��� ���� 240 �� ,6 ÷ 240  � ���� ����� �� ����
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يستبدل المتعلّمون المقسوم في كلّ تعبير قسمة بعدد 

آخر يسهّل عملية الحساب الذهني لإيجاد الناتج 
التقديري.

اُطلب من المتعلّمين أنّ يحاولوا اختيار 
التقدير الأقرب إلى المقسوم بسبب تعدّد 

طرق التقدير.

التمرين )2(
يكتب المتعلّمون تعبير القسمة الذي تدلّ عليه كلّ 

عبارة، ثمّ يجدون الناتج التقديري كما في التمرين )1(.

دْ من إجابات المتعلّمين. تأكَّ

التمرين )3(
يكتب المتعلّمون تعبير القسمة المناسِب، ويجدون 

الناتج التقديري للإجابة عن المسألة.

ر« تدلّ على  د للمتعلّمين على أنّ كلمة »قدِّ أكِّ
أنّهم لا يحتاجون إلى الناتج الدقيق.

التمرين )4(
يستخدم المتعلّمون التقدير للإجابة عن السؤال، فإذا 

كان الناتج التقديري أكبر من 100، يكون الناتج الدقيق 
أكبر من 100، وإذا كان أصغر من 100 يكون الناتج 

الدقيق أصغر من 100.

د للمتعلّمين على أنّهم لا يحتاجون إلى  أكِّ
القيام بخطوات القسمة للإجابة عن السؤال.

التمرين )5( 
يكتب المتعلّمون تعبير القسمة المناسِب بعد تحديد 
المقسوم والمقسوم عليه، ويجدون الناتج التقديري 

للإجابة عن المسألة.

د للمتعلّمين على أنّه عند تقدير ناتج تعبير  أكِّ
قسمة، عليهم أن يستبدلوا المقسوم بعدد آخر 

مناسِب وليس المقسوم عليه.

� ��������� �� �� ��  1   �� �� ����
80 = 4 ÷ 320  ≈ 4 ÷ 327 � 410 = 2 ÷ 820  ≈ 2 ÷ 819 �

90 = 7 ÷ 630   ≈ 7 ÷ 615 � 60 = 6 ÷ 360  ≈ 6 ÷ 370 ��

300 = 9 ÷ 2 700  ≈ 9 ÷ 2 638 � 50 = 8 ÷ 400  ≈ 8 ÷ 421 ��

� ������ �� �� ��  2
70 = 3 ÷ 210 ≈ 3 ÷ 203 3 �� �� 203 �� �� ���� � 40 = 4 ÷ 160 ≈ 4 ÷ 165 4 �� �� 165 �� �� ���� �

500 = 7 ÷ 3 500 ≈ 7 ÷ 3 619 7 �� �� 3 619 �� �� ���� � 60 = 5 ÷ 300 ≈ 5 ÷ 294 5 �� �� 294 �� �� ���� ��

? ������� �� �� �� �� � ���� �� �� �� �� �� �� , ���� �� �� �� �� �� �� ��� 8 �� �� �� ��� � ���� ��� �� � ���� �� 385 �� ���� ��� ����� �� ���� ��   3
� ���� 50 = 8 ÷ 400 ≈ 8 ÷ 385

� ���� ����� �� ���� ? �� �� ��� ��� 100 �� �� ���� ��� 5 ÷ 517 ������ �� ��   4
 500 < 517 æ 100 = 5 ÷ 500 ����  �� ,����

 �������� ����� ���M �� � �������� �� �� �� �� �� �� , �������� �� �� �� ���� ���� ��� � ������ 4 �� ���� ����� ���� � �������� 821 �� ���� �� �������� �� ���M ��   5
�� 200 = 4 ÷ 800 ≈ 4 ÷ 821 :�������� �M� ?�� �� ������� �� ��� ���� ��

����� �� �� �� ���� ���� �� ������ �� ���� ����� �� �� ����� �� �� �� ������� �� �� ����� �� �� ���� �� ���� ������ �� �� �� �� , �� �� �� ����� �� �� � �� �� �� ���� ����   6   
���������� ������ ����� �98 �� �� �� ���� ��� ���������
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، 
أنّه عليهم إيجاد ناتج 136 ÷ 4 ليجدوا طول الضلع 

الواحد، ويلاحظون بعد تمثيل العدد بقطع دينيز أنّه لا 
يمكنهم توزيع مسطّح مئة واحد على 4 مجموعات 

بالتساوي، فيستبدلونها بـ 10 أعمدة عشرات، ويصبح 
بالتالي عدد أعمدة العشرات 13، فنحصل على 3 
أعمدة في كلّ مجموعة ويبقى عمود عشرة واحد 

لا يمكن توزيعه فيستبدلونه بـ 10 مكعّبات تركيبية، 
ويصبح بالتالي عدد المكعّبات التركيبية 16، فيوزّعونها 
على المجموعات بالتساوي ليحصلوا على 4 مكعّبات 
تركيبية في كلّ مجموعة. أخيرًا، يكتبون ناتج القسمة إذ 

إنّه يساوي عدد قطع دينيز في كلّ مجموعة.
أمّا في المسألة الثانية، فيجد المتعلّمون ناتج 640 ÷ 3 

باتّباع خطوات القسمة التي تعلّموها سابقًا ويتحقّقون 
من صحّة إجاباتهم.

نوع النشاط: جماعي.
المهارات المكتسَبة: إيجاد ناتج القسمة على عدد 

ن رمزه من رقم واحد. مكوَّ
الموادّ المستخدَمة في النشاط: قطع دينيز.

د للمتعلّمين على أنّ أضلاع المربّع  أكِّ
متساوية الطول، لذلك عليهم بالقسمة على 

4 لإيجاد طول الضلع الواحد.
اشِرح للمتعلّمين في المسألة الثانية أنّ 

التقدير يساعدهم على تحديد منزِلة أوّل رقم 
في ناتج القسمة.

� ������� �� �� �� �� ���� 136 ���M�� �� ������ �� �� ���� �� �� �� �� �� ���� ���� �� �� ���� �� �� �� �� � ���� �� �� ���� ��� ������ �����
��� ��� ��� �����I� ���� �� �� ������ ���� �� ����� �F�� ��  �� �� ����  ?  = 4 ÷ 136  ? �� ���� ����� �� ��� ���� �� ���I ����

� ��������� ������ �� ����� ���M�� ���� ���� ��� ������ �� ��
�� �� ����� ���� ��

�� ���� 34 �� ���� ����� ���� �� ���I ,���������        34 = 4 ÷ 136  � ���

 � �� �� �� ����� ������ �� �� �� �� �� ��� ���� ���� �� ���� ���� �� �� ���������� �� �� ������
200 = 3 ÷ 600  � �� ���� ��� �� �� ��

� ���� ����� �� �� �� ���� �� �� ���� � ���� ����� ���� ���� �� �� ������ �� �� �� ����� ������ �� �� �� �� �� ���

 3 �� �� 640 ������ �� �� ���
: ����������� �����M ����� ���� ����� �� �� �� ����� ������ �� �� ���� ��� ������ �� ��

� ���� ����� �� �� ���� :1 �� ���M ������ �� �� ��� ���� , ���� ������� �� �� ��� :2 �� ���M ������ �� �� ��� ���� , ������ �� ����� :3 �� ���M �����

�� �� ����3 ÷ 6
�� �� ����3 × 2

�� �� �I��6 - 6
�� ����3 > 0

2
0463

-6
0�� �� ����3 ÷ 4

�� �� ����3 × 1
�� �� �I��3 - 4
�� ����3 > 1

12
0463

-6
40

-3
10�� �� ����3 ÷ 10

�� �� ����3 × 3
�� �� �I��9 - 10
�� ����3 > 1

312
0463

-6
40

-3
01

-9
1

1 �������� 213 = 3 ÷ 640
640 = 1 + 3 × 213 :������� ���� ����� �� ���� ��� �� �� �� �� �� �� �� ������ ������ �� ��

�� �� ����
3-5

�� ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �����
Dividing by 1-Digit Numbers
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير الشفهي فهم المتعلّمين أنّ التقدير 
يساعدهم على تحديد أوّل منزِلة في ناتج القسمة.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يجد المتعلّمون ناتج القسمة بالشكل الأفقي في كلّ من 

)أ( ، )ب( ، )جـ(.

الِفت انتباه المتعلّمين إلى إمكانية كتابة 
عملية القسمة بالشكل الرأسي لمساعدتهم 

على الحلّ.

التمرين )2(
يجد المتعلّمون ناتج عملية القسمة بالشكل الرأسي في 
كلّ من )أ(، )ب(، )جـ( باتّباع الخطوات التي تعلّموها 

في نشاط »التعلّم«، ثمّ يتحقّقون من صحّة إجاباتهم.

دْ من أنّ المتعلّمين يقارنون الباقي  تأكَّ
بالمقسوم عليه في كلّ خطوة.

التمرين )3(
يكتب المتعلّمون تعبير القسمة المناسِب، ويجدون 

الناتج للإجابة عن المسألة.

د للمتعلّمين على أنّه بإمكانهم استخدام  أكِّ
التقدير لتحديد منزِلة أوّل رقم في ناتج 

القسمة وللتأكّد من إجاباتهم.

�7 �� �� 783 �� ���� �� �� ���� �� ���������� �� �� ���� ���� ���� �� �� �� ��   �� �� �� �� ���� �� ��
������� ����� �� ���� ������ ���� �� ��� ��� � ��� ,100 = 7 ÷ 700

 � ��������� �� �� ���  1   �� �� ����
42  = 2 ÷ 84 �234  = 3 ÷ 702 �91  = 9 ÷ 819 ��

����� �� �� �� �� �� �� ���� ���� , ��������� �� �� ���  2
1 2 4

5 6 2 2
5 -
1 2
1 0 -

2 2
2 0 -

2

  �

622 = 2 + 5 × 124

2 1 7
6 1 3 0 4

1 2 -
1 0

6 -
4 4
4 2 -

2

  �

1 304 = 2 + 6 × 217

2 1 5
4 8 6 3

8 -
0 6

4 -
2 3
2 0 -

3

  ��

863 = 3 + 4 × 215

? �� �� �� �� �� �� �� �� ������ �� �� �� ����������� ���� �� �� ���� �� �� , ������ ���� �� ���� ���� ����� �� �� ������ �� 791 �� �� ��� �� �� ��   3
����� 113 = 7 ÷ 791 :�� �� �� ���

? ���� �� 4 �� �� ����� �� �� �� �� ������ ���� �� �� ������ ����� ������ ��� �� ���� ���� , �� ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �� �� �� �� ���� ���� ��   4
����� ������� �� ���� ���� �� ��� ������ �� ,9 �� 8 �� 7 �� 6 �� 5 ���� �� ���  � ���� ����� �� �� ��

� ����� �� �� �� � �� ���� ���� �� ���� ��� �� ���� ��� ���� �� �� �� �� �� ?8 ÷ 746 ������ �� �� �� �� ��� ��� ���� ��� 9 ÷ 746 ������ �� ��   5
����� ��� ��� ���� ���� ����� ���� ���� ,8 ÷ 746 ���� �� ���� 9 ÷ 746 ����

1 ������� 253 = 2 ÷ 507 2 �� �� 507 �� �� ���� ������ �� �� ���  ��
���� ���� �� ��?    6
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، 
أنّه عليهم أن يجدوا ناتج 438 ÷ 4، لذلك، اُطلب من 

حات مئة و3 أعمدة عشرة   أحدهم أن يوزّع 4 مسطَّ
و8 مكعّبات على 4 مجموعات بالتساوي، واطلب 

حات المئة، أعمدة العشرات  من زملائه أن يعدّوا مسطَّ
والمكعّبات في كلّ مجموعة.

 الإجابة: 1 مسطّح مئة، لا توجَد أعمدة عشرة،
9 مكّعبات تركيبية.

 بعد ذلك، اُطلب منهم أن يستنتجوا ناتج التعبير:
4 ÷ 438

الإجابة: 109
نوع النشاط: جماعي.

المهارات المكتسَبة: إيجاد ناتج تعبير قسمة.
الموادّ المستخدَمة في النشاط: قطع دينيز.

قُمْ بإيجاد ناتج القسمة بالشكل الرأسي مع 
المتعلّمين باتّباع خطوات القسمة.

رهم بتسلسل استخدام القسمة، الضرب،  ذكِّ
الطرح والمقارنة في كلّ خطوة.

د على أنّ التقدير يساعدهم على تحديد  أكِّ
المنزِلة الأولى في ناتج القسمة.

اُطلب منهم أن يتحقّقوا من ناتج القسمة بعد 
إيجاده.

اُربط
يستخدم المتعلّمون في كلّ من )أ( و)ب( التقدير 

ليحدّدوا أوّل منزِلة في ناتج القسمة، ويضعون صفرًا في 
ناتج القسمة عند الحاجة.

د للمتعلّمين في )ب( على أنّه لا يمكن  أكِّ
قسمة 2 مئة على 7، وبالتالي يضعون صفرًا 

في منزِلة المئات في ناتج القسمة، كذلك 
لا يمكن توزيع 0 وحدة على 7، وبالتالي 

يضعون 0 في منزِلة الآحاد في ناتج القسمة.

�� �� ����
4-5

�� �� �� ����� ������ �� ���� ���
Zeros in the Quotient

�� �� �� �� �� ���� �� ����� ���� ���� �� �� �� ���� �� �� ���� ���� � ���������� ���� ���� ��� �� �� �� �� �� �� ��������� �� �� ���� ���� ����� ���� ������
 ���M�� ���� ����� ������ �� �� ����� ���� ���� �� �� �� �� �� � ������ �� 4 ����� �� �� ������� �� ���� ������ �� �� �� �� ������ ���������� ��� ������ �� ���������� �� ��

?� ������ 438 ������ ���� �� ���� ��
?  = 4 ÷ 438

901
8344

−4
30

−0
83

−63
20

: �� ��� �� ���
100 = 4 ÷ 400

� ���� ����� �� �� �� ���� �� �� ����

2 �������� 109 = 4 ÷ 438 ������ ��
438 = 2 + 4 × 109 :������� ���� ����� �� ���� ��� �� �� �� �� �� �� �� ������ ������ �� ��

� �������� ���� �� ���� ��� ������ �� �� �� ���� �� 109 ���� �� ���M�� ���� ��������� ��

  : ������ �� �� ���  �F�� ����

: �� ��� �� ���
50 = 6 ÷ 300

� ���� ������� �� �� �� ���� �� �� ����

 6 ÷ 304 �
05
4036

−03
400

−0
4

: �� ��� �� ���
1 000 = 7 ÷ 7 000

� ����� �� �� �� ���� �� �� ����

 7 ÷ 7 210 �
0301
01277

−7
20

−0
12

−12
000

106

https://school-kw.com/


 

182

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير الشفهي فهم المتعلّمين أسباب كتابة 

صفر في ناتج القسمة إذا ما دعت الحاجة.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجاباته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يجد المتعلّمون ناتج تعبيرات القسمة بالشكل الرأسي 

باتِّباع خطوات القسمة التي يعرفونها مع الانتباه إلى 
وضع الأصفار في ناتج القسمة عند الحاجة، ثمّ 

يتحقّقون من صحّة إجاباتهم.

اُطلب من المتعلّمين أنّ يستخدموا التقدير 
ليحدّدوا المنزِلة التي يقع فيها أوّل رقم في 

ناتج القسمة.

التمرين )2(
يكتب المتعلّمون تعبير القسمة بالشكل الرأسي، 

ويجدون ناتجه كما في التمرين )1(.

دْ من إجابات المتعلّمين.  تأكَّ

التمرين )3(
يقارن المتعلّمون بين رقم المئات في المقسوم 

بالمقسوم عليه وبين رقم العشرات في المقسوم 
بالمقسوم عليه للإجابة عن السؤال.

اُطلب من المتعلّمين الذين يواجهون صعوبة 
في الإجابة أن يمثّلوا تعبير القسمة باستخدام 

قطع دينيز.

 ������� �� ���� ��� ��� ���� �����  � ���� ����� �� ���� ? �� �� �� ����� ������ �� �� �� �� �� ������ �� �� �� �� �� ��   �� �� �� �� ���� �� ��
�����

����� �� �� �� �� �� �� ���� ���� , ��������� �� �� ���  1   �� �� ����
413 = 1 + 2 × 206    2 0 6

2 4 1 3
4 -
0 1

0 -
1 3
1 2 -
0 1

  �275 = 5 + 9 × 30   3 0
9 2 7 5

2 7 -
0 0 5

0 -
5

  �

1 226 = 2 + 3 × 408   4 0 8
3 1 2 2 6

1 2 -
0 0 2

0 -
2 6
2 4 -
0 2

  ��4 263 = 0 + 7 × 609    6 0 9
7 4 2 6 3

4 2 -
0 0 6

0 -
6 3
6 3 -
0 0

  �

1 ������ 105 = 8 ÷ 841   8  �� �� 841 �� �� ����  2

 ������ ����� �� ����� �� ,��   ? �� �� �� ����� ������ ������ ���� ����� �� �� �� �� ���� �� ? 6 ÷ 672  ������ �� ���� ��� ���� �� �� ��   3
6 ����� �� �� ���� ��������

� �� �� �� ������ 9 ��� �� ��I 9 207 �� ������ ���� ���������� ���� ���� ������ �� �� ��� ������   4
���I1 023 = 9 ÷ 9 207 :�������� ����  ?�� �� ������� �� ��� ���� �� ���� ������ �� ���� �� ����� ���������� ���� ��� ��

1 ������� 1 407 =  5 ÷ 7 036  : ���� �� �� �� �� �� �� ���� ���� ��������� �� �� ���   ��
���� ���� �� ��?    5

7 036 = 1 + 5 × 1 407 :������
107

https://school-kw.com/


 

185

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يتذكّر المتعلّمون في بداية النشاط أنّ 
عددًا ما يقبل القسمة على عدد آخر إذا لم يكن هناك 

باقٍ لعملية القسمة.
اسِألهم: متى يقبل العدد القسمة على 2؟ على 5؟ على 10؟

ا  إذا كان عددًا زوجيًّ  2 القسمة على  يقبل عدد  الإجابة: 
وعلى 5 إذا كان آحاده 0 أو 5 وعلى 10 إذا كان آحاده صفرًا.

بعد ذلك، اشِرح لهم أنّ العدد يقبل القسمة على 3 
إذا كان مجموع أرقامه يقبل القسمة على 3، ثمّ اطلب 
منهم أن يشرحوا لماذا 135 يقبل القسمة على 3، أمّا 

403 فلا يقبل بالاستناد إلى هذه القاعدة.
بعدها، اشِرح لهم أنّ العدد يقبل القسمة على 6 إذا كان 
يقبل القسمة على 2 و3 معًا، واطلب منهم أن يشرحوا 

لماذا 78 يقبل القسمة على 6، أمّا 116 فلا يقبل 
بالاستناد إلى هذه القاعدة.

نوع النشاط: جماعي.
المهارات المكتسَبة: اسِترجاع قابلية القسمة على 2، 

5، 10، اسِتكشاف قابلية القسمة على 3 و6.
الموادّ المستخدَمة في النشاط: سبّورة.

اُطلب من المتعلّمين أن يجدوا ناتج كلّ من 
 تعبيرات القسمة:

 6 ÷ 116 ،6 ÷ 78 ،3 ÷ 403 ،3 ÷ 135
للتأكّد من صحّة القاعدتين المتعلّقتين بقابلية 

القسمة على 3 و6، وأعطِهم أمثلة أخرى 
للتأكّد من فهمهم قابلية قسمة عدد على 2 أو 

5 أو 10 أو 3 أو 6.

�� �� ����
5-5  �� ���� ������ �� �� �� ����� ����������

Divisibility and Factors

�� �� �� ��
� �� �� �� ����� ������ �� ���� ���� ���� �� �� ���� ���� ��� �� ��� �� �� �� �� �� ����� ���� �� �� �� � �� �� �� ��� �� ���� �� ��

�� �� ����
● 2 �� �� �� �� �� ����� �� �� ����� ���� �� �� 

���� �� �� �� � �� �� �� ���� ���
● 5 �� �� �� �� �� ����� �� �� ����� ���� �� �� 

5 ��� 0 �� ����� ���� ���
● 10 �� �� �� �� �� ����� �� �� ����� ���� �� �� 

�� �� �� �� �� ����� ���� ���

 ?3 �� �� �� �� �� ����� ���� �� �� 135 �� �� ����� �� ��   1
3 �� �� 135 �� �� ����� �� �� ���� ���������� �� �� �� �� ���� ������� ���� ��� ������ �� ��

● 9 = 1 + 3 + 5  �� �� ����� ���� ��� �� �� ����
● 3 = 3 ÷ 9   3 �� �� ��������� �� �� ����

3 �� �� �� �� �� ����� ���� �� �� 135 �� �� �����   � ���  �� �� �� ����� �������� ���� �� ���� � �� ���
?3 �� �� �� �� �� ����� ���� �� �� 403 �� �� ����� �� ��  2

● 7 = 4 + 0 + 3  �� �� ����� ���� ��� �� �� ����
● 1 �������� 2 = 3 ÷ 7   3 �� �� ��������� �� �� ����

3 �� �� �� �� �� ����� ���� �� �� � 403 �� �� �����   � ���  �� �� �� ����� �������� ���� �� ���� �� ���

3 �� �� �� �� �� ����� ����� �� �� �� ���� ��� ���� �� �� ���� ��� 3 �� �� �� �� �� ����� �� �� ����� ���� �� ��
?6 �� �� �� �� �� ����� ���� �� �� 78 �� �� ����� �� ��   3

6 �� �� 78 �� �� ����� �� �� ���� ���������� �� �� �� �� ���� ������� ���� ��� ������ �� ��
● � �� �� �� �� �� �� �� �� �� �� 2 �� �� �� �� �� ����� ���� �� �� 78 �� �� �����
● 3 ��� �� �� �� ����� ���� �� �� �� ���� ��� ���� �� �� �� �� 3 �� �� �� �� �� ����� ���� �� �� 78 �� �� �����

6 �� �� �� �� �� ����� ���� �� �� 78 �� �� �����   � ���
?6 �� �� �� �� �� ����� ���� �� �� 116 �� �� ����� �� ��   4

● � �� �� �� �� �� �� �� �� �� �� 2 �� �� �� �� �� ����� ���� �� �� 116 �� �� �����
● 3 ��� �� �� �� �����  ���� �� �� � �� ���� ��� ���� �� �� �� �� 3 �� �� �� �� �� ����� ���� �� �� �116 �� �� �����

6 �� �� �� �� �� ����� ���� �� �� � 116 �� �� �����   � ���
�� �� �� 3  , 2�� �� �� �� �� ����� ���� �� �� ��� ��� 6 �� �� �� �� �� ����� �� �� ����� ���� �� ��
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اُربط
يدرك المتعلّمون أنّ العامل هو عدد يقبل قسمة عدد 
آخر عليه من دون باقٍ، فيشرحون أنّ 15 ÷ 15 = 1، 
15 ÷ 3 = 5، 15 ÷ 5 = 3، 15 ÷ 1 = 15، وبالتالي 

فإنّ عوامل العدد 15 هي: 1، 3، 5، 15. كذلك فإنّ من 
عوامل العدد 528: 2، 3، 6، لأنّه عدد زوجي ومجموع 

أرقامه يقبل القسمة على 3.

د للمتعلّمين على أنّ قواعد قابلية القسمة  أكِّ
تساعدهم على إيجاد عوامل عدد ما.

د لهم على أنّ كلّ الأعداد تقبل القسمة  أكِّ
على العدد 1.

تعبير شفهي

يشرح المتعلّمون أنّ كلّ عدد يقبل القسمة على نفسه 
وعلى العدد 1 بإعطاء أمثلة مختلفة.

اُطلب من المتعلّمين الذين يواجهون صعوبة 
في الإجابة أن يستخدموا حقائق الضرب 
الأساسية في العدد 1 ويربطوها بالقسمة 

لمساعدتهم على الإجابة.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يحدّد المتعلّمون في كلّ صفّ ما إذا كان العدد المعطى 
في العمود الأوّل يقبل القسمة على 2، 3، 6 بوضع 

علامة )ü( إذا كان يقبل القسمة على العدد في أعلى 
العمود و)û( إذا كان لا يقبل القسمة عليه. 

د من أنّ المتعلّمين يستخدمون قواعد  تأكَّ
قابلية القسمة للإجابة ولا يقومون بقسمة 

العدد على العدد في كلّ عمود.
د لهم على أنّهم إذا وضعوا علامة ü في  أكِّ

عمود العدد 2 وعمود العدد 3، عليهم أن 
يضعوا علامة ü في عمود العدد 6، لأنّ 

العدد الذي يقبل القسمة على 2 و3 معًا يقبل 
أيضًا القسمة على 6

التمرين )2(
يكتب المتعلّمون عوامل الأعداد الثلاثة المعطاة، 

فيكتبون في كلّ مرّة العدد نفسه وواحد، ثمّ يستخدمون 
قواعد قابلية القسمة التي يعرفونها ليجدوا باقي العوامل.

دْ للمتعلّمين على أنّ كلّ الأعداد تقبل  أكِّ
القسمة على نفسها وعلى واحد.

� ���� ������ ���� �� �� �� ��� �� �� �� �� �� ���� ���� �� �� �� �� �� �� �� �� �������  �F�� ����
15 , 5 , 3 ,1 �� �� 15 �� �� ����� �� ���� �� ���� ���

 �� �� �� ���� ���������� �� ���� �� �� �� ������
 ��� �� �� �� �� ���� �� ������ �� ��

  ?528 �� �� ����� �� ���� �� �� �� 6 �� �� ����� �� ��
� �� �� �� �� �� �� �� �� �� �� 2 �� �� �� �� �� ����� ���� �� �� 528 �� �� �����

3 �� �� �� �� �� ����� ���� �� �� �� ���� ��� ���� �� �� �� �� 3 �� �� �� �� �� ����� ���� �� �� 528 �� �� �����
528 �� �� ����� �� ���� �� �� ��� 6 �� �� �����   � ���  6 �� �� �� �� �� ����� ���� �� �� 528 �� �� ����� �������� ��

 ��� ������ ���� ��� ,1 �����  � ���� ����� �� ���� ?��M�� �� �� �� �� �� ��� ��� ���� �� �� �������� ���� �� ����� ��    �� �� �� �� ���� �� ��
����� ��� ������ ���� ��� ���� ������ ������ ��

�� �� ����
236

48✓✓✓

316✓ûû

225û✓û

780✓✓✓

�� �� �� �� �� ����� �� �������� �� �� �����  : �� ���� ����� ���� ����� �� �û� ��� �✓� �� �� ���� �� �� �� ����� �� �� ���  1

:�� �� ����� �� ���� �� �� �� ���  2
35 ,7 ,5 ,1  35  �16 ,8 ,4 ,2 ,1  16  �40 ,20 ,10 ,8 ,5 ,4 ,2 ,1  40  ��

 ����� �� 3 ��� ������ ���� 261 ¡9 = 2 + 6 + 1 �� ,���  � ���� ����� �� ���� ?261 �� �� ����� �� ���� �� �� ��� 3 �� �� ����� �� ��   3
3 ��� ������ ���� ������

� ���� ����� �� ���� ? ����M�� �� �� ������ �� �F�� �� ���M�� 6 ��� �� 444 �����I �F�� �� ���� ������ �� �� �� ��  4
���� ��� ��� 2 ��� ������ ���� 444 �� ,���

6 ��� ������ ���� 444 � ��� ,3 ��� ������ ���� ������ ����� �� 3 ��� ������ ���� 444

 5 � 2 ��� ������ ���� � ��� ��� ����� �� ,30  � ���� ����� �� ���� ?10 ,6 ,5 ,3 ,2 �� �� �� �� �� ����� ���� �� �� �� �� �� �� �� ��� �� �� ��  5
3� 2 ��� ������ ���� ��� 6 ��� ������ ����� ¡3 ��� ������ ���� � ���� �� � ��� 3 ��� ������ ���� ������ ����� ���  ,10�

 ���� �� ��� �� �� �� �� �� ����� ������������ ������ ��� ���� , ���� ��� �� �� �� ����� �� ������ ���� ���� �� ����� �� �� �� �� �� �� �� �� ����� �� �� � �� �� �� ���� ����   6   
235610

��������� ������ �����
�� �� �� �� �� ����� �� �������� �� �� �����  �98 �� �� �� ���� ��� ��������� � �� �� �� �� �����
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نشاط التعلّم: اُطلب من أحد المتعلّمين قراءة المسألة 
الأولى بصوت مرتفع، ثمّ اسألهم:

بكم طريقة استطاع حمد ترتيب المكعّبات الثلاثة؟
الإجابة: بطريقتين مختلفتين.

بعد ذلك، اُطلب منهم أن يبرّروا عبارات الضرب تحت كل 
طريقة في كتابهم. الإجابة: )أ( صفّ واحد فيه 3 مكعّبات.

)ب( 3 صفوف في كل صفّ مكعّب واحد.
اسِألهم: هل باستطاعتكم ترتيب هذه المكعّبات بطريقة 

. ثالثة على أن تبقى الصفوف متساوية؟ الإجابة: كّال
اُطلب منهم أن يستنتجوا عوامل العدد 3.  الإجابة: 1 و3
في المسألة الثانية، اُطلب من أحد المتعلّمين أن يرتّب 

8 مكعّبات بطرق مختلفة، واطلب من زملائه أن يكتبوا 
عبارة الضرب التي تدلّ على المصفوفة التي صنعها.

نوع النشاط: جماعي.
المهارات المكتسَبة: تحديد عوامل عدد ما.

الموادّ المستخدَمة في النشاط: مكعّبات.

ر المتعلّمين بأنّ العدد الذي له عاملان  ذكِّ
مختلفان فقط هما العدد واحد والعدد نفسه 

ا، واطلب منهم أن يعطوا  يُسمّى عددًا أوّليًّ
ا من اختيارهم مع توضيح إجاباتهم  عددًا أوّليًّ

دْ لهم على أنّ عدد  للتأكّد من فهمهم. أكِّ
عوامل عدد ما يساوي عدد المصفوفات التي 

يمكن ترتيبه بها، مثًال عدد عوامل العدد 8 
يساوي 4 لأنّه يمكننا ترتيبه بأربع مصفوفات 

مختلفة واشرح لهم أيضًا أنّ هذه العوامل 
نستخرجها من عبارات الضرب التي كُتبِت 

تحت كلّ مصفوفة، فمن العبارتين 1 × 8 
و8 × 1 نستخرج العاملين 1 و8. أمّا من 
العبارتين 2 × 4 و4 × 2 فنستخرج منها 

العاملين 2 و4.

اُربط
يدرك المتعلّمون في هذه الفقرة أنّه بإمكانهم أن يكتبوا 

كلّ عدد غير أوّلي أكبر من 1 على شكل ناتج ضرب 
أعداد أوّلية بطريقتين مختلفتين ولكن متشابهتين، 

ففي الطريقتين كتبنا أوًّال 12 في صورة 2 × 6، وبما 
ا أعدنا كتابة 6 في صورة 2 × 3،  أنّ 6 ليس عددًا أوّليًّ
وبالتّالي أصبح العدد 12 يساوي 2 × 2 × 3، فتكون 

عوامل العدد 12 الأوّلية هي 2 و3

د للمتعلّمين على أنّ الاختلاف بين الطريقتين  أكِّ
 هو أنّه في الطريقة التي يستخدمون فيها الشجرة
لا يحتاجون إلى إعادة كتابة العدد 12 في كلّ 

سطر. اشِرح لهم أنّه بإمكانهم أن يبدأوا من 
أيّ تعبير ضرب يكون ناتجه 12 ليحصلوا 
على عوامله واكتب على السبّورة ما يلي:

إذًا: 12 = 2 × 2 × 3 	

12
4 × 3

2 × 2 × 3
دْ على ترتيب العوامل من الأصغر إلى  أكِّ

الأكبر لتسهيل عملية التصحيح.

�� �� ����
6-5  ������ �� ��� ���� �� ���� �� ���� ������ �� ��� ���� �� ���

Prime and Nonprime Numbers

�� �� �� ��
� �� �� ������ �� ���� �� �� ������ �� �� �� ���� �� �� �� ����� � ���� �� �� �� 8 ������ ���� �� ���� �� �� �� 3 �� �� �� ���

 �� �� �� �� �� ���� �� �� �� ��  �� �� ����
 ������ �� ����� �� �� �� ������

 ����� ������ �� �� ��� �� �� �����

 : ����������� �� ���M�� ���� ����� �� �� �� ����  1
  �

3 = 3 × 1

  �

3 = 1 × 3
3 ,1 :�� �� ��� ���� 3 �� �� ������ ������ �� ������ ���� ��� �� ���� �� �� ����� ���� �� �� �� �� �� ���M�����

: ����������� �� ���M�� ���� ����� ������ ����  2
  �

8 = 8 × 1

  �

8 = 1 × 8

  ��

8 = 4 × 2

  �

8 = 2 × 4
8 , 4 , 2 ,1 : �� �� �� ���� �� �� �� �� ��� 8 �� �� ������ ������ �� , ������ �� �� 4 �� ���� �� �� ����� ���� �� �� ������ ���M�� ����

������ ��� � �� �� �� � ��� ���� , �� �� �� �� �� �� ������ �� ������� , �F�� �� �������� �� �� ��� ���� ���� ����� �� �� �����
� ���� ��� ���� �� �� �� �� 8 �� �� ������ ���� ��� �� �� �� 3 �� �� ����� ��������� ��

? ������ ��� ���� ��� �� �� �� ������ �� �� �� �� �� 12 �� �� ����� �� ������ ������ �� �� �� ��  �F�� ����
� �� ���M�� �� ����� ������ ��� ���� ��� �� �� �� ������ �� �� �� ���� 1 �� �� ���� ��� ���� ��� ���� �� �� �� �� ��� �� ������ ������ �� ��

:�������� ���� ������I  �
6 × 2 = 12

3 × 2 × 2 = 12

 : �� �������� �� �� �� �� ���� ���� ����� �������� �� �����I �

3 × 2 × 2 = 12  � ���    

12
6 × 2

3 × 2 × 2
3  ,  2 : �� �� 12 �� �� ������ ������ �� ��� �� ���� ����� ������ ��
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين فقرة »اُربط« من حيث 

إيجاد العوامل الأوّلية لعدد ما.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يختبر المتعلّمون قابلية قسمة الأعداد المعطاة على 
أعداد غير الواحد أو العدد نفسه، فإذا وجدوا عوامل 

أخرى يكون العدد غير أوّلي. 

د للمتعلّمين على أنّه في )أ( و)جـ( يمكنهم  أكِّ
أن يستنتجوا مباشرة أنّ الأعداد غير أوّليّة 

لأنّها أعداد زوجية، وبالتالي فهي تقبل 
القسمة على العدد 2، بالإضافة إلى العدد 

واحد والعدد نفسه.

التمرين )2(
يكمل المتعلّمون شجرة العوامل في )أ( بعد أن يحدّدوا 

العدد الذي عندما يضربونه في 2 يحصلون على 18، 
وفي )ب( بعد تحديد العدد الذي عندما يضربونه في 4 

يحصلون على 16، أمّا في )جـ( فيختارون العاملين على 
أن يكون ناتج ضربهما يساوي 30

دْ من إجابات المتعلّمين في )جـ( إذ قد  تأكَّ
 يستخدم بعضهم 6 × 5 وبعضهم الآخر

3 × 10 أو 15 × 2

التمرين )3(
يجد المتعلّمون العوامل الأوّليّة للأعداد المعطاة 

باستخدام شجرة العوامل على أن يبدأوا من تعبير ضرب 
من اختيارهم يساوي ناتجه العدد المعطى.

دْ من إجابات المتعلّمين بسبب اختلاف  تأكَّ
طريقة البدء بالحلّ.

 2 × 2 × 3 = 4 × 3 �� ,��  � ���� ����� �� ��� ?4 × 3 ��� ���� ���� ���� 12 �� �� ������ ������ �� ��� �� ���� ����� ���� ���� �� �� ��    �� �� �� �� ���� �� ��

: ���� ��� ���� �� �� �� �� �� ����� �� ���� ��� �� �� �� ����������� ���� �� ��� ��� ���� ����  1   �� �� ����
���� ��� 14  � ����  19  ����� ���  48  �� ����  83  �

: �� �������� �� �� �� �� �� �� ���  2
18

9  × 2
3  × 3  × 2

  �

3  × 3  × 2  = 18

16
4       ×       4

2  × 2  × 2  × 2

  �

2  × 2  × 2  × 2  = 16

30
6  × 5

2  × 3  × 5

  ��

2  × 3  × 5  = 30

: ����������� ���� �� ���� ������ �� ��� �� �������� ����� �� �� ���� ����� �� �� �� �� �� �� ���� ����  3
15

3 × 5
 �

 ��15 ����� ������ �������
3 , 5

27
9 × 3

3 × 3 × 3

 �

 27 ����� ������ �������
3 ��

36
4  ×  9

2 × 2 × 3 × 3

 ��

 36 ����� ������ �������
2 , 3 ��

48
8  ×  6

4 × 2 × 3 × 2
2 × 2 × 2 × 3 × 2

  �

 �� 36 ����� ������ �������
3 , 2

� ���� ����� �� ���� ?����� ��� � �� �� �� ������ ��� �� �� �� �� ����� �� �� ���� ���� �� �� �� ��  4
�������� ������ �� ���� ���� �������� ,10� 5 �2 ��� ������ ���� ��� ����� ���� ����� �� ,��

? ���� ��� ���� �� ��� ���� ��� �� �� �� 25 �� �� ����� �� �� � ������� �� �� �� �� �� 25 �� ��� ���� �� ����� ������� �� �� ���� �I ����� �� ������� ��������   5
����� ������ 1 ����� ��� ������� 5 ��� ������ ���� 25 ����� �� ,���� ���  � ���� ����� �� ����

����M �� �� ��������� ������ ��� �  ���� �� �� , �� ���� �� �� ��������� ������ ��� �  ���� ��  ��
���� ���� �� ��?   6

� ���� ��� �� �� �� 71 �� �� �����  ��  �
4  ,  2 : �� �� 24 �� �� ������ ������ �� ��� �� ��������  ��  �

 � ���� ����� �� �� �� ���� ���� �� ��� �� �� ����� �� �� 2 �� �� �����  ���  �
111
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
 عليهم أن يجدوا الناتج التقديري لتعبير القسمة

32 ÷ 257
اشِرح لهم أنّه عليهم أن يستخدموا الأعداد المناسِبة عند 

، عليهم أن يستخدموا حقيقة القسمة  التقدير. هنا مثًال
240 ÷ 30 ليقدّروا ناتج 257 ÷ 32

نوع النشاط: جماعي.
المهارات المكتسَبة: تقدير ناتج قسمة عدد على آخر 

ن رمزه من رقمين. مكوَّ
الموادّ المستخدَمة في النشاط: سبّورة.

د للمتعلّمين على أنّ كلمة »تقريبًا« في  أكِّ
السؤال المطروح تدلّ على أنّهم لا يحتاجون 

إلى إجابة دقيقة، لذلك عليهم أن يستخدموا 
التقدير.

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين كيفية استخدام حقائق 

القسمة والأنماط عند التقدير ويشرحون طريقتهم 
بإعطاء أمثلة مفيدة.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

ن رمزه من  يقدّر المتعلّمون ناتج قسمة عدد على آخر مكوَّ
رقمين باستخدام حقائق القسمة والأعداد المناسِبة.

دْ من إجابات المتعلّمين. تأكَّ

�� �� ����
7-5���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� �� �� �� �� ���� ������ ������ ��

Estimating Quotients with 2-Digit Divisors

�� �� �� �������� �� ����� �� ��� �� � ���� ���� �� 257 �� ��������

� ������� ���� �� �� �� ���� ������ � ������ ���� ����� �� ������

 ���� �� �� �� �� ������ �� �� �� �� ���������� �� �� ���� ���� ���� ��
?����� �� �� ���� �� ����� ��� �� �� ���� �� �� �� �� �� ���� ���� �� 32

 ���� ���� ����� ���� �� ��� �� �� ���� ����
� �� �� �� ����� ������ ���

 30 , 240 ���� �� �����
� ���� ���� �� ���� �� �� �� ��

 32 ÷ 257 ������ �� �� ��
32 ÷ 257 : ���������� ������ ��

 
8 = 30 ÷ 240

����� �� �� 8 = 32 ÷ 257
������ �� �� ������ �� �� 8 ���� �� ����� �� ������ �� ����� �� �� ��

�������� ����� ����  ? �� �� �� �� �� ���� �� �� �� �� ����� ������ �� �� �� ������ ���� ��  1   �� �� �� �� ���� �� ��
�������� ����� ����  ? �� �� �� �� �� ���� �� 10 �� �� ����� ���� ���� �� �� �� ������ ���� ��  2

�� �� ����
� ���� ���� ����� ���� �� ��� � �� �� ���� �� �� ��������� �� �� ��  1

10 = 20 ÷ 200  ≈ 23 ÷ 206 � 7 = 30 ÷ 210  ≈ 33 ÷ 215 �

20 = 40 ÷ 800  ≈ 38 ÷ 829 �� 8 = 80 ÷ 640  ≈ 82 ÷ 653 �

10 = 47 ÷ 470  ≈ 47 ÷ 462 ��50 = 70 ÷ 3 500  ≈ 71 ÷ 3 212 �

80 = 60 ÷ 4 800  ≈ 62 ÷ 5 007 �30 = 90 ÷ 2 700  ≈ 88 ÷ 2 594 �
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )2(
يحدّد المتعلّمون المقسوم والمقسوم عليه ويكتبون 

تعبير القسمة المناسِب، ثمّ يقدّرون ناتجه للإجابة عن 
السؤال.

دْ للمتعلّمين على أنّه عند التوزيع بالتساوي  أكِّ
عليهم بالقسمة.

التمرين )3(
يكتب المتعلّمون تعبير القسمة المناسِب، ثمّ يقدّرون 

ناتجه كما في التمرين )2(.

اُطلب من المتعلّمين أن يشرحوا كيف 
اختاروا الأعداد المناسِبة عند التقدير.

التمرين )4(
ر المتعلّمون ناتج 912 2 ÷ 49 باختيار الأعداد  يُقدِّ
المناسِبة، ثمّ يقارنون الناتج بالعدد 50 للإجابة عن 

السؤال.

التمرين )5(
يدرك المتعلّمون في هذا التمرين أنّه يمكنهم أن يقدّروا 
ناتج 310 3 ÷ 6 بطريقتين مختلفتين باستخدام حقائق 

القسمة والأنماط.

ساعِد المتعلّمين على إيجاد حقيقتي القسمة.

� �� �� �� �� �� �� �� ���� �� �� �� �� �� �� �� �� �� �� ����������� � �� �� �� 64 �� �� �� �� �� �� 576 ���� ���� ������ �������   2
����� 10 = 60 ÷ 600 ≈ 64 ÷ 576 :��� �� �� ����

 �� ������� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� , ���� �� ���� �� �� �� �� �� �� �� �� ����� �� ������� �� �� �� �� �� ���� ��� �� �� �� �� 28 �� �� ��� �� ����� ������ ���� ����   3
? ���� �� �� 604 ��� �� ����� ���� �� �� �� �� �� ���� ���

���� 20 = 30 ÷ 600 ≈ 28 ÷ 604 :����� �� ����

� ���� ����� �� ���� ?50 �� �� �� �� ��� ��� ���� ��� 39 �� �� 2 312 �� �� ���� ������ �� �� , �� ���   4
50 �� ���� 39 ÷ 2 312 ���� � ��� 50 < 60 ¡ 60 = 40 ÷ 2 400 ≈ 39 ÷ 2 312

6 ÷ 3 310 ���� ���� �� ������ �� ���� ������ �� �� ���   5
500 = 6 ÷ 3 000 ≈ 6 ÷ 3 310
600 = 6 ÷ 3 600 ≈ 6 ÷ 3 310

����� ���� ��� ���� ���� �� �� �� ���� �I� ����  ,  92 ÷ 5 347 ������ ������ �� ���� ���� �� �� ���� ���� ����� �� �� �����   6
���������� ������ �����

60 = 90 ÷ 5 400 ≈ 92 ÷ 5 347

90 = 90 ÷ 8 100 ≈ 91 ÷ 8 451 91 ÷ 8 451  ������ �� �� ��  ��
���� ���� �� ��?   7
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�� �� ����
8-5

�� �� �� ��
,� �� �� �� 246 �����M �� ��� ����� ��� � �� �������� ��� �� �� �� �� � �� �� �� 41 �����I �� �� ���� �� ���� �� �� �� �� ���� ���� �� �� �� ������ ��
� �� �� �� ����� ������ �� �� �� �� �� ��� ���� ���� �� ���� ���� �� �� ���������� �� �� ������

6
24040  : �� �� ��  24641  : �� �� ��

 �� �� �� ���� �� �� ���� ,������ ���� ���� �� �� ������ �� �� �� ����� ������ �� �� �� �� �� ���
�������

 ?���� �� ������ �� ��� ���� �� �� �� �� �� �� �� ������ �� �� �� �� �� �� �� �� ��
?  = 41 ÷ 246

� ������ �� �� ����

:�������� ��������� �� �� �� �� �� �� �� ������ ���M�� ����
14���� �� �� ������ �����
×6�� �� �� ����� ������

642������ �����

 

�� �� ����41 ÷ 246
�� �� ����41 × 6

�� �� �I��246 − 246
�� ����41 > 0

6
41 2 4 6

2 4 6 −
0 0 0

6 = 41 ÷ 246 � ���
: ���� ������� ������ ���� ���� ���� ��������� �� �� �� �� �� �� �� ������ ������ �� �� ��

� �� �� �� 246 �����I �� ������ �� 6 ��� �� ������ �� ��� ���� �� ����� �� �� ��������� ��
9

27030  : �� �� ��  27334  : �� �� ��
������� �� �� �� ���� �� �� ����

  � �� ���� 34 �� � �������� 273 �� ���� �� �� ���� ���M �� ��  �F�� ����
?�� �� ������� �� ��� ���� �� �� ������� �� ���M �� �� ����� �� ���� ����� ��

?  = 34 ÷ 273
� ������ �� �� ���� :1 �� ���M ������ ������ ������� :2 �� ���M �����

�� �� ����34 ÷ 273
�� �� ����34 × 9

9
27334

-306
�8 �� �� ��� ���� �� �� ���� �� 9 ���������  � ��� 273 < 306 ��� �� ���

�� �� ����34÷ 273
�� �� ����34 × 8

�� �� �I��272 - 273
�� ����34 > 1

8
27334

-272
001

1 �������� 8 = 34 ÷ 273  � ���
273 = 1 + 34 × 8 :������� ���� ����� �� ���� ��� �� �� �� �� �� �� �� ������ ������ �� ��

����� �� �� ���������� 8 �� �� ������� �� ��� ���� �� �� ������� �� ���M �� �� ����� �� ���� ����� ���������

  ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �����
Dividing by 2- Digit Numbers

114
�

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
عليهم أن يجدوا ناتج 246 ÷ 41

اشِرح لهم أنّ التقدير يساعدهم على تحديد منزِلة أوّل 
، الناتج التقديري يساوي  رقم في ناتج القسمة. هنا مثًال
6، إذًا أوّل رقم في ناتج القسمة يكون في منزِلة الآحاد 

وبالتالي، عليهم أن يبدأوا بقسمة الآحاد.
أخيرًا، اشِرح لهم أنّه بإمكانهم استخدام الآلة الحاسبة 
للتأكّد من صحّة إجاباتهم، وأرِهم طريقة استخدامها.

نوع النشاط: جماعي.
ن  المهارات المكتسَبة: إيجاد ناتج القسمة على عدد مكوَّ

رمزه من رقمين.
الموادّ المستخدَمة في النشاط: آلة حاسبة.

ر المتعلّمين بتسلسل استخدام القسمة،  ذكِّ
الضرب، الطرح والمقارنة في كلّ خطوة، 

د على أهمّية المقارنة قبل الانتقال إلى  وشدِّ
الخطوة التالية.

اُربط
يدرك المتعلّمون بعد استخدام التقدير أنّه عليهم أن 

يبدأوا بقسمة الآحاد ويلاحظوا أنّه إذا استخدموا الناتج 
9، فسوف يحصلون على عدد أكبر من المقسوم عند 
ضربه في المقسوم عليه، فيستنتجون أنّ 9 غير مقبول 
ويجرّبون 8، وبما أنّ 8 × 34 أصغر من المقسوم، إذًا 

يكملون القسمة باتّباع الخطوات التي يعرفونها.

د للمتعلّمين على إمكانية التأكّد من  أكِّ
إجاباتهم بضرب الناتج في المقسوم عليه 

وجمع ناتج الضرب مع الباقي ليحصلوا على 
المقسوم.
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 ����� ��� ���� ,������� ��� �� ? �F�� ���� ���� �� �� ���� �� �� �� �� ���� �� ���� ���� ����� ��� ���� �� �� ���� ��   �� �� �� �� ���� �� ��
������ ����� ��� ������ ���� ��

: �� �� ���  1   �� �� ����
6

55 3 5 3
3 3 0 −
0 2 3

 �� 4
64 2 8 6

2 5 6 −
0 3 0

 � 5
42 2 1 0

2 1 0 −
0 0 0

 �

� ���� �� �� �� �� �� �� ���� ���� , ��������� �� �� ���  2
95 ÷ 845  �

85 ������� 8
845 = 85 + 95 × 8

51 ÷ 167  �
14 ������� 3

167 = 14 + 51 × 3

� ��������� �� �� ���  3
8

15 1 2 0
1 2 0 -
0 0 0

 �� 18 � 7
32 2 4 2

2 2 4 -
0 1 8

 � 9
21 1 8 9

1 8 9 -
0 0 0

 �

25 = 44 ÷ 1 100 ?44 �� �� 1 100 �� �� ���� ������ ��   4

 ���� �� �� �� �� ��� �� , ���� �� �� �� �� �� �� �� �� �� 22 �� �� �� ���� �� ���� ��� � ���� �� �� �� �� �� �� 176 �� ���� ��� ��� ���� �� ���� ����   5
���  8 = 22 ÷ 176 :��� ������ ? ���� �����

����� �� �� �� �� �� �� ���� ���� , 32 ÷ 185 ������ �� �� ���   ��
���� ���� �� ��?   6

 25 ������� 5 = 32 ÷ 185
185 = 25 + 5 × 32 :������

115

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين كيفية استخدام التقدير 

لمساعدتهم على تحديد أوّل منزِلة في ناتج القسمة.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
ن  يكمل المتعلّمون حلّ تعبيرات القسمة على عدد مكوَّ

رمزه من رقمين بالشكل الرأسي باتّباع الخطوات التي 
تعلّموها.

دْ من إجابات المتعلّمين. تأكَّ

التمرين )2(
يجد المتعلّمون ناتج القسمة بالشكل الأفقي باتّباع 
خطوات القسمة، ثمّ يتحقّقون من صحّة إجاباتهم.

ر المتعلّمين بضرورة مقارنة الباقي  ذكِّ
بالمقسوم عليه في كلّ خطوة من عملية 

القسمة.

التمرين )3(
يجد المتعلّمون ناتج القسمة بالشكل الرأسي لعدد 

ن رمزه من  ن رمزه من 3 أرقام على عدد مكوَّ مكوَّ
رقمين.

اُطلب من المتعلّمين أن يستخدموا التقدير 
ليحدّدوا أوّل رقم في ناتج القسمة.
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�� �� ����
9-5�� �� ��� ���� ��� �� �� ����

Dividing Greater Numbers

�� �� �� ��
� ���� ����� �� �� �� ����� ��� ��� �� ����� �� ������ ������� �� �� �� �� ����� �� �� �� �� �� ���� �� �� �� �� �� �� ����� �� �� �� �� ��

 �� ������ ���� ������ �� ����� �� ���� �� ����� ���� �� ��
 �� �� �� ���������� ���� ���� �� �������

� ���� �� �� �� �� �� ����� �� �� �� �� ������ ���

 ? ��� �� �� 609 �� ������ �� ���� ����� ���� ���� �� �� ������ �� �� �� �� ���� 21 �� �� ������� �� ��������� �� ����
?  = 21 ÷ 609

: ����������� �����M ����� ���� ����� �� �� �� ����� ������ �� �� ���� ��� ������ �� ��

� ���� ������� �� �� �� ���� �� �� ����  30 = 20 ÷ 600 : �� �� ��� �� �� ���� �� ���� �� ����� �� �� ������ �� �� ��
� ���� ������� �� �� ���� :1 �� ���M ������ ���� ������� �� �� ���� :2 �� ���M ������ �� �� ��� ���� , ������ �� ����� :3 �� ���M �����

�� �� ����21 ÷ 60
�� �� ����21 × 3

�� ����60 < 63

3
90621

-36

 ���� �� �� ���� �� 3 ��������� � ��� 60 < 63 ��� �� ���
��2 �� �� ���

�� �� ����21 ÷ 60
�� �� ����21 × 2

�� �� �I��42 - 60
�� ����21 > 18

2
90621

-24
81�� �� ����21 ÷ 189

�� �� ����21 × 9
�� �� �I��189 - 189
�� ����21 > 0

92
90621

-24
981

-981
000

12
×92

981
+024

906

 : ���� ����  29 = 21 ÷ 609 ������ ��
� ��� �� ����� �� ������ �� ������ 29 ��� �� ���� ����� ���� ���� �� ��������� ��

�� ���� ��������� �������� �� �� �� �� �� �� �������� �� �� �� � �� �� ����
1 ������� 201 = 39 ÷ 7 840   �

200 = 40 ÷ 8 000
44 ������� 42 = 55 ÷ 2 354   �

40 = 50 ÷ 2 000
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
عليهم أن يجدوا ناتج 609 ÷ 21 للإجابة عن السؤال 

المطروح.
اُطلب منهم أن يستخدموا التقدير ليحدّدوا منزِلة الرقم 

الأوّل في الناتج.
الإجابة: 600 ÷ 20 = 30، إذًا أوّل رقم في ناتج القسمة 

يكون في منزِلة العشرات.
د لهم على أنّه عليهم أن يبدأوا بقسمة العشرات، ثمّ  أكِّ

اطلب منهم أن يجرّبوا الرقم 3 واسألهم: ماذا تلاحظون؟
الإجابة: 3 × 21 = 63 و63 < 60، إذًا يجب أن نجرّب 

رقمًا آخر.
اُطلب منهم أن يجرّبوا ناتج الرقم 2 لقسمة العشرات، 

ثمّ أن ينزلوا الآحاد ويقسموها.
نوع النشاط: جماعي.

المهارات المكتسَبة: إيجاد ناتج قسمة عدد على آخر 
ن رمزه من رقمين. مكوَّ

الموادّ المستخدَمة في النشاط: سبّورة.

د للمتعلّمين على أنّه عندما جرّبوا   أكِّ
الرقم 3 ولاحظوا أنّه غير مقبول، عليهم أن 

 يجرّبوا العدد الكلّي الذي يسبقه مباشرة أي 2 
وليس 1

رهم بطريقة التحقّق من صحّة إجاباتهم  ذكِّ
باستخدام الضرب.

لاحِظ
يجد المتعلّمون ناتج تعبيرات القسمة باتّباع الخطوات 

التي تعلّموها، ثمّ يتحقّقون من إجاباتهم باستخدام 
التقدير.

دْ من إجابات المتعلّمين. تأكَّ
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�� �� ����
� ��������� �� �� ���  1

17 � 2 1
21 4 5 8

  �28 � 6
47 3 1 0

  �5 � 1 2 8
25 3 2 0 5

 ��

����� �� �� �� �� �� �� ���� ���� , ��������� �� �� ���  2
0 � 1 5
63 9 4 5

  �

945 = 0 + 63 × 15

10 � 1 1 3
37 4 1 9 1

   �

4 191 = 10 + 37 × 113

, ���� ����� �� �� �� �� �� �� �� �� ����� �� �� �� �� �� �� �� ���� ��� �� �� �� �� 41 �� � ������ 861 ������ �� ����� �� ��� �� ����   3
� ����� 21 = 41 ÷ 861 :������ ����� �� ���� ? �� ������� �� ������� �� ���� ���� ����� ���� ����� �� �� �� ����

� ���� ����� �� ���� ? ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��� �� �� �� ����� ������ �������� 75 �� �� ���� �� ���� ���� �� �� ����� �� �� ����� ��   4
10 = 75 ÷ 750 �� , 750

 �� � ���� ���� �� �� �� ��� �� ����� �� �� ������ �� �� ���� �� �� 32 ��� �� �� �� �������� ���� ��� �� �� �� �� �� � ���� ���� �� 576 �� �� ��   ��
���� ���� �� ��?   5

� ������ 18 = 32 ÷ 576    ? �� ���� �� �� �� ��
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ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يجد المتعلّمون ناتج القسمة بالشكل الرأسي لعدد 

ن رمزه من  ن رمزه من ثلاثة أرقام على عدد مكوَّ مكوَّ
ن رمزه من  رقمين، في )أ( و )ب(. وفي )جـ( لعدد مكوَّ

ن رمزه من رقمين. أربعة أرقام على عدد مكوَّ

اُطلب من المتعلّمين الذين أخطأوا في 
القسمة أن يستخدموا التقدير ليدركوا أنّ 

إجاباتهم غير صحيحة.

التمرين )2(
كما في التمرين )1(، يجد المتعلّمون ناتج تعابير 

القسمة بالشكل الرأسي، ويتحقّقون بعد ذلك من 
صحّته.

دْ من إجابات المتعلّمين. تأكَّ

التمرين )3(
يكتب المتعلّمون تعبير القسمة المناسِب، ثمّ يجدون 

الناتج للإجابة عن المسألة.

اُطلب من المتعلّمين تحديد المقسوم 
والمقسوم عليه لمساعدتهم على كتابة تعبير 

القسمة.

التمرين )4(
ن رمزه من  يشرح المتعلّمون أنّ أصغر عدد مكوَّ

رقمين هو 10، فيضربونه بالمقسوم عليه ليجدوا العدد 
المجهول.

دْ من طريقة تحليل المتعلّمين الإجابة. تأكَّ

https://school-kw.com/


 

205

�� �� ����
10-5  ���� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ����

Dividing Decimal Number by a Whole Number

�� �� �� ��
� ���� ������ �� ������ ���� �� �� �� �� ������� 15 �� ���� �� ����� ���� �� �� �� ���� ����

 ����������� ���� �� �� �� �� �� ���� ���� �� �� ��� 2�6 ���� ������ �� �� �� ����
? �� �� �� �� �� �� �� �� �� � ��������� �� �� ��
?  = 2 ÷ 2�6

 : ���� �� ��� �� ���� �� ���� ���� ����� ��������� ������ ������ �� ��
 2 ÷ 2٫6 ���� �� :1 �� ���M �����

 ����������� ���� ����� �� �� ����� ���� �� �� �� �� �� �� :2 õÉ óوúط õخúلÇ

 ����������� ���� �� ��� �� �� �� :3 õÉ óوúط õخúلÇ

1٫3 = 2 ÷ 2٫6  Ç ðÐÅ
: ����������� �����M ����� ���� ����� ��������� ������ ������ �� ��

� ������ �� �� ���� :1 �� ���M �������� �� �� �� �� �� ���� �� ��� �� �� ���� � ��������� �� �� �� �� ������� �� �� ������� �� ��  :2 �� ���M �����

�� �� ���� 2 ÷ 2
�� �� ���� 2 × 1

�� �� �I�� 2 - 2
�� ����2 > 0

1
6٫22

-2
0

3٫1
6٫22

-2
60

-6
0

�� �� ���� 2 ÷ 6
�� �� ���� 2 × 3

�� �� �I�� 6 - 6
�� ����2 > 0

1٫3 = 2 ÷ 2٫6  Ç ðÐÅ
� ��������� 1٫3 �� �� �� �� �� �� �� �� �� �� �� ��   ���������    2٫6 = 2 × 1٫3 :������� ���� ����� ��������� �� �� �� �� �� �� �� ������ ������ �� ��

� ������ ����� �� �� ����� �� �� ���� �� ����� �� �� �� ������� �� �� ������� �� �� �� �� �� ���� �� �� �� �� ������� �� �� ������� ���� �� �� ����� �� �� �� ��� ��
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نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
عليهم أن يجدوا ناتج 2٫6 ÷ 2 ليجدوا كم كيلوجرامًا 

وُضِع في كلّ حوض، ثمّ يلاحظون استخدام شبكة 
الأعشار لإيجاد الناتج، ففي الخطوة 1 تمّ تمثيل العدد 
العشري 2٫6 على شبكات الأعشار وتمثيل المقسوم 

طين فارغين. عليه 2 بإطارين منقَّ
ع ما يمثّل العدد الكلّي بالتساوي على  في الخطوة 2، وُزِّ

المجموعتين )الإطارين(، فبقي 6 أعشار بحاجة إلى 
التوزيع.

عت الأعشار الباقية بالتساوي على  في الخطوة 3، وُزِّ
المجموعتين.

كذلك، يلاحظ المتعلّمون إمكانية اتّباع الخطوات التالية 
لإيجاد الناتج.

الخطوة 1: قسمة الآحاد.
الخطوة 2: وضع الفاصلة العشرية في الناتج وقسمة 

الأجزاء من عشرة.
نوع النشاط: جماعي.

المهارات المكتسَبة: قسمة عدد عشري على عدد كلّي.
الموادّ المستخدَمة في النشاط: شبكة أعشار.

د للمتعلّمين على وضع الفاصلة العشرية  أكِّ
مباشرة فوق الفاصلة العشرية الموجودة في 

العدد المقسوم.
د لهم أنّه بإمكانهم التحقّق من إجاباتهم  أكِّ

كما كانوا يتحقّقون عند قسمة عدد كلّي على 
آخر.
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5 ÷ 3٫65 ������ �� �� ���   �F�� ����
 : ����������� �����M ����� ���� ����� ��������� ������ ������ �� ��

� ������ �� �� ����  :1 �� ���M ������ ��������� �� �� �� �� ������� �� �� ������� �� ��  :2 �� ���M �����
��� �� �� �� �� �� � �� �� �� 30 ��� ����� 3 ���� �� ���� �� ���

��� �� �� �� �� �� ���� �� ��� �� �� ����

���� ��� 10 ��� �� �� �� �� �� �� �� �� �� 1 ���� �� ���� �� ��� :3 �� ���M �����
� ���� �� �� �� ���� �� ��� �� �� ���� � ���� �� �� ��

0
3٫655�� �� ����5 ÷ 36

�� �� ����5 × 7
�� �� �I�� 35 - 36
�� ����5 > 1

7,0
56,35

-53
1�� �� ����5 ÷ 15

�� �� ����5 × 3
�� �� �I�� 15 - 15
�� ����5 > 0

37,0
56,35

-53
51

-51
00

3٫65 = 5 × 0٫73 :������� ���� ����� ��������� �� �� �� �� �� �� �� ������ ������ �� ��  0٫73 = 5 ÷ 3٫65  � ���

� ���� �� �� �� �� �� �� ���� ���� , ��������� �� �� ���  1   �� �� ����
8٫07

32,284   �

32٫28 = 4 × 8٫07 :������

23٫3
186,48   �

186٫4 = 8 × 23٫3 :������

� ��������� �� �� ���  2
6�25

31٫255   �
6�6

59,49   �
0�951
6,6577   ��

� 3�09 = 4 ÷ 12�36  ?�� �� �� �� �� ���I �� , �� ������� �� ���� ��� 4 ��� �� �� ��   � 12�36 �����I �F�� ��  3

5�16
15٫483  : ��������� �� �� ��� ��

���� ���� �� ��?   4
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اُربط
يجد المتعلّمون ناتج 3٫65 ÷ 5 باتّباع الخطوات 

الثلاث التالية: 
الخطوة 1: قسمة الآحاد، فيلاحظون أنّ 3 > 5 فيكتبون 

صفرًا في الناتج ثمّ ينتقلون إلى الخطوة 2
الخطوة 2: وضع الفاصلة العشرية في الناتج، وبما أنّ 
3 > 5 يعيدون تسمية 3 آحاد بـ 30 جزءًا من عشرة ثمّ 

يقسمون الأجزاء من عشرة.
الخطوة 3: بما أنّ 1 > 5، يعيد المتعلّمون تسمية 1 جزء 

من عشرة بـ 10 أجزاء من مئة، ثمّ يقسمون الأجزاء من 
مئة.

د للمتعلّمين على إمكانية التحقّق من  أكِّ
الناتج بضرب المقسوم في المقسوم عليه 

وجمع ناتج الضرب مع الباقي.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يجد المتعلّمون ناتج تعبيرات القسمة بالشكل الرأسي 
باتّباع الخطوات التي تعلّموها في نشاط »التعلّم«، ثمّ 

يتحقّقون من إجاباتهم. 

دْ من إجابات المتعلّمين. تأكَّ

التمرين )2(
كما في التمرين )1( يجد المتعلّمون ناتج قسمة عدد 

عشري على عدد كلّي.

د للمتعلّمين على وضع الفاصلة العشرية  أكِّ
مباشرة فوق الفاصلة العشرية الموجودة في 

العدد المقسوم.
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�� �� ����
11-5

�� �� �� ����� ������ �� �� �� �� �� �� ������� ���� �� ��� �U����� ���� ���� ����
Exploring Patterns of Dividing Decimal Numbers

�� �� �� ��
 �U���� ��� �� �� ���� ���� ��� � ����� ���M�� ���� , ���� �� �� � ���� ��� �� �������� �U���� ��� �� �� �� ���� ����

1 000 ,100 ,10 �� �� �� �� �� �� �� � ���� ��� �� ��������
� �U����� �� �� �� ������ � �� �������� ���� ������� ������ �� �� ���� ����

7٫35 = 10 ÷ 73٫5  �0٫024 = 10 ÷ 0٫24  �0٫005 = 10 ÷ 0٫05  ��
0٫735 = 100 ÷ 73٫50٫0024 = 100 ÷ 0�240٫0005 = 100 ÷ 0٫05

0٫0735 = 1 000 ÷ 73٫50٫00024 = 1 000 ÷ 0٫240٫00005 = 1 000 ÷ 0٫05
���������� ������ ����� ����� �� �� �� ����� �U���� ��� �� ��

 �� �� �� �� �� �� ��� �� �� ���� ���� ���� �� ��������� ��� �� �� �� ������� �� �� ������� �� �� �� ,1 000 , 100 , 10 �� �� �� ���� �� �� ���� ��
� ���� �� �� ������ ����� �� �� ���� �� ����� ���� �� ���

436,0 = 436  �� �� ����  ?1 000 , 100 , 10 �� �� 436 �� ���� �� ���� ��  �F�� ����
43,6 = 10 ÷ 436٫0

 �, ���� �� �� ������ ����� �� �� ���� �� �� �� ���� ��
 �� �� ���� ���� ���� �� �� �� �� ������� �� �� ������� �� �� ��

� ��������� ���

4٫36 = 100 ÷ 436٫0
 , ���� �� �� ������ ����� �� ���� �� �� ���� ��

 ��� ������ �� ���� �� �� �� �� ������� �� �� ������� �� �� ��
� ���������

0٫436 = 1 000 ÷ 436٫0
 , ���� �� �� ������ ����� �� ���� ��� 3 ���� ��

 ��� �� ���� �� 3 �� �� �� ������� �� �� ������� �� �� ��
� ���������

�� ���:����� ���� ��������� �� ������ �U���� ��� �� �� ���� ����  1
�0٫96 = 10 ÷ 9٫6  �0٫057 = 100 ÷ 5٫7

��0٫271 = 100 ÷ 27٫1�0٫462 =1 000 ÷ 462

: �� ���� �� �� ���� �� �� �� �� �� ������ 1 000 ��� 100 ��� 10 �� ��  2
�3٫54 = 10  ÷ 35٫4  �90٫01 = 10  ÷ 900٫1

��81٫3 = 100  ÷ 8 130�0٫004 = 1 000  ÷ 4
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ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون أنّه كما يستخدمون الأنماط 
ليقسموا أعدادًا كلّية، يمكنهم أن يستخدموا الأنماط 

ليقسموا الأعداد العشرية على 10 و100 و000 1
م الفصل إلى مجموعات، وأرفِق كلّ منها بآلة  قسِّ

حاسبة، ثمّ اطلب منهم أن يجدوا ناتج كلّ تعبيرات 
القسمة في كلّ من )أ(، )ب(، )جـ(.

نوع النشاط: جماعي.
المهارات المكتسَبة: اسِتكشاف أنماط الأعداد العشرية 

في عملية القسمة.
الموادّ المستخدَمة في النشاط: آلة حاسبة.

د للمتعلّمين بعد انتهائهم من إيجاد كلّ  أكِّ
النواتج على أنّه عندما يقسمون على 10 أو 
100 أو 000 1، عليهم أن يحرّكوا الفاصلة 
العشرية إلى اليسار منزِلة واحدة لكلّ صفر 

من الأصفار الموجودة في المقسوم عليه.

اُربط
يلاحظ المتعلّمون كيفية قسمة 436 على 10 و 100 

و 000 1، فعند قسمة 436 على 10 يحرّكون الفاصلة 
العشرية منزِلة واحدة إلى اليسار لأنّ هناك صفرًا واحدًا 
في المقسوم عليه. أمّا عند قسمته على 100 فيحرّكون 
الفاصلة العشرية منزِلتين إلى اليسار لأنّ هناك صفرين 
في المقسوم عليه. كذلك الأمر عند قسمته على 000 

1، إذ يحرّكون الفاصلة العشرية 3 منازِل إلى اليسار لأنّ 
هناك 3 أصفار في المقسوم.

د للمتعلّمين على أنّه عندما لا توجَد فاصلة  أكِّ
ا تكون  في العدد، أي عندما يكون العدد كليًّ

:  الفاصلة العشرية إلى يمين آحاده، مثًال
436٫0 = 436

لاحِظ
يطبّق المتعلّمون القاعدة التي تعلّموها في »اُربط« 

لإيجاد النواتج في )1(.
في )2( يعدّ المتعلّمون عدد مرّات تحريك الفاصلة إلى 

اليسار في المقسوم للحصول على العدد في الناتج.

اُطلب من المتعلّمين في )2( أن يضعوا 
« لتسهّل عليهم عدّ عدد مرّات  علامة »

تحريك الفاصلة.
د لهم في )2( )د( على أنّ 4 = 4٫0 أكِّ
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?1 000 , 100 , 10 �� �� �� ���� �� �� ���� �� �� �� �� ������� �� �� ������� ���� �� ���� �� �� ���� ����    1     �� �� �� �� ���� �� ��
1 000 �� 100 �� 10 �� ������ ��� ����� ������� �� � ���� ������ ��� ������� ������� ����

���������� ������ ����� ? ���� ����� �� �� �� �� ������� �� �������� �� �� �� ���� �� ��������� ���� ��� �� ������ ��� ���� ���� �� �� ���� �� �� ��   2
�� �� ����

� ��������� �� �� ���  1
60٫14  = 10 ÷ 601�4  �5٫371  = 100 ÷ 537�1  �0٫0149  = 100 ÷ 1�49  ��

0٫937  = 1 000 ÷ 937  �0٫006  = 10 ÷ 0�06  ��1٫382  = 1 000 ÷ 1 382  �

� �� ���� �� �� ���� �� �� �� �� �� ������ 1 000 ��� 100 ��� 10 ���� ���� ����� �� �� ���  2
0�98 = 10   ÷ 9�8  �0�75 = 100  ÷ 75  �

 1�49 = 10   ÷ 14�9  ��0�366 = 1 000   ÷ 366  �

 :���� � �� �� �� �� �� �� ������ �� ������ ����� ���� �� ��� �� ��� ��� ����������� �� ��� ���� ����  3
�

�� �� �� ����� ������ �� 8 �� �� ���� ������ ,100 �� �� 85�1 �� �� �� �� ���
 ���� �� ������  ���� ���� �� ��

�100   �� �� 56 �� �� ���� ������ �� �� �� �� �� �� 10 �� �� 5�6 �� �� ���� ������
�� 10  �� �� 8٫17 �� �� �� �� ��� ���� �� �� �� �� ���� ����� �� �� �� �� �� �� �� ����� ������ �� �� �� �� ���� 1 000 �� �� 817 �� �� �� �� ���

�� ���� 468 �� ������ ��� ������ �� �� �����I 100 �� �� ���� ���� �����I�� �� ��� ������� ��    4
4٫68 = 100 ÷ 468  ? �� ������� ������M�� ������ ��� ���� , �� �� �� �� ������ �� ��� �������M�� �� �� �� ���� ���� ���

�98 �� �� �� ���� ��� ���������1 000 ,100 ,10 �� �� ���� �� ���� ������ �� �� ��� ���� , �� �� �� ����� �� �� � �� �� �� ���� ����   5   
���������� ������ �����

10
100

1 000 òÉ óر óش óع úن öم õÁÇز úج úلأÇ
òةóئ öم úن öم õÁÇز úج úلأÇ

òفúلÃ úن öم õÁÇز úج úلأÇ
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تعبير شفهي
يقيّم هذا التعبير فهم المتعلّمين القاعدة التي تعلّموها 

وقدرتهم على تطبيقها بالشكل المناسِب.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابته.

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يحرّك المتعلّمون الفاصلة العشرية إلى اليسار منزِلة 
واحدة لكلّ صفر من الأصفار الموجودة في المقسوم 

عليه. 

د للمتعلّمين على أنّ 937 و 382 1 عددان  أكِّ
كلّيان، وبالتالي فإنّ الفاصلة العشرية فيهما 

تقع إلى يمين رقم آحادهما.

التمرين )2(
يعدّ المتعلّمون عدد مرّات تحريك الفاصلة العشرية 

إلى اليسار في المقسوم للحصول على العدد في الناتج 
ليختاروا 10 أو 100 أو 000 1

د للمتعلّمين على أنّ عدد مرّات التحرّك  أكِّ
إلى اليسار يساوي عدد الأصفار في المقسوم 

عليه.

التمرين )3(
يختار المتعلّمون إحدى العبارات أو أحد الأعداد 

حة في المستطيل ليحصلوا في كلّ مرّة على  الموضَّ
جملة مفيدة.

دْ من إجابات المتعلّمين. تأكَّ
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�� �� ����
12-5

������� �� ����� ���� �� ��
Ordering Operations

�� �� �� ��
6 × 5 + 3 ������ �� �� ���

� �� ��� ���� ������ ������ �� �� ��� �� �� ���� ��� ���� �� �� ,�� �� ���� ������ �� �� �� �� ���� ��� �� ���� ���� ���� ������ �� �� ���� �� �� ���� ��
������� �� ����� ���� ��� ���� �� ��

���� �� �� ���� ���� �� �� ����� ���� �� �� ������ �� ����� �� ���� 1
� ��������� ��� ��������� �� �� �� �� �� ����� ��� �� �� ���� ������ �� �� �� ����  2
� ��������� ��� ��������� �� �� �� ���M�� ��� �� �� ����� ������ �� �� �� ����  3

� �� ��� �� �� ���� ������ �� �� �� ����
�������� �� �� ����� ������ �� �� �� ����

6 × 5 + 3
30  + 3 =

33 =

33 = 6 × 5 + 3  Ç ðÐÅ

2 ÷ (2 + 4) - 15 : ��������� �� �� ���
2 ÷ (2 + 4) - 15� ���� �� �� ����� ���� �� �� ������ �� ����
2 ÷  6  - 15 =� �� �� �� ����� ������ �� ����

3  - 15 =� �� ���M�� ������ �� ����
12  =

12 = 2 ÷ (2 + 4) - 15  � ���

: ��������� �� �� ���  �F�� ����
0٫4 × 10 - 13  �0�4 × �10 − 13�  �
0٫4 × 10 - 130�4 × �10 − 13�

4 - 13 =0�4 × 3 =
9 =1�2 =

: ��� �� ���
 0�4 × �10 − 13� ������ �� �� ������ ���� 0�4 × 10 − 13 ������

� �������� ����� ������� �� ����� ���� ��� �� �� ���� ��� �� �� ���� �� �� ���� �� ��� ���� ���� ����

� ���� ����� �� ���� ? �� ���� �� �������� 54 = 6 × 5 + 4 �� ���� �� �� ���� �� ��� �� ���� ��� �� ���� �� ���   �� �� �� �� ���� �� ��
54 = 6 × 9 �� ,6 × �5 + 4�
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نشاط التعلّم: يدرك المتعلّمون في المسألة الأولى أنّ 
التعبير الرياضي 3 + 5 × 6 يتضمّن عمليتين، الجمع 

والضرب، وأنّه لإيجاد الناتج عليهم أن يجروا العمليات 
بترتيبها المناسِب، إذ عليهم أن يبدأوا بعملية الضرب 

، أي 5 × 6 ثمّ عليهم أن يجروا عملية الجمع،   أوًّال
أي 3 + 30 كذلك الأمر في المسألة الثانية، فالتعبير 

الرياضي 15 - )4 + 2( ÷ 2 يحتوي على ثلاث 
عمليات مع وجود أقواس. اشِرح لهم أنّه عليهم أن 

يبدأوا بإيجاد ناتج ما بين القوسين، ثمّ إيجاد ناتج 
القسمة، وأخيرًا إيجاد ناتج الطرح.

نوع النشاط: جماعي.
المهارات المكتسَبة: اسِترجاع ترتيب العمليات لإيجاد 

ناتج تعبير رياضي يتضمّن أكثر من عملية واحدة.
الموادّ المستخدَمة في النشاط: سبّورة.

ر المتعلّمين بقواعد ترتيب العمليات،  ذكِّ
د لهم على أنّه عليهم اتّباعها دائمًا لإيجاد  وأكِّ

ناتج تعبير رياضي.
اُطلب من بعض المتطوّعين أن يصنعوا لوحة 

جدارية يبيّنون فيها قواعد ترتيب العمليات.

اُربط
يلاحظ المتعلّمون أن الناتج في )أ( يختلف عن الناتج 

في )ب( بالرغم من استخدام الأعداد نفسها. اشِرح لهم 
أنّ ذلك سببه استخدام الأقواس الذي يغيّر من أولوية 

إجراء العمليات الحسابية.

أعطِ المتعلّمين أمثلة أخرى للتأكّد من 
فهمهم.

تعبير شفهي
يدرك المتعلّمون أنّ مكان الأقواس يدلّ على العملية 
التي يجب أن يبدأوا بإيجاد ناتجها، وبالتالي، يضعون 

الأقواس في المكان المناسِب في التعبير الرياضي 
لتكون العبارة المعطاة صحيحة.

اسِتمِـع إلى إجابات المتعلّمين، وساعِد من 
أخطأ على تصحيح إجابَته.
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�� ���: �� �� ���
2 − 6 + 100 ÷ 3�2  �1 000 × �9 − 9�5� − 700  �

2 − 6 + 0٫032   = 1 000   ×  0٫5   − 700  =
4٫032   = 2 − 6٫032   =200  = 500   − 700  =

: ��������� �� �� ���  1   �� �� ����
50    9 × 5 + 5  �4    6 ÷ (2 - 5) × 8  �234    4 + 100  ×  2٫3  ��

0٫315    10 ÷ (4 - 7٫15)  �19    10 ×  3٫1 - 3  ÷ 150  ��1    87 ÷ (1 + 9)  ×  8٫7  �

� �� ���� �� �� ���� �� �� �� �� �� ������ � ���� ��� �� ��  2
 10 = 4 ÷ 2 + 3 × 8 �17 = 2 + 3 × 5 − 10 �

15 = 4 − 14 × 0�2 + 13 ��2�9 = 6 + 4 × 1�5 − 17�9  �

� ���� ����� �� ���� ? �� ���� �� ���� ����� �� �� ��� , ���� ��� ������ �� �� �� �� �� 2 + 6 - 9 ������ ���� �� �� ������� �� �� �� �� �� �� �� ���   3

5 = 2 + 6 - 9
õáفاúنÃ1 = 2 + 6 - 9õäنا óح

200 = 14 - 214 =  10 ÷ 140 - 1 000 × 0٫214  : ��������� �� �� ���  ��
���� ���� �� ��?    4

(  )

(  )

(  )

(  )

 9 �� 6 ��M� �� ����� ,9 �� 2 + 6 ���� ���I ���� �� ,�����
2 �� ������ �����

123

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

لاحِظ
يكمل المتعلّمون حلّ التعبيرين الرياضيين باتّباع قواعد 

ترتيب العمليات.

دْ من إجابات المتعلّمين. تأكَّ

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن
التمرين )1(

يجد المتعلّمون ناتج التعبيرات الرياضية باتّباع قواعد 
ترتيب إجراء العمليات التي تعلّموها في نشاط 

»التعلّم«.

ر المتعلّمين بأنّه عليهم البدء بالعملية  ذكِّ
داخل القوسين في كلّ من )ب(، )د(، )و(، 

ثمّ إجراء عملية الضرب أو القسمة من اليمين 
إلى اليسار.

التمرين )2(
يضع المتعلّمون أقواسًا في المكان المناسِب في التعبير 

الرياضي، أي للعملية التي يجب أن يبدأوا بها أوًّال 
للحصول على عبارة صحيحة.

د للمتعلّمين على أنّ استخدام الأقواس  أكِّ
يغيّر أولوية إجراء العمليات ، وبالتالي، يغيّر 

ناتج التعبير الرياضي.

التمرين )3(
يشرح المتعلّمون أنّه عندما يتضمّن التعبير الرياضي 

جمعًا وطرحًا فقط، عليهم أن يبدأوا بإجراء العمليات 
من اليمين إلى اليسار، وبالتالي، يختارون الفتاة التي 

إجابتها صحيحة.

اُطلب من المتعلّمين أن يضعوا أقواسًا لتعبير 
أنفال ليحصلوا على عبارة صحيحة.
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�� �� ����
13-5  �� ���� ����� ���� ������ ���� ���� ����

Using Algebraic Expression

�� �� �� ����� ���� �� �� ���� �� ���M ��� , �� �� ���� ���� �����M�� 3 �� �� �� �� ����
 ��� ��� ��� �� �� ��������� �����M����� ������

 + 3  ? �� �� �� �� ���� ���� ��� �� �� ���� ���� �� ���M�� �� ��
������ �� ����� �� ������� ���� �� �� �� �� �� ,�� ���� ���� ��� � �� ���� �� � �� ������ �� �� �� �� ��� �� ����� ���� �� ����� �������� ��� ���� �� ��

,� �� ���� �� � ���� �� �� � �� ���� �� � + 3 �� ��� ���� �� �� ���� �� �� ��
�� ���� ���� ����� �� ���� �� ���� �� ��� � + 3 �� ���� ����� ���� ������ �� ���� ������ ������ �� �� ��

? �� �� �� �� ���� ���� ��� �� �� ���� ���� �� ���M�� �� �� �� , �� �� �� �� ��� �� �� ���� ���� �����M�� 5 ��� ���� �� �M ��� ���
5 �� �� ������� � ���� ���� ����� �� ������ ���� ,� + 3 �� ���� ����� ���� ������ ��

8 = 5 + 3
� �� �� ���� ���� �����M�� 8 �� �� �� �� ���� ���� ���  � ���

� ���� ���� ������ ������ ����� � �� �� ���� �� �� �� �� ������� ���� ��� ���� ,������� �� �� �� ����� �� �� ���   �F�� ����
�� ��� ����234789�
�� �������6781112134 + �

 4 + � : ���� ���� ����� � �� �� ���� �� �� �� �� �������  4 �� �� ����  : ������ ����� � �� �� ���� �� �� �� �� �������
�� ���: �� �� ���

�� ��� ����8910111315�
�� �������678911132 − �

2 - �  : ���� ���� ����� � �� �� ���� �� �� �� �� �������  2 ��I�  : ������ ����� � �� �� ���� �� �� �� �� �������

124

ملاحظات مهمّة للمعلّم عند تنفيذ النشاطأنشطة متنوّعة

نشاط التعلّم: يدرك المتعلّمون، بعد قراءة المسألة، أنّه 
بإمكانهم استبدال العدد المجهول بأحد الأحرف ويُسمّى 

 هذا الحرف »متغيّرًا«، وبالتالي يمكنهم أن يكتبوا 3 + 
ا. في صورة 3 + س ويُسمّى هذا التعبير تعبيرًا جبريًّ

اشِرح لهم أنّه إذا أعطى عبد الله 5 بطاقات تذكارية إلى 
محمّد يستبدلون س في التعبير الجبري بــ 5 ويجدون 

ناتج التعبير.
نوع النشاط: جماعي.

المهارات المكتسَبة: التعرّف على التعبير الجبري وعلى 
المتغيّر.

الموادّ المستخدَمة في النشاط: سبّورة.

أعِد طرح المسألة إذا أعطى عبد الله 6، 7، 8 
بطاقات تذكارية إلى محمّد لتتأكّد من فهمهم 

كيفية استبدال المتغيّر في التعبير الجبري.

اُربط
يلاحظ المتعلّمون أنّه للانتقال من الداخل إلى الخارج 

أي من الصفّ الأوّل إلى الصفّ الثاني يضيفون 4 
ويدركون أنّه بإمكانهم أن يكتبوا القاعدة باستخدام 

الكلمات أو باستخدام المتغيّر ن.

د للمتعلّمين على أنّ المتغيّر يمكن أن  أكِّ
يكون أيّ حرف.

لاحِظ
يكمل المتعلّمون الجدول باستخدام ما تعلّموه في فقرة 

»اُربط«، ثمّ يكتبون القاعدة باستخدام الكلمات والمتغيّر.

دْ من إجابات المتعلّمين. تأكَّ
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تم تــحــميل الــمـــلف من 
موقع مدرستي الكويتية

ننصح بأفضل مذكرة 
مــذكرات الـــــــنـــــجــــاح 

حمل تطبيق مدرستي الكويتية 
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�� �� ����
���� ��������� �� �� ���� ���� �� �� ��� ��������� �� �� �� ��  1

������
 � �� 22 ���� �� ��� − 22

� �� �� � �����M �� 22 �� �� ������ × 22
� ���� 22 �� �� �� ���� + 22

22 − �

:���M�� ����� �� �� ������� � �� �� ���� �� �� �� �� �� ����� �� �� ���   2
�4 − �
95

128
1511
1915

 � �7 + �
512
815

1017
1219

 �� �8 × �
00
216
432
648

 � �3 ÷ �
93

155
186
217

 �

:���� � �� �� �� ���� �� ���� ����� �� ���� ����� ���� ������ ���� ����  3
 ���� ���� ���� ��� ��� �� �� ���� � ���� ����� ���� ������ ��� ���� ���� �� �� �� ���� � �� �� �� ����� ���� �� �� �� ���� ��� 3 �� �� �� �� �� ���� ����   �  

� + 3 ? �� �� �� ���� �� �����
10 − � ?����������� ���������� ���� �� �� ���� ,���� �� ��� 10 ���� ���� ���� , ������ �� ����� ���������� �� �� ��� � ������ ����� �� ��� ��  �

9 = �  �� ���� �� ����������� � �� ���� ����� ������ ������ �� �� �� ���� �� ���� �� ����� �� ������� �� �� ���   4
34   25 + � �36   � × 4 �18   � + � ��41   � − 50 �

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� ��   ��
���� ���� �� ��?    5

? ��������M�� �� �� �� �� �� �� �� � �����I � ���� �� �� �� �� �� �� �� �� ���� ������ ��������M�� �� �� ���� �� 3
� ×  3  �3 + �  �3 ÷ �  ��3 − �  �

125

ملاحظات مهمّة للمعلّم عند تنفيذ التمرينتمرّن

التمرين )1(
يصل المتعلّمون القاعدة المكتوبة في )أ( باستخدام 

الكلمات بالقاعدة المناسِبة باستخدام المتغيّر في )ب(.

ر المتعلّمين بأنّ كلمة »مجموع« تدلّ على  ذكِّ
د  الجمع وكلمة »أقلّ« تدلّ على الطرح، وشدِّ

على الفرق بين العبارتين.

التمرين )2(
يكمل المتعلّمون الجداول باستخدام القاعدة المعطاة 

في الصفّ الأوّل، العمود الثاني من كلّ جدول.

دْ من إجابات المتعلّمين. تأكَّ

التمرين )3(
يكتب المتعلّمون التعبير الجبري المناسِب لكلّ مسألة 

معطاة بعد أن يحدّدوا العملية الحسابية المناسِبة.

الِفت انتباه المتعلّمين إلى الحرف »و«  في 
)أ(  وكلمة »الباقية« في )ب( تساعدهم على 

اختيار العملية عند كتابة التعبير الجبري.

التمرين )4(
يستبدل المتعلّمون المتغيّر  ع  بــ 9 في كلّ تعبير جبري 

لإيجاد القيمة العددية لكلّ منها.

أعِد طرح السؤال نفسه باستبدال  ع  بــ 5
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مراجعة الوحدة الخام�سة الدر�س

14-5

�� �� ������� �� �� �� ����� �� �� ���� �� �� �� ����
14-5

: ��������� �� �� ���  1    : �� ���
9 000 = 2 ÷ 18 000  �70 = 500 ÷ 35 000  �5 = 6 000 ÷ 30 000  ��

7٫43 = 10 ÷ 74�3  �0٫905 = 100 ÷ 90�5  ��0٫000164 = 1 000 ÷ 0�164  �

� ��������� �� �� ��   2
300 = 2 ÷ 600  ≈ 2 ÷ 612  �700 = 5 ÷ 3 500  ≈ 5 ÷ 3 621  �

8 = 60 ÷ 480  ≈ 63 ÷ 485 ��20 = 90 ÷ 1 800 ≈ 89 ÷ 1 706 �

� ���M�� ����� �� �� ������� � �� �� ���� �� �� �� �� �� ����� �� �� ���  3
�6 − �
71

104
60

137

  ��9 ÷ �
455
91

728
364

  ��7 × �
214
749
00
856

  ��

� ��������� �� �� ���  4
25 10 × 1�9 + 6  �81  9 × �0�3 − 6�3� ÷ 54  �

126

� �� �������� �� �� �� �� � �� �� ���� �� �� ���� �� ���� ������ �� ��� �� ���� ����� �� �� ���  5
18

2 × 9
2 × 3 × 3

  �

3 , 2 ��18 ����� ������ �������

32
8  ×  4

2 × 4  × 4
2 × 2 × 2 × 2 × 2

  �

2 �� 32 ����� ������ �������

90
10   × 9

5 × 2 × 3 × 3

  ��

2 ,3 , 5 �� 90 ����� ������ �������

� ��������� �� �� ���  6
1 � 4 1 4
2 8 2 9

8 -
0 2

2 -
0 9

8 -
1

  �0 � 5 4
4 2 1 6

2 0 -
1 6
1 6 -
0 0

  �11 � 8 2
23 1 8 9 7

1 8 4 -
5 7
4 6 -
1 1

  ��

 1 0 ٫ 5
3 3 1 ٫ 5

3 -
0 1

0 -
1 5
1 5 -
0 0

  � 0 ٫ 7 2 4
7 5 ٫ 0 6 8

4 9 -
1 6
1 4 -

2 8
2 8 -
0 0

  �� 1 1 8 ٫ 5
5 5 9 2 ٫ 5

5 -
0 9

5 -
4 2
4 0 -
0 2 5

2 5 -
0 0

  �

, ���� ������ �� ����� ������ �� �� �� �� ������ �� ������ ������ �� 207�6 �� �� ��� �� �� �� ������ �� �� �� ��� �� �� ������ 3 ���� ���� �� �� �� ��   7
? �� ���� �� �� ���� �� �� �� �� �� � ������ �� �� ����������� �������� ��� ������ ����

� ������ 69٫2 = 3 ÷ 207٫6

127
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14-5

�� �� ������� �� �� �� ����� �� �� ���� �� �� �� ����
14-5

: ��������� �� �� ���  1    : �� ���
9 000 = 2 ÷ 18 000  �70 = 500 ÷ 35 000  �5 = 6 000 ÷ 30 000  ��

7٫43 = 10 ÷ 74�3  �0٫905 = 100 ÷ 90�5  ��0٫000164 = 1 000 ÷ 0�164  �

� ��������� �� �� ��   2
300 = 2 ÷ 600  ≈ 2 ÷ 612  �700 = 5 ÷ 3 500  ≈ 5 ÷ 3 621  �

8 = 60 ÷ 480  ≈ 63 ÷ 485 ��20 = 90 ÷ 1 800 ≈ 89 ÷ 1 706 �

� ���M�� ����� �� �� ������� � �� �� ���� �� �� �� �� �� ����� �� �� ���  3
�6 − �
71

104
60

137

  ��9 ÷ �
455
91

728
364

  ��7 × �
214
749
00
856

  ��

� ��������� �� �� ���  4
25 10 × 1�9 + 6  �81  9 × �0�3 − 6�3� ÷ 54  �

126

� �� �������� �� �� �� �� � �� �� ���� �� �� ���� �� ���� ������ �� ��� �� ���� ����� �� �� ���  5
18

2 × 9
2 × 3 × 3

  �

3 , 2 ��18 ����� ������ �������

32
8  ×  4

2 × 4  × 4
2 × 2 × 2 × 2 × 2

  �

2 �� 32 ����� ������ �������

90
10   × 9

5 × 2 × 3 × 3

  ��

2 ,3 , 5 �� 90 ����� ������ �������

� ��������� �� �� ���  6
1 � 4 1 4
2 8 2 9

8 -
0 2

2 -
0 9

8 -
1

  �0 � 5 4
4 2 1 6

2 0 -
1 6
1 6 -
0 0

  �11 � 8 2
23 1 8 9 7

1 8 4 -
5 7
4 6 -
1 1

  ��

 1 0 ٫ 5
3 3 1 ٫ 5

3 -
0 1

0 -
1 5
1 5 -
0 0

  � 0 ٫ 7 2 4
7 5 ٫ 0 6 8

4 9 -
1 6
1 4 -

2 8
2 8 -
0 0

  �� 1 1 8 ٫ 5
5 5 9 2 ٫ 5

5 -
0 9

5 -
4 2
4 0 -
0 2 5

2 5 -
0 0

  �

, ���� ������ �� ����� ������ �� �� �� �� ������ �� ������ ������ �� 207�6 �� �� ��� �� �� �� ������ �� �� �� ��� �� �� ������ 3 ���� ���� �� �� �� ��   7
? �� ���� �� �� ���� �� �� �� �� �� � ������ �� �� ����������� �������� ��� ������ ����

� ������ 69٫2 = 3 ÷ 207٫6
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:�������
����M �� �� ��������� ������ ��� �  ���� �� �� , �� ���� �� �� ��������� ������ ��� �  ���� �� �4−1� ��������� ��

900 = 30 ÷ 27 000  1�  �
5 400 = 1 000 ÷ 5�4  2�  �

3 ,2 ,1 �� �� 6 �� �� ������ ������ �� ��� �� ���� �����  3�  �
19 ÷ 4 352 ������ �� �� ���� ��� 18 ÷ 4 352  ������  4�  �

� �� ���� ���� �� ���� ��� �� �� ��� ���� �� �� ���� �� ������ ���� �� �9−5� ��������� ��
�� �� �� �� �� ����� ���� �� �� 705 �� �� �����  5

2  �3  �6 ��10  �

������ 4 = � �� ���� �� 11 + � �� ����  6
15  �44  �7  ��114  �

?7 �� ��  �� �� �� �� �� �� ���� ���� ��  ���� �� �� ���� ����� ���� �� �� ���� ���� ��� ��  7
 �� �� ��  � 6  �7  �� 8  �

:�� ��� ������ ���� �� ���� �� �� �6 ���� �� � �����M �� �� �� �� ���  8
� − 6  �6 + �  �� × 6  ��6 − �  �

�� �� ��������� �� �� ����� ��� �� 0٫17 =  ÷ 17  9
1  �10  �100  ��1 000  �
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